
CHEMISTRY

JEE (MAIN AND ADVANCED) CHEMISTRY

VA GROUP ELEMENTS

PROBLEMS

1. Nitroeng is chemically inert. Why?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jYZel3RdGB81


2. The tendency to exhibit  oxidation state by a

group VA element decreases down. Why? 

Watch Video Solution

−3

3. Write the following for a white phosphorus molecule:

(a) oxidation state of P, (b) valency of P, (c) total number

of bonds and (d) bond order. 

Watch Video Solution

4. White phosphorus is very reactive, but not the red

one. Why? 

https://dl.doubtnut.com/l/_kkrmUfrKw1N5
https://dl.doubtnut.com/l/_YAYYkutXyERZ
https://dl.doubtnut.com/l/_ja6VjPvWPwVo


Watch Video Solution

5. Nitrogen forms a simple diatomic molecule but other

elements of same group do not form. Explain.

Watch Video Solution

6. Maximum covalency of nitrogen is four. Explain. 

Watch Video Solution

7. What happens when barium azide is heated ?

Watch Video Solution

https://dl.doubtnut.com/l/_ja6VjPvWPwVo
https://dl.doubtnut.com/l/_bTs5Svv8LfzB
https://dl.doubtnut.com/l/_KO3GXpqnXqiJ
https://dl.doubtnut.com/l/_7KmaPAtSb2rQ


8. Phosphorus can expand its valency. Why? 

Watch Video Solution

9. Both  and  are Lewis bases, but basic

strength of  is less than that of . Explain. 

Watch Video Solution

PH3 NH3

PH3 NH3

10. What is the covalency of 'N'in nitrogen pentoxide ? 

Watch Video Solution

https://dl.doubtnut.com/l/_7KmaPAtSb2rQ
https://dl.doubtnut.com/l/_5DBhzC1PmDSt
https://dl.doubtnut.com/l/_Ht1id2e4u4fl
https://dl.doubtnut.com/l/_YvOXhE0D2Q7P
https://dl.doubtnut.com/l/_bMB6xY0IIisT


11. Both NO and  have odd number of electrons.

NO is colourless, but  is coloured. Why?

Watch Video Solution

NO2

NO2

12. The magnetic properties of  are

di�erent. Why?

Watch Video Solution

NO2 and N2O4

13.  is less stable. Why? 

Watch Video Solution

PCI5

https://dl.doubtnut.com/l/_bMB6xY0IIisT
https://dl.doubtnut.com/l/_7DjPCUj7geJj
https://dl.doubtnut.com/l/_HXgjdjtvFw2q
https://dl.doubtnut.com/l/_lGY0yS4BoJdI


14.  is covalent. It fumes in moisture and its

aqueous solution is electrical conductor. Why? 

Watch Video Solution

PCl3

15. What happens when phosphine is absorbed in

mercuric chloride solution ? 

Watch Video Solution

16. Pentahalides of phosphorus are known, but not

pentahydride. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_lGY0yS4BoJdI
https://dl.doubtnut.com/l/_e8gwSlmkBPVt
https://dl.doubtnut.com/l/_WRssRQfpvqdX


17. Mention to which oxyacids  and 

are anhydrides?

Watch Video Solution

N2O, N2O4 N2O5

18. What is the basicity of orthophosphoric acid ? Write

the types of salts formed by it. 

Watch Video Solution

19. Based on the structures how is the reduction ability

of  accounted for?

Watch Video Solution

H3PO2 or H3PO3

https://dl.doubtnut.com/l/_lpueoCMuzWmN
https://dl.doubtnut.com/l/_FUj6HJ9YfGwl
https://dl.doubtnut.com/l/_Dpaorutg7COa


20. How is tautomerism di�erent from resonance ?

Watch Video Solution

21. Ammonia cannot be dried over anhydrous calcium

chloride. Why? 

Watch Video Solution

22. Coal is a potential source for ammonia. Comment.

Watch Video Solution

https://dl.doubtnut.com/l/_Dpaorutg7COa
https://dl.doubtnut.com/l/_Ro3QSBmYYPOU
https://dl.doubtnut.com/l/_TjezSjWI4gOB
https://dl.doubtnut.com/l/_2Fgvbhpeskw0
https://dl.doubtnut.com/l/_HwxvpIiIiWyV


SUBJECTIVE EXERCISE - 1(Long answer questions)

23. ,  

  

'Y' is an amphoteric substance. When aqueous 'Z' is

treated with  solution again 'Y' is formed. What

are X, Y and Z? 

Watch Video Solution

Al2O3 + N2 + C → X + CO

X + H2O → Y + Z

AICI3

24. What is aqua-regia ? How it works to dissolve noble

metals ?

Watch Video Solution

https://dl.doubtnut.com/l/_HwxvpIiIiWyV
https://dl.doubtnut.com/l/_bAwfI6ABTYMc


SUBJECTIVE EXERCISE - 1(Short answer questions)

1. Discuss the general characteristics of nitrogen family

and justify their position in the same group. 

Watch Video Solution

1. Discuss on the electronic con�guration of elements

of group 15.

Watch Video Solution

https://dl.doubtnut.com/l/_bATHbfhAWNEa
https://dl.doubtnut.com/l/_Yq4Q1VkkHV3k


2. Mention the occurrence of nitrogen and phosphorus

in the earth's crust. 

Watch Video Solution

3. Write the trends in atomic radius, metallic nature

and ionisation potential of group VA elements. 

Watch Video Solution

4. Mention the oxidation numbers exhibited by

nitrogen. Give an example for each. 

Watch Video Solution

https://dl.doubtnut.com/l/_WCd5FqLAlCaU
https://dl.doubtnut.com/l/_pY1HlY0ZCAfU
https://dl.doubtnut.com/l/_8jONW5pA25hF


SUBJECTIVE EXERCISE - 1(Very short answer questions)

5. Write on the allotropy of group VA elements. 

Watch Video Solution

6. De�ne catenation. How it vary it nitrogen family. 

Watch Video Solution

1. Write the names and the atomic number of VA group

elements

https://dl.doubtnut.com/l/_8jONW5pA25hF
https://dl.doubtnut.com/l/_sErzLvXdzzFu
https://dl.doubtnut.com/l/_2vd3VDjvwmoQ
https://dl.doubtnut.com/l/_6Z84Nc5W2IWr


Watch Video Solution

2. Give the electronic con�gurations of phosphorus and

Arsenic.

Watch Video Solution

3. Write the composition of "Phosphate rock''. 

Watch Video Solution

4. Write all the oxidation states of nitrogen. 

Watch Video Solution

https://dl.doubtnut.com/l/_6Z84Nc5W2IWr
https://dl.doubtnut.com/l/_r058aGJsuyiJ
https://dl.doubtnut.com/l/_UiDoD4DQxJGp
https://dl.doubtnut.com/l/_Dh63kuqtyQZC


SUBJECTIVE EXERCISE - 2(Long answer questions)

5. Give any two examples to show the negative

oxidation state of nitrogen. 

Watch Video Solution

6. Give reasons for the chemical inactivity of nitrogen at

ordinary conditions.

Watch Video Solution

https://dl.doubtnut.com/l/_Dh63kuqtyQZC
https://dl.doubtnut.com/l/_BcNfUyN8HVoA
https://dl.doubtnut.com/l/_paHqh85XqjtJ


SUBJECTIVE EXERCISE - 2(Short answer questions)

1. Write about the general characterstics of hydrides of

VA group elements. 

Watch Video Solution

2. Discuss the structures of oxides of nitrogen.

Watch Video Solution

1. Discuss the basic strength and stability of hydrides of

group VA.

https://dl.doubtnut.com/l/_3pDCA654hG7Z
https://dl.doubtnut.com/l/_2cL8QG835iSD
https://dl.doubtnut.com/l/_pMwoulaZecP7


Watch Video Solution

2. Write di�erent oxides of nitrogen. Mention the

oxidation states of nitrogen in these oxides.

Watch Video Solution

3. Write the structures of the oxides :

.

Watch Video Solution

N2O3, N2O5, P4O6 and P4O10

https://dl.doubtnut.com/l/_pMwoulaZecP7
https://dl.doubtnut.com/l/_fvXsRmFk39kP
https://dl.doubtnut.com/l/_AAojcPA87xDj


SUBJECTIVE EXERCISE - 2(Very short answer questions)

4. Write the hydrolysis reactions of the halides :

Watch Video Solution

NCl3, PCl3, PCl5, P4O6 and P4O10

1. What is the stability order of the VA group hydrides ?

Explain the gradation in the reducing property of these

hydrides. 

Watch Video Solution

https://dl.doubtnut.com/l/_5odZEWYYIYhP
https://dl.doubtnut.com/l/_VQkwNK30kdOz


2. Which of the two oxides  is a better

dehydrating agent. Give an example for the same

reaction. 

Watch Video Solution

N2O5 and P2O5

3. Why is 'NO' paramagnetic in nature ? When does it

become diamagnetic ? 

Watch Video Solution

4. How is dinitrogen tetroxide formed ? Give equation. 

Watch Video Solution

https://dl.doubtnut.com/l/_zDm3k5J4hR30
https://dl.doubtnut.com/l/_xMWUj1yWexaA
https://dl.doubtnut.com/l/_aNaOfCoqmqoV


5. A colour less oxide of nitrogen in air becomes brown.

Why? 

Watch Video Solution

6. How many oxygens surround a phosphorous is

phosphorous pentoxide ? 

Watch Video Solution

7. Write the equation for the hydrolysis of . How

does it di�er from the hydrolysis of ? 

W h Vid S l i

NCI2

PCI5

https://dl.doubtnut.com/l/_aNaOfCoqmqoV
https://dl.doubtnut.com/l/_P0HzJJXGiIzg
https://dl.doubtnut.com/l/_6WuEJGniUKr2
https://dl.doubtnut.com/l/_4pM44YW1fgLB


Watch Video Solution

8. What are the orbitals of P that are involved in the

formation of  ?

Watch Video Solution

PCI5

9. Can  be prepared by direct union of the

elements ? Why ? or Why not? 

Watch Video Solution

NCI5

10. Which oxides of nitrogen are neutral oxides ?

Watch Video Solution

https://dl.doubtnut.com/l/_4pM44YW1fgLB
https://dl.doubtnut.com/l/_gol3KIDGrgsc
https://dl.doubtnut.com/l/_FRTj8Phs9kbc
https://dl.doubtnut.com/l/_iN34BqLiqk6V


SUBJECTIVE EXERCISE - 3(Long answer questions)

SUBJECTIVE EXERCISE - 3(Short answer questions)

Watch Video Solution

1. Write an essay on the structural ascepts of

phosphorous series of acids. 

Watch Video Solution

1. Write on the strcutural aspects of  and 

.

Watch Video Solution

(HPO3)3

(HPO3)

https://dl.doubtnut.com/l/_iN34BqLiqk6V
https://dl.doubtnut.com/l/_9UG1aBCVBRyL
https://dl.doubtnut.com/l/_ftJijhc8PGzt


2. Mention the oxyacids of phosphorus and the

oxidation states of phosphorus in them. 

Watch Video Solution

3. Write the di�erent types of salts formed by

orthophosphoric acid.

Watch Video Solution

4. Which of the acids of phosphorous does not show

monomeric state but cyclic structure ? 

https://dl.doubtnut.com/l/_ftJijhc8PGzt
https://dl.doubtnut.com/l/_olFH8vcnuzGT
https://dl.doubtnut.com/l/_lO0YVhoxqL9W
https://dl.doubtnut.com/l/_LlzdMJYJFwQE


SUBJECTIVE EXERCISE - 4(Long answer questions)

Watch Video Solution

5. Write the structure of .

Watch Video Solution

HNO3

6. How do you prepare hypophosphorous acid in the

laboratory?

Watch Video Solution

https://dl.doubtnut.com/l/_LlzdMJYJFwQE
https://dl.doubtnut.com/l/_wE704oRKrfFu
https://dl.doubtnut.com/l/_G4F2wha4CeCT


1. Describe the manufacture of  by Haber's

method. Give a labelled diagram.

Watch Video Solution

NH3

2. Discuss the principle of preparing nitric acid in

Ostwald's process. Give the necessary equations. 

Watch Video Solution

3. Write the important uses of (a) ammonia and (b)

nitric acid. 

Watch Video Solution

https://dl.doubtnut.com/l/_2VnK6Tss2GmB
https://dl.doubtnut.com/l/_pPASfGwDUvHm
https://dl.doubtnut.com/l/_Tuyhu5vLrneG


SUBJECTIVE EXERCISE - 4(Short answer questions)

1. Write on the conditions of Haber's ammonia

synthesis. 

Watch Video Solution

2. A colourless crystalline chloride, when warmed with

solid NaOH, gave ammonia gas. Identify the salt.

Watch Video Solution

https://dl.doubtnut.com/l/_Tuyhu5vLrneG
https://dl.doubtnut.com/l/_OrxGFNLQSwE1
https://dl.doubtnut.com/l/_JLcGwvu2uSPp


3. Nitric acid can not be concentrated beyond  by

direct distillation ? Why? 

Watch Video Solution

68 %

4. How is ammonia useful in qualitative analysis ? 

Watch Video Solution

5. Suggest the action of  on non-metals. 

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_YNBP3MPjtWJw
https://dl.doubtnut.com/l/_Z3NyN3J1qHgk
https://dl.doubtnut.com/l/_40LFtl7MVT88


SUBJECTIVE EXERCISE - 4(Very short answer questions)

6. What is brown ring test ? 

Watch Video Solution

1.  is strong dehydrating agent. Why is it not used

to dry  ? 

Watch Video Solution

P2O5

NH3

2. What are the experimental conditions used to

manufacture synthetic ?NH3

https://dl.doubtnut.com/l/_aZKd4Zjlfacf
https://dl.doubtnut.com/l/_QMaWafDG7MlQ
https://dl.doubtnut.com/l/_BwzyiR2RKG7i


Watch Video Solution

3. What drying agent is suitable to dry  ? 

Watch Video Solution

NH3

4. How do you convert  into  ? Give

equation(s). 

Watch Video Solution

NH4NO3 NH3

5. How ammonia dissolve a zinc salt ? 

Watch Video Solution

https://dl.doubtnut.com/l/_BwzyiR2RKG7i
https://dl.doubtnut.com/l/_aayAZFs9EEo9
https://dl.doubtnut.com/l/_iVqLcspItGPf
https://dl.doubtnut.com/l/_JO5j3a0graiq


6. Write two examples of metals reacting with nitric

acid 

Watch Video Solution

7. Write the composition of aqua-regia. 

Watch Video Solution

8. Aluminium is passive to concentrated nitric acid.

Why?

Watch Video Solution

https://dl.doubtnut.com/l/_JO5j3a0graiq
https://dl.doubtnut.com/l/_APlIzk6HoUPo
https://dl.doubtnut.com/l/_R1IMuxVmsz5b
https://dl.doubtnut.com/l/_3EM0fUQuD9j6


OBJECTIVE EXERCISE - 1 (GENERAL)

1. The valence shell electronic con�guration of VA group

elements is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ns2np2

ns2np1

ns2np3

ns2np5

https://dl.doubtnut.com/l/_3EM0fUQuD9j6
https://dl.doubtnut.com/l/_Z1jHrzyjDplQ
https://dl.doubtnut.com/l/_aEHtYQaDBzjN


2. The most abundant element in the earth's

atmosphere is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

O2

N2

F2

Ar

https://dl.doubtnut.com/l/_aEHtYQaDBzjN


3.   

The correct match is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

LIST - 1 LIST - 2

A) Phosphorite 1) KNO3

B) Indian salt petre 2) Ba(NO3)
2

C) Fluoroapatite 3) NaNO3

D) Chile salt petre 4) 3cA3Ca(PO4)
2
. CaF2

5) Ca3(PO4)
2

A B C D

1 2 3 5

A B C D

2 4 3 1

A B C D

4 3 5 2

A B C D

5 1 4 3

https://dl.doubtnut.com/l/_VoJRRtB2amVJ
https://dl.doubtnut.com/l/_6xjZgtPDLYI3


4. The most abundant VA group element in the earth's

crust is 

A. Nitrogen

B. Phosphorous

C. Arsenic

D. Bismuth

Answer: B

Watch Video Solution

5. The following can exist as a diatomic molecule

https://dl.doubtnut.com/l/_6xjZgtPDLYI3
https://dl.doubtnut.com/l/_M2hgCe0bJzrj


A. N

B. P

C. As

D. Bi

Answer: A

Watch Video Solution

6. The following VA group element occurs even in free

state

A. Bi

B. As

https://dl.doubtnut.com/l/_M2hgCe0bJzrj
https://dl.doubtnut.com/l/_TeB7H0XIY7v5


C. Sb

D. N

Answer: D

Watch Video Solution

7. The VA group element having more number of

allotropes is

A. N

B. P

C. Bi

D. Sb

https://dl.doubtnut.com/l/_TeB7H0XIY7v5
https://dl.doubtnut.com/l/_xH8xZ6RKZkhe


Answer: B

Watch Video Solution

8. The following element doesn't have allotropes

A. N

B. P

C. As

D. S

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_xH8xZ6RKZkhe
https://dl.doubtnut.com/l/_8yV8Np4tql3p


9. Most reactive allotropic form of Phosphorous is

A. Yellow

B. Red

C. Black

D. Scarlet

Answer: A

Watch Video Solution

10. In nitrogen molecule, the two atoms of nitrogen are

joined by

https://dl.doubtnut.com/l/_QfUeE4xu4ZEZ
https://dl.doubtnut.com/l/_kl8X3X7EiZSB


A. One sigma bond and one pi bond

B. Two sigma bonds and one pi bond

C. One sigma bond and two pi bonds

D. Three sigma bonds

Answer: C

Watch Video Solution

11. The chemical inertness of nitrogen is due to

A. half-�lled '2p' orbitals of Nitrogen

B. high bond dissociation energy

C. completely �lled d-orbitals

https://dl.doubtnut.com/l/_kl8X3X7EiZSB
https://dl.doubtnut.com/l/_cvNLPR3B836b


D. its gaseous nature 

Answer: B

Watch Video Solution

12. The maximum covalency of nitrogen is

A. 2

B. 3

C. 4

D. 5

Answer: C

https://dl.doubtnut.com/l/_cvNLPR3B836b
https://dl.doubtnut.com/l/_6xwvx1DHZRwK


Watch Video Solution

13. The VA group element which exhibits wide range of

oxidation states is 

A. P

B. As

C. Bi

D. N

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_6xwvx1DHZRwK
https://dl.doubtnut.com/l/_NIC3wSGKO4If


14. The oxidation state of nitrogen in hydrazine is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−1

−2

+1

+2

15. The stable oxidation state of Bismuth is

A. +1

https://dl.doubtnut.com/l/_kF5QXFd9blQQ
https://dl.doubtnut.com/l/_PhX9gIXFoleI


B. 

C. 

D. 

Answer: D

Watch Video Solution

+5

−3

+3

16.   

The correct match is

A. 

Substance Oxidation state of N

A) HNO3 1) −3, + 5

B) NH4NO3 2) −1/3

C) N3H 3) +5

D) H3PO3 d) +3

5) +1/3

A B C D

3 1 2 4

https://dl.doubtnut.com/l/_PhX9gIXFoleI
https://dl.doubtnut.com/l/_OeX4lXEepoJY


B. 

C. 

D. 

Answer: A

Watch Video Solution

A B C D

5 2 3 4

A B C D

1 2 3 4

A B C D

4 3 2 5

17. The atomicity of white Phosphorous is ‘x' and the

 bond angle in the molecule is 'y'. What are

'x' and 'y' ?

A. 

B. 

P − P̂ − P

x = 4, y = 90∘

x = 4, y = 60∘

https://dl.doubtnut.com/l/_OeX4lXEepoJY
https://dl.doubtnut.com/l/_LwtXT8MWg4GP


OBJECTIVE EXERCISE - 1 (HYDRIDES)

C. 

D. 

Answer: B

Watch Video Solution

x = 3, y = 120∘

x = 2, y = 180∘

1. Acidic hydride of nitrogen is

A. 

B. 

C. 

NH3

N2H4

N2H2

https://dl.doubtnut.com/l/_LwtXT8MWg4GP
https://dl.doubtnut.com/l/_yNcfbEZ90gJt


D. 

Answer: D

Watch Video Solution

N3H

2. In Ostwald's process, nitric oxide is prepared by the

oxidation of 

A. 

B. 

C. Air

D. Nitrogen oxide

NH3

N2

https://dl.doubtnut.com/l/_yNcfbEZ90gJt
https://dl.doubtnut.com/l/_ZOCg2Ktxw16M


Answer: A

Watch Video Solution

3. Thermally more stable hydride is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

PH3

AsH3

BiH33

https://dl.doubtnut.com/l/_ZOCg2Ktxw16M
https://dl.doubtnut.com/l/_ZtlKLJ8RGmzz


4. Which one of the following statements is correct

with respect to basic character ? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PH3 > P (CH3)3

PH3 = NH3

PH3 > NH3

P (CH3)3 > PH3

5. The hydride with more basic nature is

https://dl.doubtnut.com/l/_U068ywIBBsrm
https://dl.doubtnut.com/l/_RGk2qnq5O2uW


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

PH3

NH3

BiH3

AsH3

6. A stronger reducing agent is

A. 

B. 

C. 

NH3

PH3

SbH3

https://dl.doubtnut.com/l/_RGk2qnq5O2uW
https://dl.doubtnut.com/l/_OgSpJk1OjIj6


D. 

Answer: D

Watch Video Solution

BiH3

7. The shape and bond angle of ammonia are

A. Tetahedral and 

B. Tetahedral and 

C. Pyramidal and 

D. Pyramidal and 109^(@)28^(1)`

Answer: C

109∘ 281

107∘ 481

107∘ 181

https://dl.doubtnut.com/l/_OgSpJk1OjIj6
https://dl.doubtnut.com/l/_oEdjigy3hiXg


Watch Video Solution

8. More volatile hydride is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

PH3

NH3

BiH3

AsH3

https://dl.doubtnut.com/l/_oEdjigy3hiXg
https://dl.doubtnut.com/l/_xaEgK5vX0RNx


9. VA group hydrides are Lewis bases due to the

presence of

A. unpaired electrons

B. high electron a�nity values

C. low electronegativity

D. lone pair of electrons

Answer: D

Watch Video Solution

10. The correct order of reducing abilities of VA group

hydrides is 

https://dl.doubtnut.com/l/_aV7lkfogqo9g
https://dl.doubtnut.com/l/_jbWnM5Yya8Mx


A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

NH3 < PH3 < AsH3 < SbH4 < BiH3

NH3 > PH3 > AsH3 > SbH4 > BiH3

NH3 < PH3 > AsH3 > SbH3 > BiH3

SbH3 > BiH3 > AsH3 > NH3 > PH3

11. Which is in the decreasing order of boiling points of

hydrides? 

A. 

B. 

NH3 > PH3 > AsH3 > SbH3

SbH3 > AsH3 > PH3 > NH3

https://dl.doubtnut.com/l/_jbWnM5Yya8Mx
https://dl.doubtnut.com/l/_UbLZ8o5dm7wR


OBJECTIVE EXERCISE - 1 (OXIDES)

C. 

D. 

Answer: D

Watch Video Solution

PH3 > NH3 > AsH3 > SbH3

SbH3 > NH3 > AsH3 > PH3

1. Chemical formula of laughing gas is

A. 

B. 

C. 

N2O

NO

N2O3

https://dl.doubtnut.com/l/_UbLZ8o5dm7wR
https://dl.doubtnut.com/l/_qaEyi4XmqYYm


D. 

Answer: A

Watch Video Solution

N2O5

2. Ammonium nitrate on heating gives

A. 

B. 

C. 

D. 

Answer: C

NO

N2

N2O

N2O4

https://dl.doubtnut.com/l/_qaEyi4XmqYYm
https://dl.doubtnut.com/l/_0jaEFJSzO1vu


Watch Video Solution

3. Which of the following exists as dimer

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2O5

N2O

P2O3

Bi2O3

4. The basic oxide among the following is

https://dl.doubtnut.com/l/_0jaEFJSzO1vu
https://dl.doubtnut.com/l/_42gvfdacKwSV
https://dl.doubtnut.com/l/_sCEDKl5VNDXW


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

N2O3

As2O3

Sb2O3

Bi2O3

5. Paramagnetic oxide is

A. 

B. 

C. 

N2O

N2O3

NO

https://dl.doubtnut.com/l/_sCEDKl5VNDXW
https://dl.doubtnut.com/l/_GNfXboovEUX1


D. 

Answer: C

Watch Video Solution

N2O4

6. The oxide of nitrogen existing in the solid state at

room temperature is

A. 

B. 

C. 

D. 

NO

NO2

N2O3

N2O5

https://dl.doubtnut.com/l/_GNfXboovEUX1
https://dl.doubtnut.com/l/_AACO0BgDrxLb


Answer: D

Watch Video Solution

7. The neutral oxide of nitrogen is 

A. 

B. 

C. 

D. Both 1 and 2

Answer: D

Watch Video Solution

NO

N2O

NO2

https://dl.doubtnut.com/l/_AACO0BgDrxLb
https://dl.doubtnut.com/l/_9dCxGmbsjVuG


8. The sesquioxide of nitrogen is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2O

NO

N2O3

N2O5

9. Which is a mixed anhydride?

A. NO2

https://dl.doubtnut.com/l/_nP3n0d5mRvEt
https://dl.doubtnut.com/l/_0mhnsXPXJV99


B. 

C. 

D. 

Answer: A

Watch Video Solution

N2O3

N2O5

N2O

10. Formula of metaphosphoric acid is

A. 

B. 

C. 

D. 

H3PO4

HPO3

H4P2O6

H3PO2

https://dl.doubtnut.com/l/_0mhnsXPXJV99
https://dl.doubtnut.com/l/_99v8OL1ofqhg


Answer: B

Watch Video Solution

11. Which one of the following elements does not form

the compound .(M = element of group VA)?

A. P

B. Sb

C. As

D. Bi

Answer: D

Watch Video Solution

M4O10

https://dl.doubtnut.com/l/_99v8OL1ofqhg
https://dl.doubtnut.com/l/_UpqdcA4JlPpC


12. The number of Oxygen atoms present around

Nitrogen in  is

A. 2

B. 1

C. 3

D. 4

Answer: C

Watch Video Solution

N2O5

https://dl.doubtnut.com/l/_UpqdcA4JlPpC
https://dl.doubtnut.com/l/_B72YX1lew8iS


13.  is the anhydride of the following

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P4O6

H3PO2

H3PO3

H3PO4

H3PO5

14.  is the anhydride of the following 

A. 

P4O10

H3PO2

https://dl.doubtnut.com/l/_C2Mw4E2XlQon
https://dl.doubtnut.com/l/_Wzp5PFtoKyVa


B. 

C. 

D. 

Answer: C

Watch Video Solution

H3PO3

H3PO4

H3PO5

15. 

The correct match is

LIST - 1 LIST - 2

A) 4NH3 + 5O2 → 1) PbO + NO2 + O2

B) P4 + 3NaOH + 3H2O → 2) N2O + H2O

C) NH4NO3 → 3) N2O5 + H2O

D) Pb(NOc)2

Δ
−−→ 4) 4NO + 6H2O

5) 3NaH2PO2 + PH3

https://dl.doubtnut.com/l/_Wzp5PFtoKyVa
https://dl.doubtnut.com/l/_uu0qKxmhfs2C


OBJECTIVE EXERCISE - 1 (HALIDES)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A B C D

4 2 3 1

A B C D

1 3 2 5

A B C D

4 5 2 1

A B C D

3 4 1 5

1. Which does not form a Pentahalide?

A. P

https://dl.doubtnut.com/l/_uu0qKxmhfs2C
https://dl.doubtnut.com/l/_QOFClvxyiFLO


B. As

C. Sb

D. N

Answer: D

Watch Video Solution

2.  on hydrolysis gives

A. 

B. 

C. 

D. Both (2) and (3)

PCI3

H3PO2

H3PO3

HCl

https://dl.doubtnut.com/l/_QOFClvxyiFLO
https://dl.doubtnut.com/l/_XElHoWm6qLWA


Answer: D

Watch Video Solution

3. The shape and hybridisation of  molecule

A. Tetahedral and 

B. Pyramidal and 

C. Angular and 

D. Planar trigonal and 

Answer: B

Watch Video Solution

PCI3

sp3

sp3

sp3

sp3

https://dl.doubtnut.com/l/_XElHoWm6qLWA
https://dl.doubtnut.com/l/_lWaEoVRJHbOp


4.  on hydrolysis gives

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

PCI5

H3PO3

H3PO4

H3PO2

H3PO5

5. Which of the following is not correct?

A. Hydrolysis of  gives  and NCI3 NH3 HOCI

https://dl.doubtnut.com/l/_VDkte5wjZOpA
https://dl.doubtnut.com/l/_gcUG0rdVkGFo


OBJECTIVE EXERCISE - 1 (OXYACIDS)

B.  is less stable than 

C.  is a weak reducing agent compared to 

D. Nitric oxide in solid state exhibits dia magnetic

property Oxyacids 

Answer: B

Watch Video Solution

NH3 PH3

NH3 PH3

1. The existance of following ions have no evidence

A. H2PO
−
4

https://dl.doubtnut.com/l/_gcUG0rdVkGFo
https://dl.doubtnut.com/l/_mtxGUeNlsOFW


B. 

C. 

D. 

Answer: C

Watch Video Solution

HPO
− 2
4

PO3 −
3

PO
− 3
4

2. Salt of the following is used as a water softner

A. 

B. 

C. 

D. 

H4P2O6

H4P2O7

HPO3

HPO2

https://dl.doubtnut.com/l/_mtxGUeNlsOFW
https://dl.doubtnut.com/l/_dLtyluUHAOyW


Answer: C

Watch Video Solution

3. Covalency of phosphorus in peroxy phos phoric acid

is

A. 6

B. 5

C. 4

D. 3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dLtyluUHAOyW
https://dl.doubtnut.com/l/_xJx18ATYsBxy


4. Basicity of orthophosphoric acid is 

A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

5. A tribasic acid with peroxy bond is

https://dl.doubtnut.com/l/_xJx18ATYsBxy
https://dl.doubtnut.com/l/_cMHyblXuBNGg
https://dl.doubtnut.com/l/_UtZY6MDH79Ma


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H3PO2

H3PO3

H3PO4

H3PO5

6. The starting material used for the manufacture of

 by Ostwald process is

A. Ammonia and 

B. Ammonia

HNO3

N2O

https://dl.doubtnut.com/l/_UtZY6MDH79Ma
https://dl.doubtnut.com/l/_TCxbQvoX5YZ1


C. Air only

D. Ammonia and nitrogen

Answer: B

Watch Video Solution

7. Among the following an acidic salt is

A. 

B. 

C. 

D. 

NaH2PO2

NaH2PO3

Na2HPO3

Na3PO4

https://dl.doubtnut.com/l/_TCxbQvoX5YZ1
https://dl.doubtnut.com/l/_9mdywXbGWR9y


Answer: B

Watch Video Solution

8. Anhydride of pyrophosphoric acid is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P4O6

P4O10

P2O4

P2O3

https://dl.doubtnut.com/l/_9mdywXbGWR9y
https://dl.doubtnut.com/l/_ajen4sHLKsmM


9. Anhydride of orthophosphoric acid is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P4O6

P4O10

P2O4

P2O2

10. Oxidation state of phosphorus is least in

A. Hypophosphoric acid

https://dl.doubtnut.com/l/_yba0jei9LHIv
https://dl.doubtnut.com/l/_bXH2oUj8MFo0


B. Hypophosphorus acid

C. Metaphosphoric acid

D. Pyrophosphoric acid

Answer: B

Watch Video Solution

11. The following is a primary phosphate ion 

A. 

B. 

C. 

D. 

H2PO
2 −
4

H2PO
−
3

H2PO
−
4

PO
3 −
4

https://dl.doubtnut.com/l/_bXH2oUj8MFo0
https://dl.doubtnut.com/l/_8k1GxS71syHu


Answer: C

Watch Video Solution

12.  linkage is present in

A. Pyrophosphoric acid

B. Hypophosphoric acid

C. Peroxy phosphoric acid

D. Metaphosphoric acid

Answer: B

Watch Video Solution

P − P

https://dl.doubtnut.com/l/_8k1GxS71syHu
https://dl.doubtnut.com/l/_PSFVhg8zlPJD


OBJECTIVE EXERCISE - 1 (AMMONIA)

1. In the preparation of  by Ostwald process

ammonia is

A. reduced

B. oxidised

C. reduced and oxidised

D. hydrolysed 

Answer: B

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_HcEXZZoNGs4a


2.  on heating with NaOH liberates

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NH4CI

NaCl

NH3

HCl

NaOCl

3. Aqueous NaOH reacts with white Phospho rous to

form Phosphine and 

https://dl.doubtnut.com/l/_a2CnkTaY8zRB
https://dl.doubtnut.com/l/_0k5d6XymqZBS


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaH2PO2

P2O5

Na3PO3

P2O3

4. Ammonia gas is dried over

A. Quick lime

B. Conc 

C. 

H2SO4

P2O5

https://dl.doubtnut.com/l/_0k5d6XymqZBS
https://dl.doubtnut.com/l/_g3RBmkzEbaqY


D. 

Answer: A

Watch Video Solution

CaCl2

5. The catalyst used in the manufacture of ammonia by

Haber's process is

A. 

B. 

C. 

D. 

V2O5

Fe

Ni

Co

https://dl.doubtnut.com/l/_g3RBmkzEbaqY
https://dl.doubtnut.com/l/_Lt1qZwvC5iqF


Answer: B

Watch Video Solution

6. Which of the following compound ist not used as

fertilizer

A. Ammonium sulphate

B. Urea

C. Calcium super phosphate

D. 

Answer: D

Watch Video Solution

Ca3(PO4)2

https://dl.doubtnut.com/l/_Lt1qZwvC5iqF
https://dl.doubtnut.com/l/_vV68NTcErN4q


7. Which of the following can serve as a solvent for both

ionic and covalent compounds?

A. Liquid ammonia

B. 

C. Benzene

D. 

Answer: A

Watch Video Solution

H2O

CCl4

https://dl.doubtnut.com/l/_vV68NTcErN4q
https://dl.doubtnut.com/l/_rfSjBDxlsSWQ


8. Which of the following is used as refrigerant

A. Liquid 

B. 

C. 

D. All

Answer: D

Watch Video Solution

NH3

C2H5Cl

CCl2F2

9. Which of the following reactions yield elementary

gases like   as the byproducts ?  

I)   

N2, H2, O2

CaO + NH3 →

https://dl.doubtnut.com/l/_vJMfWvWG6d8B
https://dl.doubtnut.com/l/_KKqgNt1WnS0F


OBJECTIVE EXERCISE - 1 (NITRIC ACID)

II)   

III)   

IV)  

A. I and II only

B. II, III and IV only

C. I, II and III only

D. All of these

Answer: D

Watch Video Solution

2NH3 + 2Na
Fe

−−−−−−→
300 − 400 ∘C

8NH3 + 3Cl2 →

2Pb(NO3)2

Δ
−−→

https://dl.doubtnut.com/l/_KKqgNt1WnS0F
https://dl.doubtnut.com/l/_CJ7TzFA4o0UV


1. Catalyst in the Ostwald's process is

A. Pt

B. Fe

C. 

D. 

Answer: A

Watch Video Solution

V2O5

Ni

2. Moles of oxygen that can oxidise on mole of  to NH3

NO

https://dl.doubtnut.com/l/_CJ7TzFA4o0UV
https://dl.doubtnut.com/l/_ptdvWX9haGM9


A. 1

B. 1.25

C. 2.5

D. 5

Answer: B

Watch Video Solution

3. Which of the following is used in pyro-techniques 

A. 

B. 

C. 

NH3

HNO3

PH3

https://dl.doubtnut.com/l/_ptdvWX9haGM9
https://dl.doubtnut.com/l/_jCFX884N8Y4R


D. 

Answer: B

Watch Video Solution

H3PO4

4. Percentage of nitric acid obtained in Ostwald's

process is

A. 

B. 

C. 

D. 

61 %

68 %

74 %

82 %

https://dl.doubtnut.com/l/_jCFX884N8Y4R
https://dl.doubtnut.com/l/_pb92xy3wxz0D


Answer: B

Watch Video Solution

5. (A) :  is more reactive than .  

(R ) :  bonds are relatively weaker than 

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

D. A is false, R is true

P4 N2

P − P N ≡ N

https://dl.doubtnut.com/l/_pb92xy3wxz0D
https://dl.doubtnut.com/l/_P81xPBk7WRSM


Answer: A

Watch Video Solution

6. (A): Nitrogen can form pentahalides 

(R): Nitrogen does not possess vacant d-orbitals in the

valance shell

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

https://dl.doubtnut.com/l/_P81xPBk7WRSM
https://dl.doubtnut.com/l/_AxYzD9uECv3V


D. A is false, R is true

Answer: D

Watch Video Solution

7. (A):  are tribasic acids  

(R) :  has two replaceable H-atoms and 

has three replaceable H-atoms

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

H3PO3 and H3PO4

H3PO3 H3PO4

https://dl.doubtnut.com/l/_AxYzD9uECv3V
https://dl.doubtnut.com/l/_KBYzxBHsfBvx


C. A is true, R is false

D. A is false, R is true

Answer: D

Watch Video Solution

8. (A):  is a liquid while the other hydrides of V-A

Group elements are gases at room temp. 

(R) :  possess inter molecular hydrogen bonds in

liquid state

A. Both A & R are true, R is the correct explanation

of A

NH3

NH3

https://dl.doubtnut.com/l/_KBYzxBHsfBvx
https://dl.doubtnut.com/l/_IpWrb2zjG9bb


B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

D. A is false, R is true

Answer: D

Watch Video Solution

9. (A): Thermal stability of VA group hydrides decreases

from  to   

(R): The dissociation energy of M - H bond! increases

down the group regularly 

NH3 BiH3

https://dl.doubtnut.com/l/_IpWrb2zjG9bb
https://dl.doubtnut.com/l/_cMjBMeYiePty


A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

D. A is false, R is true

Answer: C

Watch Video Solution

10. (A):  is a stronger acid than .  

(R): There are two nitrogen-oxygen bonds in 

HNO3 HNO2

HNO3,

https://dl.doubtnut.com/l/_cMjBMeYiePty
https://dl.doubtnut.com/l/_HXAXWBkKsEJB


whereas in  there is only one such bond. 

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

HNO2

https://dl.doubtnut.com/l/_HXAXWBkKsEJB


11. (A):  and  ions are isoelectronic.  

(R): Nitrate ion is planar 

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

D. A is false, R is true

Answer: B

Watch Video Solution

NO−
3 CO− 2

3

https://dl.doubtnut.com/l/_R0mf4hpK6hcm
https://dl.doubtnut.com/l/_4qfg0XBTpvkt


12. (A):  ion is light bluish in colour.  

(R):   ion is stabilised by resonance. 

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

D. A is false, R is true

Answer: D

Watch Video Solution

NO−
3

NO−
3

https://dl.doubtnut.com/l/_4qfg0XBTpvkt
https://dl.doubtnut.com/l/_ncw7aYRGtLic


13. (A):  have similar shapes  

(R):  has two types of  bond lengths. 

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

D. A is false, R is true

Answer: D

Watch Video Solution

PF5 and IF5

PF5 P − F

https://dl.doubtnut.com/l/_ncw7aYRGtLic


14. (A): Nitrous oxide is called laughing gas. 

(R): Nitrous oxide is a linear molecule.

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

D. A is false, R is true

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xfP32u9HvN1v
https://dl.doubtnut.com/l/_r2IFrl6yblsR


15. (A): Nitrogen is unable to show a valency more than

three. 

(R): Nitrogen does not have vacant d-orbitals in its

valence shell. 

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_r2IFrl6yblsR


16. (A): Central atom usually forms three single and one

double bonds in an oxyacid of phosphorus 

(R): Phosphorus atom usually undergoes 

hybridisation in its oxyacids 

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

D. A is false, R is true

sp3

https://dl.doubtnut.com/l/_r2IFrl6yblsR
https://dl.doubtnut.com/l/_DrBClAqnRPPQ


Answer: A

Watch Video Solution

17. (A): Phosphorus is more reactive element of Group

VA 

(R):  bond is relatively stronger. 

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

N ≡ N

https://dl.doubtnut.com/l/_DrBClAqnRPPQ
https://dl.doubtnut.com/l/_kSYWfCMrs7sR


D. A is false, R is true

Answer: B

Watch Video Solution

18. (A): Orthophosphoric acid can form two acidic salts

and one normal salt 

(R): Orthophosphoric acid is a tribasic acid

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

https://dl.doubtnut.com/l/_kSYWfCMrs7sR
https://dl.doubtnut.com/l/_dqpe0iSg9Hmm


C. A is true, R is false

D. A is false, R is true

Answer: A

Watch Video Solution

19. (A) :  are known, the

pentahalides of nitrogen have not been observed 

(R ) Phosphorous has lower electronegativity than

nitrogen.

A. Both A & R are true, R is the correct explanation

of A

PF5, PCl5 and PBr3

https://dl.doubtnut.com/l/_dqpe0iSg9Hmm
https://dl.doubtnut.com/l/_NuEFW0iEpTMc


B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

D. A is false, R is true

Answer: B

Watch Video Solution

20. (A) : Nitrogen has higher ionization energy than

that of oxygen. 

(R ) : Nitrogen atom has smaller atomic size than that

of oxygen.

https://dl.doubtnut.com/l/_NuEFW0iEpTMc
https://dl.doubtnut.com/l/_Psby4e5wJkZe


OBJECTIVE EXERCISE - 2 (GENERAL)

A. Both A & R are true, R is the correct explanation

of A

B. Both A & R are true, R is not correct explanation

of A

C. A is true, R is false

D. A is false, R is true

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Psby4e5wJkZe


1. Which of the following elements is most metallic ?

A. P

B. As

C. Sb

D. Bi

Answer: D

Watch Video Solution

2. The shape and bond angle of white Phosphorous

molecules is

https://dl.doubtnut.com/l/_Vh1xYzOaqMJw
https://dl.doubtnut.com/l/_zOKU7PR4Pkxx


A. Linear and 

B. Trigonal planar and 

C. Tetrahedral and 

D. Tetrahedral and 

Answer: D

Watch Video Solution

180∘

120∘

109∘ 281

60∘

3. The elements present in Fluorapatite are

A. Ca, N & O only

B. Ca & P only

C. Ca, P, F, O

https://dl.doubtnut.com/l/_zOKU7PR4Pkxx
https://dl.doubtnut.com/l/_hhsIDKOgdUgp


D. Ca, N, O, F

Answer: C

Watch Video Solution

4. In the statements regarding  molecule  

I) The oxidation state is zero 

II) The covalency is 4 

  III) The  bond angle   

  The correct combination is

A. Only III is correct

B. I & III are correct

P4

P − P̂ 60∘

https://dl.doubtnut.com/l/_hhsIDKOgdUgp
https://dl.doubtnut.com/l/_k7TLXiZ5gw5N


OBJECTIVE EXERCISE - 2 (HYDRIDES)

C. All are correct

D. I and II are correct

Answer: B

Watch Video Solution

1. Most basic among the following

A. 

B. 

C. 

NH3

N2H4

PH3

https://dl.doubtnut.com/l/_k7TLXiZ5gw5N
https://dl.doubtnut.com/l/_bxcJ9DPUFrHK


D. 

Answer: A

Watch Video Solution

P2H4

2.  has a much higher boiling point than  

because

A.  has a larger molecular weight

B.  undergoes umbrella inversion

C.  forms hydrogen bond

D.  contains ionic bonds whereas  contains

covalent bonds 

NH3 PH3

NH3

NH3

NH3

NH3 PH3

https://dl.doubtnut.com/l/_bxcJ9DPUFrHK
https://dl.doubtnut.com/l/_Axe1tgX0QYpW


Answer: C

Watch Video Solution

3. The bond energies  of 

 respectively ? 

A. 247, 318 and 389

B. 247, 389 and 318

C. 318, 389 and 247

D. 318, 247 and 389

Answer: D

Watch Video Solution

(in KJ mole− 1)

P − H, As − H and N − H

https://dl.doubtnut.com/l/_Axe1tgX0QYpW
https://dl.doubtnut.com/l/_W7oWPgpfCJSk


4. What is the order of basic nature of hydrides of VA

group elements?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AsH3 > SbH3 > PH3 > NH3

NH3 > PH3 > AsH3 > SbH3

NH3 > SbH3 > PH3 > AsH3

PH3 > NH3 > SbH3 > AsH3

https://dl.doubtnut.com/l/_W7oWPgpfCJSk
https://dl.doubtnut.com/l/_VGwgOgaCKWJW


OBJECTIVE EXERCISE - 2 (OXIDES)

5. White phosphorous reacts with caustic soda to give

phosphine and sodium hypophosphite. In this reaction

phosphorous undergoes

A. Oxidiation

B. Reduction

C. Both

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4Ga1QN2t2Slv


1. Which of the following oxides of nitrogen is the

anhydride of nitrous acid?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NO

N2O3

N2O4

N2O3

2. Of the following, which has three electron bond in its

structure ?

https://dl.doubtnut.com/l/_kEwkVSwpT6vK
https://dl.doubtnut.com/l/_taJtQzeN3xms


A. Nitrous oxide

B. Nitric oxide

C. Dinitrogen trioxide

D. Nitrogen pentoxide

Answer: B

Watch Video Solution

3. The number of oxygen atoms bonded to one

phosphorous atom in  is

A. 4

B. 3

P4O10

https://dl.doubtnut.com/l/_taJtQzeN3xms
https://dl.doubtnut.com/l/_mXl5jFmLl6nV


C. 6

D. 5

Answer: A

Watch Video Solution

4. The arrangement of oxygen atoms around each

phosphorous in 

A. Pyramidal

B. Octahedral

C. Tetrahedral

D. Square planar

P4O10

https://dl.doubtnut.com/l/_mXl5jFmLl6nV
https://dl.doubtnut.com/l/_6HZ7ItXcnnmz


Answer: C

Watch Video Solution

5. When  is gently heated, an oxide of

Nitrogen is formed. What is the oxidation state of

Nitrogen in this oxide ?

A. 

B. 

C. 

D. 

Answer: D

NH4NO3

+4

+2

+3

+1

https://dl.doubtnut.com/l/_6HZ7ItXcnnmz
https://dl.doubtnut.com/l/_vOsdWZviAt7p


Watch Video Solution

6. The following are some statements about oxides of

VA group elements  

I)  molecule is linear  

II)  molecule is angular  

III)   molecule is angular  

The correct combination is

A. All are correct

B. I & III are correct

C. II & III are correct

D. I & II are correct

N2O

NO2

N2O5

https://dl.doubtnut.com/l/_vOsdWZviAt7p
https://dl.doubtnut.com/l/_ExvX5UOBbqH0


OBJECTIVE EXERCISE - 2 (HALIDES)

Answer: D

Watch Video Solution

1. Bismuth forms the only pentahalide with the halogen

A. bromine

B. �uorine

C. Chlorine

D. iodine

Answer: B

https://dl.doubtnut.com/l/_ExvX5UOBbqH0
https://dl.doubtnut.com/l/_70aqdWruE3i7


Watch Video Solution

2.   

The correct match is 

A. 

B. 

C. 

D. 

Answer: C

LIST - 1 LIST - 2

A) NH3 1) sp3d, trigonal bipyramidal

B) N2O3 2) sp3, tetrahedral

C) PCl5 3) sp, linear

D) NH +
4

4) sp3, pyramidal

5) anhydride of nitrous acid

A B C D

1 4 3 2

A B C D

1 2 3 4

A B C D

4 5 1 2

A B C D

2 5 3 1

https://dl.doubtnut.com/l/_70aqdWruE3i7
https://dl.doubtnut.com/l/_2uWjkkFoYjDd


OBJECTIVE EXERCISE - 2 (OXYACIDS)

Watch Video Solution

1. Nitration mixture is used to genarate

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NO−
2

NO+
3

NO+
2

NO−
3

https://dl.doubtnut.com/l/_2uWjkkFoYjDd
https://dl.doubtnut.com/l/_sKE3aBFPGvFz


2. Two oxides of Nitrogen, NO and NO, react together at

253K and form a compound of Nitrogen, 'x'. 'x' reacts

with water to yield another compound of Nitrogen, 'y'.

The shape of the anion of 'y' molecule is 

A. Tetrahedral

B. Angular

C. Square planar

D. Pyramidal

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QmyWVMsm0N9n


3. Oxidation state of  for phophorous is found in

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+1

H3PO3

H3PO4

H3PO2

H4P2O7

4. The number of hydroxyl groups in pyrophosphoric

acid is

https://dl.doubtnut.com/l/_7XsfA3BoBFjH
https://dl.doubtnut.com/l/_WWYCOovhz7wI


A. 3

B. 4

C. 5

D. 7

Answer: B

Watch Video Solution

5.  is the formula for one of the phosphorus

acids. Its name and basicity are respectively

A. phosphorous acid and two

B. hypophosphorous acid and two

H3PO2

https://dl.doubtnut.com/l/_WWYCOovhz7wI
https://dl.doubtnut.com/l/_AczlRCzb32uN


C. hypophosphorous acid and one

D. hypophosphoric acid and two 

Answer: C

Watch Video Solution

6. The acid that forms primary, secondary and tertiary

phosphates is

A. 

B. 

C. 

D. 

H3PO2

H3PO3

HPO3

H3PO4

https://dl.doubtnut.com/l/_AczlRCzb32uN
https://dl.doubtnut.com/l/_MHYfHsIpDRrD


Answer: D

Watch Video Solution

7. Which of the following is not an acidic salt?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaH2PO2

NaH2PO3

NaH2PO4

Na2HPO4

https://dl.doubtnut.com/l/_MHYfHsIpDRrD
https://dl.doubtnut.com/l/_9sKMdYfdzrbV


8. The reducing strength of oxyacid of the Phosphorous

depends on

A. The number of H - atoms directly attached to P

B. The number of H-atom attached to oxygen atom

C. The number of O - atoms attached to P-atoms

D. The number of P-atoms 

Answer: A

Watch Video Solution

9. Regarding  the wrong statement isH3PO5

https://dl.doubtnut.com/l/_2oYlZs8KREPy
https://dl.doubtnut.com/l/_sI75vLrARXlo


A. It's basicity is three

B. Oxidation state P in it is 

C. It contains  linkage

D. It can form a dimer

Answer: D

Watch Video Solution

+5

O − O

10. The statements regarding oxyacids of phosphorous

are 

i)  molecule is monobasic acid  

ii)  molecule has  bond  

HPO3

H4P2O6 P − P

https://dl.doubtnut.com/l/_sI75vLrARXlo
https://dl.doubtnut.com/l/_HtRjjVST5R05


iii)  molecule has  linkage  

The correct combination is

A. All are correct

B. Only ii is correct

C. ii & iii are correct

D. i & ii are correct 

Answer: A

Watch Video Solution

H4P2O7 P − O − P

11. Which pair of oxyacids of phosphorous et contain

 bonds? 'P − H'

https://dl.doubtnut.com/l/_HtRjjVST5R05
https://dl.doubtnut.com/l/_a9bN0lCBzIKP


OBJECTIVE EXERCISE - 2 (AMMONIA AND NITRIC ACID)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H3PO4, H3PO3

H3PO5, H4P2O7

H3PO3, H3PO2

H3PO2, HPO3

1. In the Haber's process nitrogen chemically combines

with

https://dl.doubtnut.com/l/_a9bN0lCBzIKP
https://dl.doubtnut.com/l/_BznUA9mtA3Cp


A. Oxygen

B. Iron

C. Ammonia

D. Hydrogen 

Answer: D

Watch Video Solution

2. Conditions for the formation of  in Haber's

process are

A. High temperature, low pressure

B. Optimum temperature, high pressure

NH3

https://dl.doubtnut.com/l/_BznUA9mtA3Cp
https://dl.doubtnut.com/l/_ElFgVgELBWdb


C. High temperature, high pressure

D. Optimum temperature, low pressure 

Answer: B

Watch Video Solution

3. Conc.  is treated with iron. The metal is

passive because

A. It is a transition metal

B. It forms protective oxide �lm

C. It is reduced

D. It liberates laughing gas 

HNO3

https://dl.doubtnut.com/l/_ElFgVgELBWdb
https://dl.doubtnut.com/l/_H2ABDUCAPgSp


Answer: B

Watch Video Solution

4. 

In this reaction one mole of  is reduced by 

A. 26 g Zn

B. 64 g Zn

C. 128 g Zn

D. 256 g Zn

Answer: D

4Zn + 10HNO3 → 4Zn(NO3)2 + NH4NO3 + 3H2O

HNO3

https://dl.doubtnut.com/l/_H2ABDUCAPgSp
https://dl.doubtnut.com/l/_Tf0Pm3uPKGbK


Watch Video Solution

5.  is the chemical composition of

the substance, commonly used as

A. fertiliser

B. explosive

C. perfume

D. medicine

Answer: A

Watch Video Solution

[Ca ⊙ Ca(NO3)2]

https://dl.doubtnut.com/l/_Tf0Pm3uPKGbK
https://dl.doubtnut.com/l/_lnsA6QVl2CvJ


PRACTICE EXERCISE

1. Which of the following reacts rapidly with oxygen in

the air at ordinary temperature? 

A. White P

B. Red P

C. 

D. 

Answer: A

Watch Video Solution

N2

N2O

https://dl.doubtnut.com/l/_A9NoOrxmqciK


2. The p-p bond energy is 'x' KJ/mole. Then the energy

needed for the dissociation of 124 g of white

phosphorous is 

A. x KJ

B. 4x KJ

C. 6x KJ

D. 8x KJ

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bSejv3kMf7Z6


3. Nitrogen di�ers from other elements among the VA

group, due to 

A. Small atomic size

B. High electronegativity

C. Absence of 'd' orbitals

D. All of these

Answer: D

Watch Video Solution

4. The following are some statements about VA group

elements 

https://dl.doubtnut.com/l/_sLuY5o972t38
https://dl.doubtnut.com/l/_JBf4Me2wyCX7


I) All elements exhibits allotropy 

II) Boiling points decrease down the group 

III) They contain �ve electrons in their valency shell 

The correct combination is

A. All are correct

B. Only III is correct

C. I & II are correct

D. II & III are correct 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_JBf4Me2wyCX7


5. With reference to protonic acids, which of the

following statements is correct?

A.  is more basic than 

B.  is less basic than 

C.  is equally basic as 

D.  is amphoteric while  is basic

Answer: B

Watch Video Solution

PH3 NH3

PH3 NH3

PH3 NH2

PH3 NH3

6. The statements regarding N, molecule are 

I) The Bond energy is 945. 4 KJ/mole 

https://dl.doubtnut.com/l/_xEi07P02C2od
https://dl.doubtnut.com/l/_xtm5sjgxHaGl


II) It has triple bond 

III)It contains  bond The correct combination

is

A. Only II is correct

B. I & II are correct

C. II and I are correct

D. All are correct

Answer: B

Watch Video Solution

2σ and 1π

7. Which of the following is least stable?

https://dl.doubtnut.com/l/_xtm5sjgxHaGl
https://dl.doubtnut.com/l/_jHBqhIx0A5Mb


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NH
+

4

SbH
+

4

PH
+

4

AsH
+

4

8. The decreasing values of bond angles from  to 

 down the group 15 of the periodic table is due to

A. increasing bp-bp repulsion

B. increasing p-orbital character in 

NH3

SbH3

sp3

https://dl.doubtnut.com/l/_jHBqhIx0A5Mb
https://dl.doubtnut.com/l/_eQlDBX5nN18L


C. decreasing lp-bp repulsion

D. decreasing electronegativity of central atom 

Answer: D

Watch Video Solution

9. One mole of calcium phosphide on reaction with

excess of water gives

A. one mole of phosphine

B. two moles of phosphoric acid

C. two moles of phosphine

D. one mole of phosphorus pentoxide 

https://dl.doubtnut.com/l/_eQlDBX5nN18L
https://dl.doubtnut.com/l/_4TbtpfuF2ajI


Answer: C

Watch Video Solution

10. The following are some statements related to VA

group hydrides 

I : Reducing property increases from  to   

II : Tendency to donate lone pair decreases from 

to   

III : Ease of replacing H with Cl decreases from  to 

  

IV : Ease of formation of hydrides decreases from 

to   

The correct statements are:

NH3 BiH3

NH3

BiH3

NH3

BiH3

NH3

BiH4

https://dl.doubtnut.com/l/_4TbtpfuF2ajI
https://dl.doubtnut.com/l/_Q7SjNtfHo54i


A. I, II, III, IV

B. I, III and IV

C. I, II and IV

D. I and IV

Answer: A

Watch Video Solution

11. Which of the following oxides of nitrogen is a brown

coloured gas?

A. 

B. 

NO2

NO

https://dl.doubtnut.com/l/_Q7SjNtfHo54i
https://dl.doubtnut.com/l/_uu3Q8Mipodaf


C. 

D. 

Answer: A

Watch Video Solution

N2O

N2O5

12. The number of oxygen atoms around Phosphorous

in the dimer of 

A. 2

B. 3

C. 4

D. 6

P2O5

https://dl.doubtnut.com/l/_uu3Q8Mipodaf
https://dl.doubtnut.com/l/_617QXLFAOL6u


Answer: C

Watch Video Solution

13. The number of bridge oxygen atoms present in both

 and  are respectively

A. 4,6

B. 4,4

C. 6,4

D. 6,6

Answer: D

Watch Video Solution

P4O6 P4O10

https://dl.doubtnut.com/l/_617QXLFAOL6u
https://dl.doubtnut.com/l/_MePPlEelpWrT


14. The number of  bonds and lone pair of

electrons present in  molecule.

A. 12,16

B. 12,12

C. 8,8

D. 12,4

Answer: A

Watch Video Solution

P − O

P4O6

https://dl.doubtnut.com/l/_MePPlEelpWrT
https://dl.doubtnut.com/l/_fBDjdNaXpH9n


15.   

The correct match is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

LIST - 1 LIST - 2

A) NO 1) Colourless and paramagnetic

B) NO2 2) Greenish yellow gas

C) N2O3 3) Reddish brown and paramagnetic

D) N2O5 4) Anhydride of Nitirc aicd

5) Anhydride of Nitrous acid

A B C D

2 4 5 1

A B C D

1 3 5 4

A B C D

3 2 1 5

A B C D

1 4 4 3

https://dl.doubtnut.com/l/_lOEchOsp0TPp
https://dl.doubtnut.com/l/_sLScAcsker4I


16.  exists but  does not. This is because of

A. High electronegativity of nitrogen

B. High ionisation energy of nitrogen

C. Smaller atomic size of nitrogen

D. Absence of d-orbitals in the valence shell of

nitrogen 

Answer: D

Watch Video Solution

PCI5 NCI5

17. The aqueous solution of  can be used asNCl3

https://dl.doubtnut.com/l/_sLScAcsker4I
https://dl.doubtnut.com/l/_trxt0jZEZPEE


A. Chlorinating agent

B. Bleaching agent

C. Reducing agent

D. Explosive

Answer: B

Watch Video Solution

18. Which of the following element of Group VA is more

metallic

A. Bi

B. As

https://dl.doubtnut.com/l/_trxt0jZEZPEE
https://dl.doubtnut.com/l/_3e2ITD4wWofv


C. Sb

D. P

Answer: A

Watch Video Solution

19. The element of Group VA that exhibits maximum

number of oxidation states in its compounds

A. phosphorus

B. arsenic

C. bismuth

D. nitrogen 

https://dl.doubtnut.com/l/_3e2ITD4wWofv
https://dl.doubtnut.com/l/_zWCdOw2SxeH9


Answer: D

Watch Video Solution

20. When orthophosphoric acid is strongly heated the

product formed is

A. Phosphine, 

B. Phosphorus trioxide, 

C. Phosphorous acid,  

D. Metaphosphoric acid, 

Answer: D

Watch Video Solution

PH3

P2O3

H3PO3

HPO3

https://dl.doubtnut.com/l/_zWCdOw2SxeH9
https://dl.doubtnut.com/l/_GlzkGPxgsApH


21. In the oxyacids of phosphorous the hybridisation of

phosphorous is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sp3

sp2

sp

dsp2

https://dl.doubtnut.com/l/_GlzkGPxgsApH
https://dl.doubtnut.com/l/_UYkqfm5hAOon


22. The oxyacid of phosphorous which has more non-

ionisable hydrogens

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H3PO2

H3PO3

H3PO4

H3PO5

23. Which of the following is a neutral salt ?

https://dl.doubtnut.com/l/_OM9guvQIYuKh
https://dl.doubtnut.com/l/_GxuYMPwvvJxy


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaH2PO3

NaH2PO4

NaH2PO2

Na2H2P2O7

24. In  molecule

A. P-atom is surrounded by three  groups

B. P-atom is tetrahedrally surrounded by two 

groups, one oxygen atom and one hydrogen

H3PO3

−OH

−OH

https://dl.doubtnut.com/l/_GxuYMPwvvJxy
https://dl.doubtnut.com/l/_kwVT3aJOhuo5


atom

C. P-atom is surrounded by four  groups

D. P-atom is surrounded by two -H atoms

Answer: B

Watch Video Solution

−OH

25. The following are some statements about oxyacids

of VA group elements 

i) The salt of nitric acid contains  ion  

ii) The salt of phosphoric acid contains  ion  

iii) Salts of meta phosphoric acid contains  ion

The correct combination is

NO−
3

PO
3 −
4

HPO2 −
3

https://dl.doubtnut.com/l/_kwVT3aJOhuo5
https://dl.doubtnut.com/l/_qDK4IatNBve0


A. All are correct

B. i, iii are correct

C. ii, iii are correct

D. i, ii are correct 

Answer: D

Watch Video Solution

26. Calcium cyanamide on treatment with steam under

pressure gives ammonia and

A. Calcium carbonate

B. Calcium hydroxide

https://dl.doubtnut.com/l/_qDK4IatNBve0
https://dl.doubtnut.com/l/_cvtOHgxFjs6l


C. Calcium oxide

D. Calcium bicarbonate 

Answer: A

Watch Video Solution

27.   

The correct match is

A. 

B. 

Oxy acid Basicity

A) H3PO2 1) Tribasic

B) H3PO3 2) Mono basic

C) H3PO4 3) Tetrabasic

D) H4P2O6 4) Dibasic

A B C D

3 2 1 4

A B C D

2 4 1 3

https://dl.doubtnut.com/l/_cvtOHgxFjs6l
https://dl.doubtnut.com/l/_Hy68rNPEe2EG


C. 

D. 

Answer: B

Watch Video Solution

A B C D

2 1 3 4

A B C D

1 2 3 4

28. A and B are two gases. ‘A’is identi�ed with a glass

rod dipped in NH, and the gas 'B' is identi�ed with a

glass rod dipped in HCI. 'A' and 'B' are respectively 

A. 

B. 

C. 

HCl, NO2

HCl, NH3

NH3, HCl

https://dl.doubtnut.com/l/_Hy68rNPEe2EG
https://dl.doubtnut.com/l/_1RVJaxJnquHK


D. 

Answer: B

Watch Video Solution

NH3, SO2

29.  pure nitric acid is obtained by

A. dilution of commercial acid

B. distillation of commercial acid

C. distillation in the pressure of con 

D. freezing the commercial acid 

Answer: C

98 %

H2SO4

https://dl.doubtnut.com/l/_1RVJaxJnquHK
https://dl.doubtnut.com/l/_XFt308K1emsO


Watch Video Solution

30. Aquaregia is a mixture of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Conc. HNO3 + Conc. H2SO4  in 1:1 ratio

Conc. HNO3 + Conc. H2SO4  in 1:3 ratio

Conc. HNO3 + Conc. HCl  in 1:3 ratio

Conc. HNO3 + Conc. HCl  in 1:1 ratio

https://dl.doubtnut.com/l/_XFt308K1emsO
https://dl.doubtnut.com/l/_F4dm8sQcFFVa


31. The volume percentage of  in air is 78. The Weight

percentage of the same

A. 75

B. 78

C. 80

D. 85

Answer: A

Watch Video Solution

N2

32. When  is obtained from  using oxide of

copper, the change in the oxidation state of metal is

N2 NH3

https://dl.doubtnut.com/l/_BXMrUtG9dgoI
https://dl.doubtnut.com/l/_68K3PWc7w1jK


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+2  to 0

+2  to + 1

+1  to + 2

0  to + 2

33. A mixture of potassium nitrite and ammonium

chloride on heating liberates the gas

A. 

B. 

O2

N2O

https://dl.doubtnut.com/l/_68K3PWc7w1jK
https://dl.doubtnut.com/l/_0F47NpUQPQUk


C. 

D. 

Answer: D

Watch Video Solution

NH3

N2

34. Which statement is not correct for nitrogen?

A. It has a small size

B. It does not readily react with 

C. It is a typical non-metal

D. d-orbitals are available for bonding

O2

https://dl.doubtnut.com/l/_0F47NpUQPQUk
https://dl.doubtnut.com/l/_F9yJPV8x8Z7j


Answer: D

Watch Video Solution

35. If the nitrogen atoms are in a cyclic arrangement in

hydrazoic acid, the oxidation states of N are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+3, + 3, + 3

0, 0 − 1

0, 0, − 1/3

−1/3, − 1/3, 0

https://dl.doubtnut.com/l/_F9yJPV8x8Z7j
https://dl.doubtnut.com/l/_L1eF2ZiCxc3A


36. The allotrope of phosphorous obtained by heating

white phosphorous to 473 K is 

A. balck

B.  black

C. red

D. scarlet

Answer: B

Watch Video Solution

α −

β −

https://dl.doubtnut.com/l/_L1eF2ZiCxc3A
https://dl.doubtnut.com/l/_qX1bMDAAqgcr


37. Which of the following can acts as both oxidant and

redutant

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2N2O2

HNO2

HNO3

HNO4

38. Concentrated nitric acid oxidises phosphorous and

iodine, respectively to 

https://dl.doubtnut.com/l/_jKAsDAkLQzhd
https://dl.doubtnut.com/l/_oQFIjegCocjg


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H3PO3, HI

H3PO3, HIO4

H3PO4, HIO3

H3PO4, HIO4

39. In solid state , exists as ionic solid i.e., 

 shapes of  are respectively

A. Tetrahedral, Pyramidal

B. Tetrahedral, Octahedral

PCl5

[X] + , [Y ] −
X + and Y −

https://dl.doubtnut.com/l/_oQFIjegCocjg
https://dl.doubtnut.com/l/_a5wGbMwgacUk


C. Octahedral, Linear

D. Octahedral, Trigonal bipyramidal 

Answer: B

Watch Video Solution

40. In  the number number of oxygen atoms

bondedto each P atom is 

A. 1.5

B. 2

C. 3

D. 4

P4O6

https://dl.doubtnut.com/l/_a5wGbMwgacUk
https://dl.doubtnut.com/l/_dASF06De01LT


Answer: C

Watch Video Solution

41.  on reactigwith watr does not form

A. Tetra metaphosphoric acid

B. Phorsphorous acid

C. Orthophosphoric acid

D. Pyrphosphoric acid 

Answer: C

Watch Video Solution

P4O10

https://dl.doubtnut.com/l/_dASF06De01LT
https://dl.doubtnut.com/l/_j6m7j2LY1fBa


42. The number of  bonds and lone pair of

electrons present in  molecule.

A. 12, 16

B. 12, 12

C. 8, 8

D. 12, 4

Answer: A

Watch Video Solution

P − O

P4O6

43. Which is cyclic phosphate ?

https://dl.doubtnut.com/l/_NJjVWoC8PrBC
https://dl.doubtnut.com/l/_rKmar2FnTrtc


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Na2P3O10

Na6P4O13

Na4P4O11

Na5P5O15

44. Dinitrogem tetraoxide  is a mixed anhydride

because it

A. is a mixture of 

B. Decomposes into two oxides of nitrogen

(N2O4)

N2O3 and N2O5

https://dl.doubtnut.com/l/_rKmar2FnTrtc
https://dl.doubtnut.com/l/_2Ap29Uf8I34k


C. Reacts with water to form nitric acid

D. Reacts with water to form two oxy acids

Answer: D

Watch Video Solution

45. The oxyacid of phosphorous which has more non-

ionisable hydrogens 

A. 

B. 

C. 

D. 

H3PO2

H3PO3

H3PO4

H3PO5

https://dl.doubtnut.com/l/_2Ap29Uf8I34k
https://dl.doubtnut.com/l/_kb4LFUKJYsGq


Answer: D

Watch Video Solution

46.  exists but  does not. This is because of

A. High electronegativity of nitrogen

B. High ionisation energy of nitrogen

C. Smaller atomic size of nitrogen

D. Absence of d-orbitals in the valence shell of

nitrogen 

Answer: D

Watch Video Solution

PCl5 NCI5

https://dl.doubtnut.com/l/_kb4LFUKJYsGq
https://dl.doubtnut.com/l/_dqhL8WWMcVi4


47. In the oxyacids of phosphorous the hybridisation of

phosphorous is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sp3

sp2

sp

dsp2

https://dl.doubtnut.com/l/_dqhL8WWMcVi4
https://dl.doubtnut.com/l/_JvULH0yTwVyU


48. Which of the following is a neutral salt ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaH2PO3

NaH2PO4

NaH2PO2

Na2H2P2O7

49. An acidic hydride of nitrogen is

A. NH3

https://dl.doubtnut.com/l/_5hTgjrpnhHkQ
https://dl.doubtnut.com/l/_Ea7rjmqxWxPQ


B. 

C. 

D. 

Answer: D

Watch Video Solution

N2H4

N2H2

N3H

50. The volume percentage of  in air is 78. The

Weight percentage of the same

A. 75

B. 78

C. 80

N2

https://dl.doubtnut.com/l/_Ea7rjmqxWxPQ
https://dl.doubtnut.com/l/_JBQvHFVc6dbp


D. 85

Answer: A

Watch Video Solution

51. The largest bond angle is in

A. 

B. 

C. 

D. 

Answer: B

NH3

PH3

AsH3

SbH3

https://dl.doubtnut.com/l/_JBQvHFVc6dbp
https://dl.doubtnut.com/l/_8VpX8LOPCPk3


Problem

Watch Video Solution

1. Nitroeng is chemically inert. Why?

Watch Video Solution

2. The tendency to exhibit  oxidation state by a

group VA element decreases down. Why? 

Watch Video Solution

−3

https://dl.doubtnut.com/l/_8VpX8LOPCPk3
https://dl.doubtnut.com/l/_xQos2RGkSArD
https://dl.doubtnut.com/l/_TDJmbbeboGN6


3. Write the following for a white phosphorus molecule:

(a) oxidation state of P, (b) valency of P, (c) total number

of bonds and (d) bond order. 

Watch Video Solution

4. White phosphorus is very reactive, but not the red

one. Why? 

Watch Video Solution

5. Nitrogen forms a simple diatomic molecule but other

elements of same group do not form. Explain.

https://dl.doubtnut.com/l/_9uRhQCpaqK07
https://dl.doubtnut.com/l/_avo9JxwmA7rl
https://dl.doubtnut.com/l/_bFeEzPFIW2rh


Watch Video Solution

6. Maximum covalency of nitrogen is four. Explain. 

Watch Video Solution

7. What happens when barium azide is heated ?

Watch Video Solution

8. Phosphorus can expand its valency. Why? 

Watch Video Solution

https://dl.doubtnut.com/l/_bFeEzPFIW2rh
https://dl.doubtnut.com/l/_enXtXo3n9DPZ
https://dl.doubtnut.com/l/_tLHA2JuyI8bA
https://dl.doubtnut.com/l/_r1F5HBbK9Cv9
https://dl.doubtnut.com/l/_yKcn5MQ9G7Za


9. Both  and  are Lewis bases, but basic

strength of  is less than that of . Explain. 

Watch Video Solution

PH3 NH3

PH3 NH3

10. What is the covalence of nitrogen in  ?

Watch Video Solution

N2O5

11. Both NO and  have odd number of electrons.

NO is colourless, but  is coloured. Why?

Watch Video Solution

NO2

NO2

https://dl.doubtnut.com/l/_yKcn5MQ9G7Za
https://dl.doubtnut.com/l/_7So0VtgOUqqx
https://dl.doubtnut.com/l/_J0Os7wM3a4S1
https://dl.doubtnut.com/l/_pGQJZVRhoXWZ


12. The magnetic properties of  are

di�erent. Why?

Watch Video Solution

NO2 and N2O4

13.  is less stable. Why? 

Watch Video Solution

PCI5

14.  is covalent. It fumes in moisture and its

aqueous solution is electrical conductor. Why? 

Watch Video Solution

PCl3

https://dl.doubtnut.com/l/_pGQJZVRhoXWZ
https://dl.doubtnut.com/l/_tdtkwI62nq4a
https://dl.doubtnut.com/l/_yFAasdxJIcOl
https://dl.doubtnut.com/l/_8sDxZt7gH05y


15. What happens when phosphine is absorbed in

mercuric chloride solution ? 

Watch Video Solution

16. Pentahalides of phosphorus are known, but not

pentahydride. Why?

Watch Video Solution

17. Mention to which oxyacids  and 

are anhydrides?

Watch Video Solution

N2O, N2O4 N2O5

https://dl.doubtnut.com/l/_8sDxZt7gH05y
https://dl.doubtnut.com/l/_IfqsMbhiWaG0
https://dl.doubtnut.com/l/_DBNEe9mkGnHw


18. What is the basicity of orthophosphoric acid ? Write

the types of salts formed by it. 

Watch Video Solution

19. Based on the structures how is the reduction ability

of  accounted for?

Watch Video Solution

H3PO2 or H3PO3

20. How is tautomerism di�erent from resonance ?

Watch Video Solution

https://dl.doubtnut.com/l/_ufUygCVferau
https://dl.doubtnut.com/l/_WTJAfcIPJ3Ct
https://dl.doubtnut.com/l/_2u6paNwSpyD7
https://dl.doubtnut.com/l/_XbXDljcn8GOj


21. Ammonia cannot be dried over anhydrous calcium

chloride. Why? 

Watch Video Solution

22. Coal is a potential source for ammonia. Comment.

Watch Video Solution

23. 3-Hydroxy butanal is formed when (X) reacts with (Y)

in dilute (Z) solution. What are(X),(Y) and(Z)?

Watch Video Solution

https://dl.doubtnut.com/l/_XbXDljcn8GOj
https://dl.doubtnut.com/l/_mKZ1WGa6Nqru
https://dl.doubtnut.com/l/_UraVZonapm9Q
https://dl.doubtnut.com/l/_91l5HLCasnLb


SUBJECTIVE EXERCISE - 1 (Long answer questions)

SUBJECTIVE EXERCISE - 1 (Short answer questions)

24. What is aqua-regia ? How it works to dissolve noble

metals ?

Watch Video Solution

1. Discuss the general characteristics of nitrogen family

and justify their position in the same group. 

Watch Video Solution

https://dl.doubtnut.com/l/_91l5HLCasnLb
https://dl.doubtnut.com/l/_CF5BNwJKu9lq
https://dl.doubtnut.com/l/_f46qrTLTV2PM


1. Discuss on the electronic con�guration of elements

of group 15.

Watch Video Solution

2. Mention the occurrence of nitrogen and phosphorus

in the earth's crust. 

Watch Video Solution

3. Write the trends in atomic radius, metallic nature

and ionisation potential of group VA elements. 

Watch Video Solution

https://dl.doubtnut.com/l/_f46qrTLTV2PM
https://dl.doubtnut.com/l/_CcWI7xexdPk1
https://dl.doubtnut.com/l/_KTS75UJZSf5Q


4. Mention the oxidation numbers exhibited by

nitrogen. Give an example for each. 

Watch Video Solution

5. Write on the allotropy of group VA elements. 

Watch Video Solution

6. De�ne catenation. How it vary it nitrogen family. 

Watch Video Solution

https://dl.doubtnut.com/l/_QBHGEEwTJ0NQ
https://dl.doubtnut.com/l/_4Y5lqim6YAWx
https://dl.doubtnut.com/l/_C2QNrd0XyvaR


SUBJECTIVE EXERCISE - 1 (Very short answer questions)

1. Write the names and the atomic number of VA group

elements

Watch Video Solution

2. Give the electronic con�gurations of phosphorus and

Arsenic.

Watch Video Solution

3. Write the composition of "Phosphate rock''. 

W h Vid S l i

https://dl.doubtnut.com/l/_PQH4wn0GFucS
https://dl.doubtnut.com/l/_A0F3Q9kmwmwu
https://dl.doubtnut.com/l/_TlHi2moG9pPf


Watch Video Solution

4. Write all the oxidation states of nitrogen. 

Watch Video Solution

5. Give any two examples to show the negative

oxidation state of nitrogen. 

Watch Video Solution

6. Give reasons for the chemical inactivity of nitrogen at

ordinary conditions.

Watch Video Solution

https://dl.doubtnut.com/l/_TlHi2moG9pPf
https://dl.doubtnut.com/l/_MEyWfZCluCNX
https://dl.doubtnut.com/l/_HBCbSxed93SM
https://dl.doubtnut.com/l/_SymsoYkQaxbC


SUBJECTIVE EXERCISE - 2 (Long answer questions)

SUBJECTIVE EXERCISE - 2 (Short answer questions)

1. Write about the general characterstics of hydrides of

VA group elements. 

Watch Video Solution

2. Discuss the structures of oxides of nitrogen.

Watch Video Solution

https://dl.doubtnut.com/l/_SymsoYkQaxbC
https://dl.doubtnut.com/l/_Z4r7xjRiS2fI
https://dl.doubtnut.com/l/_wWRtMdNmXXPH


1. Discuss the basic strength and stability of hydrides of

group VA.

Watch Video Solution

2. Write di�erent oxides of nitrogen. Mention the

oxidation states of nitrogen in these oxides.

Watch Video Solution

3. Write the structures of the oxides :

.

Watch Video Solution

N2O3, N2O5, P4O6 and P4O10

https://dl.doubtnut.com/l/_UFCdD2ADMozG
https://dl.doubtnut.com/l/_1or7MGE576Xe
https://dl.doubtnut.com/l/_z01F1fQuK6xo


SUBJECTIVE EXERCISE - 2 (Very short answer questions)

4. Write the hydrolysis reactions of the halides :

Watch Video Solution

NCl3, PCl3, PCl5, P4O6 and P4O10

1. What is the stability order of the VA group hydrides ?

Explain the gradation in the reducing property of these

hydrides. 

Watch Video Solution

https://dl.doubtnut.com/l/_z01F1fQuK6xo
https://dl.doubtnut.com/l/_hq57wxKTTk6C
https://dl.doubtnut.com/l/_te0jxxs5glv5
https://dl.doubtnut.com/l/_ocImUQlzIuZe


2. Which of the two oxides  is a better

dehydrating agent. Give an example for the same

reaction. 

Watch Video Solution

N2O5 and P2O5

3. Why is 'NO' paramagnetic in nature ? When does it

become diamagnetic ? 

Watch Video Solution

4. How is dinitrogen tetroxide formed ? Give equation. 

Watch Video Solution

https://dl.doubtnut.com/l/_ocImUQlzIuZe
https://dl.doubtnut.com/l/_2eGYeNQ1rmE4
https://dl.doubtnut.com/l/_b6my1f5m88E5


5. A colour less oxide of nitrogen in air becomes brown.

Why? 

Watch Video Solution

6. How many oxygens surround a phosphorous is

phosphorous pentoxide ? 

Watch Video Solution

7. Write the equation for the hydrolysis of . How

does it di�er from the hydrolysis of ? 

Watch Video Solution

NCI2

PCI5

https://dl.doubtnut.com/l/_fVL0yRFa25AT
https://dl.doubtnut.com/l/_xCMf1Sj842sf
https://dl.doubtnut.com/l/_2oDy7vDLaNXx


8. What are the orbitals of P that are involved in the

formation of  ?

Watch Video Solution

PCI5

9. Can  be prepared by direct union of the

elements ? Why ? or Why not? 

Watch Video Solution

NCI5

10. Which oxides of nitrogen are neutral oxides ?

Watch Video Solution

https://dl.doubtnut.com/l/_2oDy7vDLaNXx
https://dl.doubtnut.com/l/_CpU1QCW13CBx
https://dl.doubtnut.com/l/_3VX8c3GguIOy
https://dl.doubtnut.com/l/_nwJmpNYtTzOs


SUBJECTIVE EXERCISE - 3 (Long answer questions)

SUBJECTIVE EXERCISE - 3 (Short answer questions)

1. Write an essay on the structural ascepts of

phosphorous series of acids. 

Watch Video Solution

1. Write on the strcutural aspects of  and 

.

Watch Video Solution

(HPO3)3

(HPO3)

https://dl.doubtnut.com/l/_nwJmpNYtTzOs
https://dl.doubtnut.com/l/_wk5xyit8h7y3
https://dl.doubtnut.com/l/_d5g6N17uDM34


2. Mention the oxyacids of phosphorus and the

oxidation states of phosphorus in them. 

Watch Video Solution

3. Write the di�erent types of salts formed by

orthophosphoric acid.

Watch Video Solution

4. Which of the acids of phosphorous does not show

monomeric state but cyclic structure ? 

Watch Video Solution

https://dl.doubtnut.com/l/_6uUFXt1Xwp8d
https://dl.doubtnut.com/l/_5gQPFaCR2AUV
https://dl.doubtnut.com/l/_AUChEjerStiL


SUBJECTIVE EXERCISE - 3 (Very short answer questions)

SUBJECTIVE EXERCISE - 4 (Long answer questions)

1. Write the structure of .

Watch Video Solution

HNO3

2. How do you prepare hypophosphorous acid in the

laboratory?

Watch Video Solution

https://dl.doubtnut.com/l/_AUChEjerStiL
https://dl.doubtnut.com/l/_fLq94FJ4ZnFx
https://dl.doubtnut.com/l/_U8JPK1EJ13Hi
https://dl.doubtnut.com/l/_HxxwHjVEKyey


1. Describe the manufacture of  by Haber's

method. Give a labelled diagram.

Watch Video Solution

NH3

2. Discuss the principle of preparing nitric acid in

Ostwald's process. Give the necessary equations. 

Watch Video Solution

3. Write the important uses of (a) ammonia and (b)

nitric acid. 

Watch Video Solution

https://dl.doubtnut.com/l/_HxxwHjVEKyey
https://dl.doubtnut.com/l/_GWkNUXBuLmyH
https://dl.doubtnut.com/l/_SO0STfg593ec


SUBJECTIVE EXERCISE - 4 (Short answer questions)

1. Write on the conditions of Haber's ammonia

synthesis. 

Watch Video Solution

2. A colourless crystalline chloride, when warmed with

solid NaOH, gave ammonia gas. Identify the salt.

Watch Video Solution

3. Nitric acid can not be concentrated beyond  by

direct distillation ? Why? 

68 %

https://dl.doubtnut.com/l/_BgRLCeOubDzW
https://dl.doubtnut.com/l/_gWn7R5SGOdbo
https://dl.doubtnut.com/l/_2WPzs50J04di


Watch Video Solution

4. How is ammonia useful in qualitative analysis ? 

Watch Video Solution

5. Suggest the action of  on non-metals. 

Watch Video Solution

HNO3

6. What is brown ring test ? 

Watch Video Solution

https://dl.doubtnut.com/l/_2WPzs50J04di
https://dl.doubtnut.com/l/_9tgKoVn4ZYUr
https://dl.doubtnut.com/l/_mQ74r6T30jTF
https://dl.doubtnut.com/l/_5EbeTspJ0Wsi


SUBJECTIVE EXERCISE - 4 (Very short answer questions)

1. Write the structures of the following 

Watch Video Solution

(a)N2O and (b)NO2

2.  is strong dehydrating agent. Why is it not used

to dry  ? 

Watch Video Solution

P2O5

NH3

3. What are the experimental conditions used to

manufacture synthetic ?NH3

https://dl.doubtnut.com/l/_JlXwLMtq5t1j
https://dl.doubtnut.com/l/_0tnDel2GJYc8
https://dl.doubtnut.com/l/_SewqnCiX0po8


Watch Video Solution

4. What drying agent is suitable to dry  ? 

Watch Video Solution

NH3

5. How do you convert  into  ? Give

equation(s). 

Watch Video Solution

NH4NO3 NH3

6. How ammonia dissolve a zinc salt ? 

Watch Video Solution

https://dl.doubtnut.com/l/_SewqnCiX0po8
https://dl.doubtnut.com/l/_o4mNi9GIbJpa
https://dl.doubtnut.com/l/_vaL84WEhZEMf
https://dl.doubtnut.com/l/_7UoXTMA9pLoj


7. Describe the structures of tri and penta chlorides of

phosphorus.

Watch Video Solution

8. Write two examples of metals reacting with nitric

acid 

Watch Video Solution

9. Write the composition of aqua-regia. 

Watch Video Solution

https://dl.doubtnut.com/l/_7UoXTMA9pLoj
https://dl.doubtnut.com/l/_AlCqMzw7masK
https://dl.doubtnut.com/l/_tE1I8ahrSk1y
https://dl.doubtnut.com/l/_UcpyJcrkA609


Objective Exercise - 1

10. Aluminium is passive to concentrated nitric acid.

Why?

Watch Video Solution

1. The valence shell electronic con�guration of VA group

elements is :

A. 

B. 

C. 

ns2np2

ns2np1

ns2np3

https://dl.doubtnut.com/l/_UcpyJcrkA609
https://dl.doubtnut.com/l/_rTJfrfzcbaaI
https://dl.doubtnut.com/l/_rnFRQaRBWxlw


D. 

Answer: 3

Watch Video Solution

ns2np5

2. The most abundant element in the earth's

atmosphere is

A. 

B. 

C. 

D. Ar

O2

N2

F2

https://dl.doubtnut.com/l/_rnFRQaRBWxlw
https://dl.doubtnut.com/l/_6pv1PRGCrXex


Answer: 2

Watch Video Solution

3.  

The correct match is

A. 

B. 

C. 

D. 

A B C D

1 2 3 5

A B C D

2 4 3 1

A B C D

4 3 5 2

A B C D

5 1 4 3

https://dl.doubtnut.com/l/_6pv1PRGCrXex
https://dl.doubtnut.com/l/_BZ8uiqKADoCu


Answer: 4

Watch Video Solution

4. The most abundant VA group element in the earth's

crust is 

A. Nitrogen

B. Phosphorous

C. Arsenic

D. Bismuth

Answer: 2

Watch Video Solution

https://dl.doubtnut.com/l/_BZ8uiqKADoCu
https://dl.doubtnut.com/l/_fUJ288KiScve


5. The following can exist as a diatomic molecule

A. Sb

B. P

C. As

D. Bi

Answer: 1

Watch Video Solution

https://dl.doubtnut.com/l/_fUJ288KiScve
https://dl.doubtnut.com/l/_04puq3cyY2dr


6. The following VA group element occurs even in free

state

A. Bi

B. As

C. Sb

D. N

Answer: 4

Watch Video Solution

7. The VA group element having more number of

allotropes is

https://dl.doubtnut.com/l/_JDhc8jrFdPHU
https://dl.doubtnut.com/l/_OTNjPXueUewt


A. N

B. P

C. Bi

D. Sb

Answer: 2

Watch Video Solution

8. The following element doesn't have allotropes

A. N

B. P

C. As

https://dl.doubtnut.com/l/_OTNjPXueUewt
https://dl.doubtnut.com/l/_lfuVRrl32cpT


D. Bi

Answer: 4

Watch Video Solution

9. Most reactive allotropic form of Phosphorous is

A. Yellow

B. Red

C. Black

D. Scarlet

Answer: 1

https://dl.doubtnut.com/l/_lfuVRrl32cpT
https://dl.doubtnut.com/l/_dVuq09Qkxo0A


Watch Video Solution

10. Chemical formula of phosphonium ion

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

PH3

P2H6

PH
+

4

P2H4

https://dl.doubtnut.com/l/_dVuq09Qkxo0A
https://dl.doubtnut.com/l/_jiU8iImwbG7y


11. In nitrogen molecule, the two atoms of nitrogen are

joined by

A. One sigma bond and one pi bond

B. Two sigma bonds and one pi bond

C. One sigma bond and two pi bonds

D. Three sigma bonds

Answer: 3

Watch Video Solution

12. The chemical inertness of nitrogen is due to

https://dl.doubtnut.com/l/_oT1fDwkNVmoh
https://dl.doubtnut.com/l/_WacBBW1fLNJI


A. half-�lled '2p' orbitals of Nitrogen

B. high bond dissociation energy

C. completely �lled d-orbitals

D. its gaseous nature

Answer: 2

Watch Video Solution

13. The maximum covalency of nitrogen is

A. 2

B. 3

C. 4

https://dl.doubtnut.com/l/_WacBBW1fLNJI
https://dl.doubtnut.com/l/_YQEPdRqkQpP3


D. 5

Answer: 3

Watch Video Solution

14. The VA group element which exhibits wide range of

oxidation states is 

A. P

B. As

C. Bi

D. N

https://dl.doubtnut.com/l/_YQEPdRqkQpP3
https://dl.doubtnut.com/l/_2R9l7T7pTZ5v


Answer: 4

Watch Video Solution

15. The oxidation state of nitrogen in hydrazine is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

−1

−2

+1

+2

https://dl.doubtnut.com/l/_2R9l7T7pTZ5v
https://dl.doubtnut.com/l/_WsGvevpK1rXt


16. The wrong statement in the following is

A. Pure  is prepared by thermal decomposition of

barium azide

B.  exists in two stable isotopic forms  and 

C. Liquid dinitrogen has boiling point 

D. Liquid dinitrogen is used in Cryosurgery

Answer: 3

Watch Video Solution

N2

N2 N 14

N 15

77.20C

https://dl.doubtnut.com/l/_05HDOJP2tB4o


17. Which of the following graph represents melting

points of the group - 15 elements is

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_HHWtr1N0VTBo


Answer: 3

Watch Video Solution

18. Which of the following is a wrong statement ?

A. Catenation ability is maximum for phosphorus

among VA elements

B. White phosphorus is most reactive due to bond

angle strain

C. The chemical inertness of nitrogen is due to bond

dissociation energy

https://dl.doubtnut.com/l/_HHWtr1N0VTBo
https://dl.doubtnut.com/l/_Ohl2ZMDjE7pG


D. The VA elements having more number of

allotropes is P

Answer: All are correct

Watch Video Solution

19. The stable oxidation state of Bismuth is

A. 

B. 

C. 

D. 

+1

+5

−3

+3

https://dl.doubtnut.com/l/_Ohl2ZMDjE7pG
https://dl.doubtnut.com/l/_k1WWPWfxQVfe


Answer: 4

Watch Video Solution

20.  

The correct match is

A. 

B. 

C. 

D. 

A B C D

3 1 2 4

A B C D

5 2 3 4

A B C D

1 2 3 4

A B C D

4 3 2 5

https://dl.doubtnut.com/l/_k1WWPWfxQVfe
https://dl.doubtnut.com/l/_0F5sQxSi3SU9


Answer: 1

Watch Video Solution

21. The atomicity of white Phosphorous is ‘x' and the

 bond angle in the molecule is 'y'. What are

'x' and 'y' ?

A. 

B. 

C. 

D. 

Answer: 2

P − P̂ − P

x = 4, y = 90∘

x = 4, y = 60∘

x = 3, y = 120∘

x = 2, y = 180∘

https://dl.doubtnut.com/l/_0F5sQxSi3SU9
https://dl.doubtnut.com/l/_e4DsrYI1awXK


Watch Video Solution

22. Which of the following elements is most metallic?

A. P

B. As

C. Sb

D. Bi

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_e4DsrYI1awXK
https://dl.doubtnut.com/l/_gYDuSqidemOC


23. Very pure  can be obtained by

A. Thermal decomposition of ammonium

dichromate

B. Treating aqueous solution of  and

C. Liquifaction and fractional distillation of liquid air

D. Thermal decomposition of sodium azide

Answer: 4

Watch Video Solution

N2

NH4Cl

NANO2

https://dl.doubtnut.com/l/_XijYzeJisDrL


24. Thermally more stable hydride is

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

NH3

PH3

AsH3

BiH3

25. Which one of the following statements is correct

with respect to basic character?

https://dl.doubtnut.com/l/_Iy3VdDyvsrzE
https://dl.doubtnut.com/l/_VVJOobNnHhhg


A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

PH3 > P (CH3)3

PH3 = NH3

PH3 > NH3

P (CH3)3 > PH3

26. The hydride with more basic nature is

A. 

B. 

C. 

PH3

NH3

BiH3

https://dl.doubtnut.com/l/_VVJOobNnHhhg
https://dl.doubtnut.com/l/_t7Cg3ejje7Kp


D. 

Answer: 2

Watch Video Solution

AsH3

27. A stronger reducing agent is

A. 

B. 

C. 

D. 

Answer: 4

NH3

PH3

SbH3

BiH3

https://dl.doubtnut.com/l/_t7Cg3ejje7Kp
https://dl.doubtnut.com/l/_3azbIjPHvBBG


Watch Video Solution

28. The shape and bond angle of ammonia are

A. Tetrahedral and 

B. Tetrahedral and 

C. Pyramidal and 

D. Pyramidal and 

Answer: 3

Watch Video Solution

1090281

1070481

1070181

1090281

29. More volatile hydride is

https://dl.doubtnut.com/l/_3azbIjPHvBBG
https://dl.doubtnut.com/l/_8HsDbZFNYvks
https://dl.doubtnut.com/l/_gHZyByUa6e3k


A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

PH3

NH3

BiH3

AsH3

30. VA group hydrides are Lewis bases due to the

presence of

A. unpaired electrons

B. high electron a�nity values

https://dl.doubtnut.com/l/_gHZyByUa6e3k
https://dl.doubtnut.com/l/_nic6wKqH80zr


C. low electronegativity

D. lone pair of electrons

Answer: 4

Watch Video Solution

31. The correct order of reducing abilities of VA group

hydrides is 

A. 

B. 

C. 

D. 

NH3 < PH3 < AsH3 < SbH3 < BiH3

NH3 > PH3 > AsH3 > SbH3 > BiH3

NH3 < PH3 < AsH3 > SbH3 > BiH3

SbH3 > BiH3 > AsH3 > NH3 > PH3

https://dl.doubtnut.com/l/_nic6wKqH80zr
https://dl.doubtnut.com/l/_xoHxQgSMIO9O


Answer: 1

Watch Video Solution

32. Which is in the decreasing order of boiling points of

hydrides? 

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

NH3 > PH3 > AsH3 > SbH3

SbH3 > AsH3 > PH3 > NH3

PH3 > NH3 > AsH3 > SbH3

SbH3 > NH3 > AsH3 > PH3

https://dl.doubtnut.com/l/_xoHxQgSMIO9O
https://dl.doubtnut.com/l/_ftdT5202kKIV


33. Acidic hydride of nitrogen is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

NH3

N2H4

N2H2

N3H

https://dl.doubtnut.com/l/_ftdT5202kKIV
https://dl.doubtnut.com/l/_pA0Lv3Qf7rbE


34. In Ostwald's process, nitric oxide is prepared by the

oxidation of 

A. 

B. 

C. Air

D. Nitrous oxide

Answer: 1

Watch Video Solution

NH3

N2

35. Which of the following oxides of nitrogen is the

anhydride of nitrous acid?

https://dl.doubtnut.com/l/_CisNcr6JjRFk
https://dl.doubtnut.com/l/_4nshlS6VGFoW


A. NO

B. 

C. 

D. 

Answer: 2

Watch Video Solution

N2O3

N2O4

N2O5

36. Which of the following exists as dimer

A. 

B. 

C. 

N2O5

N2O

P2O3

https://dl.doubtnut.com/l/_4nshlS6VGFoW
https://dl.doubtnut.com/l/_zj6Sb5MpnGIJ


D. 

Answer: 3

Watch Video Solution

Bi2O3

37. The basic oxide among the following is

A. 

B. 

C. 

D. 

Answer: 4

N2O3

As2O3

Sb2O3

Bi2O3

https://dl.doubtnut.com/l/_zj6Sb5MpnGIJ
https://dl.doubtnut.com/l/_GqdRqVVdnBL7


Watch Video Solution

38. Paramagnetic oxide is

A. 

B. 

C. NO

D. 

Answer: 3

Watch Video Solution

N2O

N2O3

N2O4

https://dl.doubtnut.com/l/_GqdRqVVdnBL7
https://dl.doubtnut.com/l/_QOMpgLmZwLZc


39. The oxide of nitrogen existing in the solid state at

room temperature is

A. NO

B. 

C. 

D. 

Answer: 4

Watch Video Solution

NO2

N2O3

N2O5

40. The neutral oxide of nitrogen is 

https://dl.doubtnut.com/l/_fWu5XWkM9e21
https://dl.doubtnut.com/l/_CyMmJAyXsqWv


A. NO

B. 

C. 

D. Both 1 and 2

Answer: 4

Watch Video Solution

N2O

NO2

41. The sesquioxide of nitrogen is

A. 

B. NO

C. 

N2O

N2O3

https://dl.doubtnut.com/l/_CyMmJAyXsqWv
https://dl.doubtnut.com/l/_6kSkJNKjBZvk


D. 

Answer: 3

Watch Video Solution

N2O5

42. Which is a mixed anhydride?

A. 

B. 

C. 

D. 

Answer: 1

NO2

N2O3

N2O5

N2O

https://dl.doubtnut.com/l/_6kSkJNKjBZvk
https://dl.doubtnut.com/l/_ENKaQvDkfCdd


Watch Video Solution

43. Chemical formula of laughing gas is

A. 

B. NO

C. 

D. 

Answer: 1

Watch Video Solution

N2O

N2O3

N2O5

44. Ammonium nitrate on heating gives

https://dl.doubtnut.com/l/_ENKaQvDkfCdd
https://dl.doubtnut.com/l/_5E9YniZmIJK2
https://dl.doubtnut.com/l/_ShaGHGrorVvO


A. NO

B. 

C. 

D. 

Answer: 3

Watch Video Solution

N2

N2O

N2O4

45. Trihalide which does not undergo hydrolysis easily

is

A. 

B. 

NCl3

PCl3

https://dl.doubtnut.com/l/_ShaGHGrorVvO
https://dl.doubtnut.com/l/_9kY8fjV6f2Yz


C. 

D. 

Answer: 3

Watch Video Solution

PF3

PBr3

46.  is the anhydride of the following

A. 

B. 

C. 

D. 

P4O6

H3PO2

H3PO3

H3PO4

H3PO5

https://dl.doubtnut.com/l/_9kY8fjV6f2Yz
https://dl.doubtnut.com/l/_Vzy1KZwYWecm


Answer: 2

Watch Video Solution

47.  is the anhydride of the following 

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

P4O10

H3PO2

H3PO3

H3PO4

H3PO5

https://dl.doubtnut.com/l/_Vzy1KZwYWecm
https://dl.doubtnut.com/l/_cOAFRSO58U9j


48.   

The correct match is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

A B C D

4 2 3 1

A B C D

1 3 2 5

A B C D

4 5 2 1

A B C D

3 4 1 5

https://dl.doubtnut.com/l/_TZ908OGTnCNy


49. Two oxides of nitrogen, NO and  react together

at 253 K and form a compound of nitrongen, X. X reacts

with water to yield another compound of nitrogen Y.

the shape of the anion of Y molecule is

A. Tetrahedral

B. Angular

C. Square planar

D. Pyramidal

Answer: 2

Watch Video Solution

NO2

https://dl.doubtnut.com/l/_BUDYfh72LRjW


50. Gases liberated when Cu and Zn react with dil.

 separately

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

HNO3

NO, NO2

N2O, NO2

NO, N2O

NO2, N2O

51. Meta phosphoric acid is chemically

https://dl.doubtnut.com/l/_9xwbXOE6Tkye
https://dl.doubtnut.com/l/_vZe6QHmipmhd


A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

H3PO4

HPO3

H4P2O6

H3PO2

52. Which one of the following elements does not form

the compound .(M = element of group VA)?

A. P

B. Sb

M4O10

https://dl.doubtnut.com/l/_vZe6QHmipmhd
https://dl.doubtnut.com/l/_KvUBDUtUTr1k


C. As

D. Bi

Answer: 4

Watch Video Solution

53. The number of Oxygen atoms present around

Nitrogen in  is

A. 2

B. 1

C. 3

D. 4

N2O5

https://dl.doubtnut.com/l/_KvUBDUtUTr1k
https://dl.doubtnut.com/l/_AmUC26XqQ2El


Answer: 3

Watch Video Solution

54. Which does not form a Pentahalide?

A. P

B. As

C. Sb

D. N

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_AmUC26XqQ2El
https://dl.doubtnut.com/l/_R68VTGrjzHJ3


55. In case of nitrogen,  is possible but not 

while in case phosphrous,  as well as  are

possible. It is due to

A. Availability of vacant d orbitals in P but not in N

B. Lower electronegativity of P than N

C. Lower tendency of H-bond formation in P than N

D. Occurrence of P is solid while N in gaseous state

at room temperature

Answer: 1

Watch Video Solution

NCl3 NCl5

PCl3 PCl5

https://dl.doubtnut.com/l/_pPGYqXqwY7vv
https://dl.doubtnut.com/l/_5BWDMP89fHMT


56.  on hydrolysis gives

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

PCI5

H3PO3

H3PO4

H3PO2

H3PO5

57. Bismuth forms the only pentahalide with the

halogen

https://dl.doubtnut.com/l/_5BWDMP89fHMT
https://dl.doubtnut.com/l/_B3vHWuJCk1jh


A. Bromine

B. Fluorine

C. Chlorine

D. Iodine

Answer: 2

Watch Video Solution

58.  on hydrolysis gives

A. 

B. 

C. 

PCI3

H3PO2

H3PO3

HCl

https://dl.doubtnut.com/l/_B3vHWuJCk1jh
https://dl.doubtnut.com/l/_pNkajPlQvk6L


D. Both (2) and (3)

Answer: 4

Watch Video Solution

59. The ease of hydrolysis of trichlorides of group - 15

elements decrease in the order

A. 

B. 

C. 

D. 

NCl3 > PCl3 > AsCl3 > SbCl3 > BiCl3

PCl3 > NCl3 > AsCl3 > SbCl3 > BiCl3

AsCl3 > NCl3 > PCl3 > SbCl3 > BiCl3

SbCl3 > BiCl3 > PCl3 > NCl3 > AsCl3

https://dl.doubtnut.com/l/_pNkajPlQvk6L
https://dl.doubtnut.com/l/_WwSVggvq4lqB


Answer: 1

Watch Video Solution

60. The equatin and axial P-Cl bond length (in pm)

respectively in  are

A. 202, 240

B. 240, 202

C. 200, 400

D. 200, 410

Answer: 2

Watch Video Solution

PCl5

https://dl.doubtnut.com/l/_WwSVggvq4lqB
https://dl.doubtnut.com/l/_kkIV4FDjJ3zH


61. A tribasic acid with peroxy bond is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

H3PO2

H3PO3

H3PO4

H3PO5

https://dl.doubtnut.com/l/_kkIV4FDjJ3zH
https://dl.doubtnut.com/l/_TiHRPvbPUHvR


62. The starting material used for the manufacture of

 by Ostwald process is

A. Ammonia and 

B. Ammonia and air

C. Air only

D. Ammonia and nitrogen

Answer: 2

Watch Video Solution

HNO3

N2O

63. Which pair of oxyacids of phosphorus contains 'P-H'

bonds ?

https://dl.doubtnut.com/l/_IoiTM0O4M8YP
https://dl.doubtnut.com/l/_e5XinsT4fGEv


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

H3PO4, H3PO3

H3PO5, H4P2O7

H3PO3, H3PO2

H3PO2, HPO3

64. Which of the following is an acidic salt ?

A. 

B. 

C. 

NaH2PO2

NaH2PO3

Na2HPO3

https://dl.doubtnut.com/l/_e5XinsT4fGEv
https://dl.doubtnut.com/l/_IHpcgqBRmqhq


D. 

Answer: 2

Watch Video Solution

Na3PO4

65. Anhydride of pyrophosphoric acid is

A. 

B. 

C. 

D. 

Answer: 2

P4O6

P4O10

P2O4

P2O3

https://dl.doubtnut.com/l/_IHpcgqBRmqhq
https://dl.doubtnut.com/l/_d8l8dZuBSZ5f


Watch Video Solution

66. Anhydride of orthophosphoric acid is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

P4O6

P4O10

P2O4

P2O2

67. Oxidation state of phosphorus is least in

https://dl.doubtnut.com/l/_d8l8dZuBSZ5f
https://dl.doubtnut.com/l/_hpJSlwHg60kU
https://dl.doubtnut.com/l/_qvRGTTJ0l8zF


A. Hypophosphoric acid

B. Hypophosphorus acid

C. Metaphosphoric acid

D. Pyrophosphoric acid

Answer: 2

Watch Video Solution

68. The following is a primary phosphate ion 

A. 

B. 

C. 

H2PO
2 −
4

H2PO
−
3

H2PO
−
4

https://dl.doubtnut.com/l/_qvRGTTJ0l8zF
https://dl.doubtnut.com/l/_0da08UGUyoWN


D. 

Answer: 3

Watch Video Solution

PO
3 −
4

69. P-P linkage is present in

A. Pyrophosphoric acid

B. Hypophosphoric acid

C. Peroxy phosphoric acid

D. Metaphosphoric acid

Answer: 2

https://dl.doubtnut.com/l/_0da08UGUyoWN
https://dl.doubtnut.com/l/_9AL6SmTSxdX6


Watch Video Solution

70. The existance of following ions have no evidence

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

H2PO
−
4

HPO
− 2
4

PO3 −
3

PO
− 3
4

71. Salt of the following is used as a water softner

https://dl.doubtnut.com/l/_9AL6SmTSxdX6
https://dl.doubtnut.com/l/_DuUPesb5PCRV
https://dl.doubtnut.com/l/_mrjFJ634Tlh9


A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

H4P2O6

H4P2O7

HPO3

HPO2

72. Covalency of phosphorus has a maximum value

A. 6

B. 5

C. 4

https://dl.doubtnut.com/l/_mrjFJ634Tlh9
https://dl.doubtnut.com/l/_pHyrQQ7Oncj4


D. 3

Answer: 2

Watch Video Solution

73. Basicity of orthophosphoric acid is 

A. 2

B. 3

C. 4

D. 5

Answer: 2

https://dl.doubtnut.com/l/_pHyrQQ7Oncj4
https://dl.doubtnut.com/l/_Aaq62Owo22Kl


Watch Video Solution

74. The intermediate product formed when  is

prepared form urea is

A. Ammonium bicarbonate

B. Ammonium carbonate

C. Ammonium nitrate

D. Ammonium nitrite

Answer: 2

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_Aaq62Owo22Kl
https://dl.doubtnut.com/l/_aF4UANwRc78f


75. The catalyst used in the manufacture of ammonia by

Haber's process is

A. 

B. Fe

C. Ni

D. Co

Answer: 2

Watch Video Solution

V2O5

76. Which of the following compound ist not used as

fertilizer

https://dl.doubtnut.com/l/_lQm5YuvwfTnd
https://dl.doubtnut.com/l/_YROoqXHuu1sS


A. Ammonium sulphate

B. Urea

C. Ammonium phosphate

D. Calcium phosphate

Answer: 4

Watch Video Solution

77. Which of the following reactioins yield elementary

gases like  as the byproducts? 

I)   

II)   

III) 

N2, H2, O2

2NH3 + 2Na →

8NH3 + 3Cl2 →

2Pb(NO3)2

Δ
−−→

https://dl.doubtnut.com/l/_YROoqXHuu1sS
https://dl.doubtnut.com/l/_4k8FCMav8woz


A. I and II only

B. II and III only

C. I and III only

D. All of these

Answer: 4

Watch Video Solution

78. In the Haber's process nitrogen chemically combines

with

A. Oxygen

B. Iron

https://dl.doubtnut.com/l/_4k8FCMav8woz
https://dl.doubtnut.com/l/_9ENoeHX2VhDj


C. Ammonia

D. Hydrogen

Answer: 4

Watch Video Solution

79. In the preparation of  by Ostwald process

ammonia is

A. reduced

B. oxidised

C. reduced and oxidised

D. hydrolysed

HNO3

https://dl.doubtnut.com/l/_9ENoeHX2VhDj
https://dl.doubtnut.com/l/_hOZs8aP9iYXo


Answer: 2

Watch Video Solution

80.  on heating with NaOH liberates

A. NaCl

B. 

C. HCl

D. NaOCl

Answer: 2

Watch Video Solution

NH4CI

NH3

https://dl.doubtnut.com/l/_hOZs8aP9iYXo
https://dl.doubtnut.com/l/_yO9HFTuzr9q0


81. Aqueous NaOH reacts with white Phospho rous to

form Phosphine and 

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

NaH2PO2

P2O5

Na3PO3

P2O3

82. Ammonia gas is dried over

https://dl.doubtnut.com/l/_w0RxCUQb3QYe
https://dl.doubtnut.com/l/_E6y6UL64CkqP


A. Quick lime

B. Conc 

C. 

D. HCl

Answer: 1

Watch Video Solution

H2SO4

P2O5

83. Which of the following is used as refrigerant

A. Liquid 

B. 

C. 

NH3

C2H5Cl

CCl2F2

https://dl.doubtnut.com/l/_E6y6UL64CkqP
https://dl.doubtnut.com/l/_2YdfLOVLB9EM


D. All

Answer: 4

Watch Video Solution

84. The catalyst used in Haber's process is

A. Fe

B. 

C. 

D. 

Answer: 1

Al2O3

CaCl2

NH3

https://dl.doubtnut.com/l/_2YdfLOVLB9EM
https://dl.doubtnut.com/l/_ycmRK97VurT1


Watch Video Solution

85. A metal nitride on hydrolysis with steam gives

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

Cl2

NH3

O2

CO2

86. Catalyst in the Ostwald's process is

https://dl.doubtnut.com/l/_ycmRK97VurT1
https://dl.doubtnut.com/l/_Y803zJqaf6GL
https://dl.doubtnut.com/l/_q6TcONB5pkft


A. Pt

B. Fe

C. 

D. Ni

Answer: 1

Watch Video Solution

V2O5

87. Moles of oxygen that can oxidise on mole of  to

A. 1

B. 1.25

NH3

NO

https://dl.doubtnut.com/l/_q6TcONB5pkft
https://dl.doubtnut.com/l/_mPNO1cOhiKU7


C. 2.5

D. 5

Answer: 2

Watch Video Solution

88. Which of the following is used in pyro-techniques 

A. 

B. 

C. 

D. 

NH3

HNO3

PH3

H3PO4

https://dl.doubtnut.com/l/_mPNO1cOhiKU7
https://dl.doubtnut.com/l/_1GMjIWIdSvBH


Answer: 2

Watch Video Solution

89. Percentage of nitric acid obtained in Ostwald's

process is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

51 %

68 %

74 %

82 %

https://dl.doubtnut.com/l/_1GMjIWIdSvBH
https://dl.doubtnut.com/l/_26SiX26Qpdv7


90.  

The correct match is

A. A-5, B-1, C-2, D-3

B. A-4, B-1, C-2, D-5

C. A-4, B-1, C-5, D-2

D. A-5, B-3, C-2, D-1

Answer: 2

https://dl.doubtnut.com/l/_26SiX26Qpdv7
https://dl.doubtnut.com/l/_VtJhx2ytnheA


Objective Exercise - 2

Watch Video Solution

1. In which of the following reaction  is not obtained?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

N2

NH4Cl + NaNO2
Δ

−−→

NH4Cl + NaNO3
Δ

−−→

(NH4)2Cr2O7
Δ

−−→

Ba(N3)2

Δ
−−→

https://dl.doubtnut.com/l/_VtJhx2ytnheA
https://dl.doubtnut.com/l/_sMt0L6WxigwC


2. The shape and bond angle of white Phosphorous

molecules is

A. Linear and 

B. Trigonal planar and 

C. Tetrahedral and 

D. Tetrahedral and 

Answer: 4

Watch Video Solution

1800

1200

1090281

600

3. In the statements regarding  molecule  

I) The oxidation state is zero 

P4

https://dl.doubtnut.com/l/_TftkEbmDwH4w
https://dl.doubtnut.com/l/_x9tNBe3ngaBV


II) The covalency is 4 

  III) The  bond angle   

  The correct combination is

A. Only III is correct

B. I & III are correct

C. All are correct

D. I and II are correct

Answer: 2

Watch Video Solution

P − P̂ 60∘

4. The elements present in Fluorapatite are

https://dl.doubtnut.com/l/_x9tNBe3ngaBV
https://dl.doubtnut.com/l/_osmtEVW1Wrbw


A. Ca, N & O only

B. Ca & P only

C. Ca, P, F, O

D. Ca, N, O, F

Answer: 3

Watch Video Solution

5. Mole fraction of nitrogen in air is

A. 0.14

B. 0.28

C. 0.5

https://dl.doubtnut.com/l/_osmtEVW1Wrbw
https://dl.doubtnut.com/l/_IsE6QXY9CF6u


D. 0.78

Answer: 4

Watch Video Solution

6. Bond energy of N-N is x kJ . Then bond energy

of  is

A. 

B. 

C. 

D. 

mol − 1

N ≡ N

x kJmol − 1

< 3x  kJmol − 1

3x kJmol − 1

> 3x kJmol − 1

https://dl.doubtnut.com/l/_IsE6QXY9CF6u
https://dl.doubtnut.com/l/_vyq6PKrbyHsZ


Answer: 2

Watch Video Solution

7. White phosphorus molecule  doesn't have

A. Six P-P single bonds

B. Four P-P single bonds only

C. Four lone pairs of electrons.

D. PPP angle of 

Answer: 2

Watch Video Solution

(P4)

60∘

https://dl.doubtnut.com/l/_vyq6PKrbyHsZ
https://dl.doubtnut.com/l/_YPZJSRcjkjwA


8. The following statements are about VA group

elements: 

i) As and Sb are semimetals 

ii) Only Bi is a metal 

iii)  is nonmetal but  is metal 

The correct combination is

A. all are correct

B. only i is correct

C. i and ii are correct

D. i & iii are correct

Answer: 3

Watch Video Solution

N2 P4

https://dl.doubtnut.com/l/_TxPI92dD1u57


9. One mole of magnesium nitride on reaction with an

excess of water gives

A. One mole of ammonia

B. One mole of nitric acid

C. Two moles of ammonia

D. Two moles of nitric acid

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_TxPI92dD1u57
https://dl.doubtnut.com/l/_M2sxsYUxozMm


10. The three important oxidation states of

phosphorous are

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

−3, + 3 and + 5

−3, + 3 and − 5

−3, + 4 and − 4

−3, + 3 and + 4

11. Among the  group elements, as we move from

nitrogen to bismuth, the pentavallency becomes less

15th

https://dl.doubtnut.com/l/_FFilnnCY3ehI
https://dl.doubtnut.com/l/_pkzkhJ2yjNyT


pronounced and trivalency becomes more pronounced

due to

A. Non metallic character

B. Inert pair e�ect

C. High electronegativity

D. Large ionization energy

Answer: 2

Watch Video Solution

12. . If X is a solid and Y is

a gas, the correct statement is

Al2O3 + C + N2

Δ
−−→ X + Y

https://dl.doubtnut.com/l/_pkzkhJ2yjNyT
https://dl.doubtnut.com/l/_HHhh7mDD0424


A. Both X and Y are combustable

B. X and hydrolysis gives ammonia

C. Y on reduction gives metal

D. Both X and Y are acidic

Answer: 2

Watch Video Solution

13. Li and Mg both combine with  at high temp. This

suggest that the two metals have

A. Horizontal relationship

B. Vertical relationship

N2

https://dl.doubtnut.com/l/_HHhh7mDD0424
https://dl.doubtnut.com/l/_DHxHKtdClnm0


C. Diagonal relationship

D. No relationship

Answer: 3

Watch Video Solution

14. Freezing of food articles can be done using

A. Solid  at 77K

B. Liquid  at 77K

C. Liquid  at 298K

D. Gaseous  at 298K

N2

N2

N2

N2

https://dl.doubtnut.com/l/_DHxHKtdClnm0
https://dl.doubtnut.com/l/_O22bOxJ4wN5X


Answer: 2

Watch Video Solution

15. The correct arrangement of following acids of

phosphorus in the increasing order of oxidation state

of phosphorous is

A. Hypophosphoric acid  orthophosphorous acid

 pyrophosphoric acid

B. Hypophosphorous acid pyrophosphoric acid

orthophosphorous acid

<

<

<

<

https://dl.doubtnut.com/l/_O22bOxJ4wN5X
https://dl.doubtnut.com/l/_1wdAsIOeF5rD


C. Pyrophosphoric acid  hypophosphrous acid 

 orthophosphorous acid

D. Pyrophosphoric acid  orthophosphorous acid 

 hypophosphorous acid

Answer: 1

Watch Video Solution

<

<

<

<

16. Nitrogen has unique ability to form 

multiple bonds with itself and with other elements due

to

A. Small size and low electronegativity

Pπ − Pπ

https://dl.doubtnut.com/l/_1wdAsIOeF5rD
https://dl.doubtnut.com/l/_3LtIWcWybFT0


B. Large size and high electronegativity

C. Large size and low electronegativity

D. Small size and high electronegativity

Answer: 2

Watch Video Solution

17. Most basic among the following

A. 

B. 

C. 

D. 

NH3

N2H4

PH3

P2H4

https://dl.doubtnut.com/l/_3LtIWcWybFT0
https://dl.doubtnut.com/l/_srKkdWlPW6mI


Answer: 1

Watch Video Solution

18.  has a much higher boiling point than  

because

A.  has a larger molecular weight

B.  undergoes umbrella inversion

C.  forms hydrogen bond

D.  contains ionic bonds whereas  contains

covalent bonds

Answer: 3

NH3 PH3

NH3

NH3

NH3

NH3 PH3

https://dl.doubtnut.com/l/_srKkdWlPW6mI
https://dl.doubtnut.com/l/_kCq4nAXJ4rye


Watch Video Solution

19. The bond energies  of 

 respectively ? 

A. 247, 318 and 389

B. 247, 389 and 318

C. 318, 389 and 247

D. 318, 247 and 389

Answer: 4

Watch Video Solution

(in KJ mole− 1)

P − H, As − H and N − H

https://dl.doubtnut.com/l/_kCq4nAXJ4rye
https://dl.doubtnut.com/l/_hK5c7YNbtQyX
https://dl.doubtnut.com/l/_orJoypeALdNi


20. What is the order of basic nature of hydrides of VA

group elements?

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

AsH3 > SbH3 > PH3 > NH3

NH3 > SbH3 > PH3 > AsH3

NH3 > PH3 > AsH3 > SbH3

PH3 > NH3 > SbH3 > AsH3

21. White phosphorous reacts with caustic soda to give

phosphine and sodium hypophosphite. In this reaction

https://dl.doubtnut.com/l/_orJoypeALdNi
https://dl.doubtnut.com/l/_WTZpUMaARwaz


phosphorous undergoes

A. Oxidation

B. Reduction

C. Both

D. None of these

Answer: 3

Watch Video Solution

22. Among the following statement which one is true ?

A.  is less soluble than  in waterNH3 PH3

https://dl.doubtnut.com/l/_WTZpUMaARwaz
https://dl.doubtnut.com/l/_SWSoTZFGwbpI


B.  is stronger base and stronger reducing

agent than 

C.  has higher boiling point than  and has

lower melting point than 

D.  is stronger reducing agnet than  and it

has lower critical temperature than 

Answer: 4

Watch Video Solution

NH3

PH3

NH3 PH3

PH3

PH3 NH3

NH3

23.  is reacted with NaCl at 823K. The

liberated gas is reacted with  to form 

NaHSO4

Ca3P2

https://dl.doubtnut.com/l/_SWSoTZFGwbpI
https://dl.doubtnut.com/l/_VDzqUcs3Jy1e


. Which one of the following is X?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

CaCl2 and X

PH3

PCl5

PCl3

H3PO4

24. The chemical used in Holme's signals are

A. Calcium nitride and calcium carbide

https://dl.doubtnut.com/l/_VDzqUcs3Jy1e
https://dl.doubtnut.com/l/_oPZLVVeSYY9F


B. Magnesium nitride and calcium phosphide

C. Calcium carbide and calcium phosphide

D. Calcium chloride and calcium carbonate

Answer: 3

Watch Video Solution

25. The following are some statements about oxides of

VA group elements  

I)  molecule is linear  

II)  molecule is angular  

III)   molecule is angular  

The correct combination is

N2O

NO2

N2O5

https://dl.doubtnut.com/l/_oPZLVVeSYY9F
https://dl.doubtnut.com/l/_CDrx6CGie04H


A. All are correct

B. I & III are correct

C. II & III are correct

D. I & II are correct

Answer: 4

Watch Video Solution

26. When  is gently heated, an oxide of

Nitrogen is formed. What is the oxidation state of

Nitrogen in this oxide ?

A. 

NH4NO3

+4

https://dl.doubtnut.com/l/_CDrx6CGie04H
https://dl.doubtnut.com/l/_xLbb3g2vIpK0


B. 

C. 

D. 

Answer: 4

Watch Video Solution

+2

+3

+1

27. X' is a neutral oxide. On exposure to air 'X' is

converted to 'Y', which is an acidic oxide. Then 'X' and 'Y'

are

A. 

B. 

N2O, NO

NO, NO2

https://dl.doubtnut.com/l/_xLbb3g2vIpK0
https://dl.doubtnut.com/l/_JPDuI1uatpd3


C. 

D. 

Answer: 2

Watch Video Solution

NO2, NO

NO2, N2O4

28. Of the following, which has three electron bond in

its structure ?

A. Nitrous oxide

B. Nitric oxide

C. Dinitrogen trioxide

D. Nitrogen pentoxide

https://dl.doubtnut.com/l/_JPDuI1uatpd3
https://dl.doubtnut.com/l/_vJlK6YrX9kcv


Answer: 2

Watch Video Solution

29. The number of oxygen atoms bonded to one

phosphorous atom in  is

A. 4

B. 3

C. 6

D. 5

Answer: 1

Watch Video Solution

P4O10

https://dl.doubtnut.com/l/_vJlK6YrX9kcv
https://dl.doubtnut.com/l/_Xd6usr9Vj2qs


30. 

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

A B C D

1 2 3 4

A B C D

3 2 4 1

A B C D

2 5 3 4

A B C D

4 2 1 5

https://dl.doubtnut.com/l/_Xd6usr9Vj2qs
https://dl.doubtnut.com/l/_6X0K8yZT9B3R
https://dl.doubtnut.com/l/_8oPbY4grFdp3


31. The arrangement of oxygen atoms around each

phosphorous in 

A. Pyramidal

B. Octahedral

C. Tetrahedral

D. Square planar

Answer: 2

Watch Video Solution

P4O10

32. Nitrogen dioxide

https://dl.doubtnut.com/l/_8oPbY4grFdp3
https://dl.doubtnut.com/l/_xe5ZUorKhPNL


A. dissolves in water forming nitric acid

B. does not dissolve in water

C. dissolves in water to form nitrous acid and gives

o� oxygen

D. dissolves in water to form a mixture of nitrous

and nitric acids

Answer: 4

Watch Video Solution

33. Which oxide does not act as a reducing agent ?

A. NO

https://dl.doubtnut.com/l/_xe5ZUorKhPNL
https://dl.doubtnut.com/l/_F3JiCv4iXgNx


B. 

C. 

D. 

Answer: 4

Watch Video Solution

NO2

N2O

N2O5

34. A wrong statement related to the oxides of

nitrogen.

A. Oxides of nitrogen are generally stable

B. Nitrogen sesquioxide is regarded as a 1 : 1

mixture of nitrogendioxide and nitric oxide

https://dl.doubtnut.com/l/_F3JiCv4iXgNx
https://dl.doubtnut.com/l/_VRaQHGSWCwLf


C. Nitrous oxide as well as nitric oxides are examples

of neutral oxides

D. . Both oxides represented here

are diamagnetic

Answer: 4

Watch Video Solution

2NO2 ⇔ N2O4

35. Atomicity of dimeric phosphorous pentoxide is 'x'

and the number of shared electron pairs is 'y'. Then 

  a)y − x = 6      b)2x = y + 8

c)10x − 7y = 0

https://dl.doubtnut.com/l/_VRaQHGSWCwLf
https://dl.doubtnut.com/l/_bkcw1JtabhCJ


A. Only 'a' is correct

B. Only 'b' is correct

C. Only 'c' is correct

D. All the above are correct

Answer: 4

Watch Video Solution

36. Amongst the trihalides of nitrogen which one has

the highest dipole moment?

A. 

B. 

NF3

NI3

https://dl.doubtnut.com/l/_bkcw1JtabhCJ
https://dl.doubtnut.com/l/_skMJZIkpKzn9


C. 

D. 

Answer: 2

Watch Video Solution

NCl3

NBr3

37. Aqueous solution of  conducts electricity due

to the presence of

A. 

B. 

C. 

D. 

PCl3

HOCl

HCl

H3PO4

H2O

https://dl.doubtnut.com/l/_skMJZIkpKzn9
https://dl.doubtnut.com/l/_ueM82qLKHduf


Answer: 2

Watch Video Solution

38. The statement that is NOT correct is

A. In solid state  exists as 

B. Phosphorous acid on heating disproportionates

to give metaphosphoric acid and phosphine

C. Hypophosphorous acid reduces silver nitrate to

silver

D. Pure phosphine is non-in�ammable.

Answer: 2

PCl5 [PCl4] + [PCl6] −

https://dl.doubtnut.com/l/_ueM82qLKHduf
https://dl.doubtnut.com/l/_CdBktH0jETit


Watch Video Solution

39. In solid state , exists as ionic solid i.e., 

 shapes of  are respectively

A. X-ocatahedral, Y- trigonal bipyramidal

B. X-tetrahedral, Y-plane trigonal

C. X-square planar, Y-octahedral

D. X-tetrahedral, Y-octahedral

Answer: 4

Watch Video Solution

PCl5

[X] + , [Y ] −
X + and Y −

https://dl.doubtnut.com/l/_CdBktH0jETit
https://dl.doubtnut.com/l/_gRHI6eh7k4wa
https://dl.doubtnut.com/l/_1Jq6mx30lZJV


40. Identify A and B in the following chemical reactions. 

  

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

PCl5 + H2O → A + HCl

A + H2O → B + HCl

PCl3, H3PO4

POCl3, H3PO3

PCl3, H3PO3

POCl3, H3PO4

https://dl.doubtnut.com/l/_1Jq6mx30lZJV


41. . The wrong statement

regarding the above equation is

A. Hybridisation of P changes from  to 

B. Oxidation number of P changes from +5 to +6

C. Covalency P changes from 5 to 6

D. Here  is a Lewis acid

Answer: 2

Watch Video Solution

PCl5 + Cl− → PCl−
6

sp3d sp3d2

PCl5

https://dl.doubtnut.com/l/_lDbAD7J0nyLj


42.   

The correct match is

A. 

B. 

C. 

D. 

Answer: 3

Watch Video Solution

A B C D

1 4 3 2

A B C D

1 2 3 4

A B C D

4 5 1 2

A B C D

2 5 3 1

https://dl.doubtnut.com/l/_1SUqhTDszD2W


43. The relation between x and y 

A. 

B. 

C. 

x > y

x < y

x = y

https://dl.doubtnut.com/l/_hy8OJXn7i5c7


D. 

Answer: 1

Watch Video Solution

y = 2x

44. Which pair of oxyacids of phosphorus contains 'P-H'

bonds ?

A. 

B. 

C. 

D. 

H3PO4, H3PO3

H3PO5, H4P2O7

H3PO3, H3PO2

H3PO2, HPO3

https://dl.doubtnut.com/l/_hy8OJXn7i5c7
https://dl.doubtnut.com/l/_Eei2bvkwm7Tn


Answer: 3

Watch Video Solution

45. Which of the following does not contain P-O-P bond

A. Isohypophosphoric acid

B. Diphosphorous acid

C. Diphosphoric acid

D. Hypophosphoric acid

Answer: 4

Watch Video Solution

https://dl.doubtnut.com/l/_Eei2bvkwm7Tn
https://dl.doubtnut.com/l/_7tz4cnZ9IqzF


46. Which of the following acids possess oxidising,

reducing and complex forming properties?

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

HNO3

H2SO4

HCl

HNO2

47. The number of P-P bonds in cyclotrimeta phosphoric

acid is

https://dl.doubtnut.com/l/_Q2VIqh6TrJnM
https://dl.doubtnut.com/l/_Z7c4YTLLUrCr


A. 3

B. 9

C. 6

D. zero

Answer: 4

Watch Video Solution

48. Two oxides of Nitrogen, NO and NO, react together

at 253K and form a compound of Nitrogen, 'x'. 'x' reacts

with water to yield another compound of Nitrogen, 'y'.

The shape of the anion of 'y' molecule is 

https://dl.doubtnut.com/l/_Z7c4YTLLUrCr
https://dl.doubtnut.com/l/_IuRPU5zQRg3f


A. Tetrahedral

B. Angular

C. Square planar

D. Pyramidal

Answer: 2

Watch Video Solution

49. Oxidation state of  for phophorous is found in

A. 

B. 

C. 

+1

H3PO3

H3PO4

H3PO2

https://dl.doubtnut.com/l/_IuRPU5zQRg3f
https://dl.doubtnut.com/l/_l1rMN9LM2ixa


D. 

Answer: 3

Watch Video Solution

H4P2O7

50. The number of hydroxyl groups in pyrophosphoric

acid is

A. 3

B. 4

C. 5

D. 7

https://dl.doubtnut.com/l/_l1rMN9LM2ixa
https://dl.doubtnut.com/l/_Rp01bXFJZ0Ct


Answer: 2

Watch Video Solution

51.  is the formula for one of the phosphorus

acids. Its name and basicity are respectively

A. phosphorous acid and two

B. hypophosphorous acid and two

C. hypophosphorous acid and one

D. hypophosphoric acid and two

Answer: 3

Watch Video Solution

H3PO2

https://dl.doubtnut.com/l/_Rp01bXFJZ0Ct
https://dl.doubtnut.com/l/_Tf7ldd3vFNbr


52. The acid that forms primary, secondary and tertiary

phosphates is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

H3PO2

H3PO3

HPO3

H3PO4

https://dl.doubtnut.com/l/_Tf7ldd3vFNbr
https://dl.doubtnut.com/l/_y0Ms2jgAO3hy


53. Which of the following is not an acidic salt?

A. 

B. 

C. 

D. 

Answer: 1

Watch Video Solution

NaH2PO2

NaH2PO3

NaH2PO4

Na2HPO4

54. The reducing strength of oxyacid of the

Phosphorous depends on

https://dl.doubtnut.com/l/_2sJPnDywR3XJ
https://dl.doubtnut.com/l/_jJ6MNNQN0duc


A. The number of H-atoms directly attached to P

B. The number of H-atom attached to oxygen atom

C. The number of O- atoms attached to P-atoms

D. The number of P-atoms

Answer: 1

Watch Video Solution

55. Which of the following on heating undergoes

disproportionation

A. 

B. 

H3PO3

H3PO4

https://dl.doubtnut.com/l/_jJ6MNNQN0duc
https://dl.doubtnut.com/l/_91Uh7kVQXCyX


C. 

D. 

Answer: 1

Watch Video Solution

HPO3

H3PO2

56. Nitration mixture is used to genarate

A. 

B. 

C. 

D. 

NO−
2

NO+
3

NO+
2

NO−
3

https://dl.doubtnut.com/l/_91Uh7kVQXCyX
https://dl.doubtnut.com/l/_LHMLWz7PgI6L


Answer: 3

Watch Video Solution

57. The statements regarding oxyacids of phosphorous

are 

i)  molecule is monobasic acid  

ii)  molecule has  bond  

iii)  molecule has  linkage  

The correct combination is

A. all are correct

B. only ii is correct

C. ii & iii are correct

HPO3

H4P2O6 P − P

H4P2O7 P − O − P

https://dl.doubtnut.com/l/_LHMLWz7PgI6L
https://dl.doubtnut.com/l/_wyT4Sb3SX2Zg


D. i & ii are correct

Answer: 1

Watch Video Solution

58. Calgon is

A. Sodium hexa meta phosphate

B. Aluminium hexa meta phosphate

C. Potassium hexa meta phosphate

D. Magnesium exa meta phosphate

Answer: 1

https://dl.doubtnut.com/l/_wyT4Sb3SX2Zg
https://dl.doubtnut.com/l/_ZqWA66DwpVA3


Watch Video Solution

59. Regarding  the wrong statement is

A. It's basicity is three

B. Oxidation state P in it +5

C. It contains O - O linkage

D. It can form a dimer

Answer: 4

Watch Video Solution

H3PO5

https://dl.doubtnut.com/l/_ZqWA66DwpVA3
https://dl.doubtnut.com/l/_Pr8grcQOo5aU


60. Match the following 

A. 

B. 

C. 

D. 

Answer: 2

A B C D

v iv ii i

A B C D

v iv i ii

A B C D

iii iv ii i

A B C D

iv iii i ii

https://dl.doubtnut.com/l/_DdgTHEe6P5Pw


Watch Video Solution

61. The hybridisation of N in 

respectively is

A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

O+
2 , NO−

3 and NH
+

4

sp2, sp3, sp

sp, sp3, sp2

sp, sp2, sp3

sp2, sp, sp3

https://dl.doubtnut.com/l/_DdgTHEe6P5Pw
https://dl.doubtnut.com/l/_vRAxaTWzD8WN


62. 

. 

In this reaction one mole of  is reduced by

A. 32g Zn

B. 64g Zn

C. 128g Zn

D. 26g Zn

Answer: 4

Watch Video Solution

4Zn + 10HNO3 → 4Zn(NO3)2 + NH4NO3 + 3H2O

HNO3

https://dl.doubtnut.com/l/_D5vn1Sw8WyUh


63. Chemical used as oxidiser in rocket fuels and in the

picking of steel is

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

NH3

HNO3

N2

Ba(N3)2

64. One gram atom of zinc can reduce

https://dl.doubtnut.com/l/_1ai0kV3PWriW
https://dl.doubtnut.com/l/_QfeX1roR4jW5


A. 1 mol conc.

B. 2 mol conc.

C. 3 mol conc.

D. 4 mol conc.

Answer: 2

Watch Video Solution

HNO3

HNO3

HNO3

HNO3

65. The oxide involved in the formation of brown ring

for testing nitrate ion

A. 

B. NO

N2O

https://dl.doubtnut.com/l/_QfeX1roR4jW5
https://dl.doubtnut.com/l/_2TsQgpPg18l7


C. 

D. 

Answer: 2

Watch Video Solution

NO2

N2O3

66.  is obtained by the reaction of

A. Cu with dil 

B. Cu with conc. 

C. Zn with dil 

D. Zn with conc.

N2O

HNO3

HNO3

HNO3

HNO3

https://dl.doubtnut.com/l/_2TsQgpPg18l7
https://dl.doubtnut.com/l/_apXjwRxy2N4R


Answer: 3

Watch Video Solution

67. A gas which is used as anaesthetic in dental surgery

is

A. 

B. CO

C. 

D. 

Answer: 3

Watch Video Solution

N2

N2O

NH3

https://dl.doubtnut.com/l/_apXjwRxy2N4R
https://dl.doubtnut.com/l/_F9xDtiVVtAqi


68. Serpeck process may be used to prepare

A. cyanide

B. isocyanide

C. ammonia

D. nitric acid

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_F9xDtiVVtAqi
https://dl.doubtnut.com/l/_ZyiITh3gt08I


69. The cyanide ion,  and  are isoelectronic. But

in contrast to  is chemically inert because of

A. low bond energy

B. absence of bond polarity

C. unsymmetrical electron distribution

D. presence of more number of electrons in bonding

orbitals.

Answer: 2

Watch Video Solution

CN − N2

CN − , N2

https://dl.doubtnut.com/l/_mmokjI9F6pC6


70. Conditions for the formation of  in Haber's

process are

A. High temperature, low pressure

B. Optimum temperature, high pressure

C. High temperature, high pressure

D. Optimum temperature, low pressure

Answer: 2

Watch Video Solution

NH3

71. Conc.  is treated with iron. The metal is

passive because

HNO3

https://dl.doubtnut.com/l/_0GxqNtmPu9iR
https://dl.doubtnut.com/l/_NYZd6T9r35Fg


A. it is a transition metal

B. it forms protective oxide �lm

C. it is reduced

D. it liberates laughing gas

Answer: 2

Watch Video Solution

72. Which one has the highest percentage of nitrogen?

A. Urea

B. CAN

C. Ammonium nitrate

https://dl.doubtnut.com/l/_NYZd6T9r35Fg
https://dl.doubtnut.com/l/_p4P9N5H4jZMN


D. Calcium nitrate

Answer: 1

Watch Video Solution

73. ,  

  

Substances A, B and C of the above sequence of

reactions are

A. 

B. 

C. 

NH3 + O2

Pt
−−→

Δ
A + H2O

A + O2 → B, B + O2 + H2O → C

N2O, NO2 and HNO3

NO, NO2 and HNO3

NO2, NO and HNO3

https://dl.doubtnut.com/l/_p4P9N5H4jZMN
https://dl.doubtnut.com/l/_yMasje4kKJir


D. 

Answer: 2

Watch Video Solution

N2O, NO and HNO3

74. Which one of the following is used to remove

moisture from ammonia?

A. Anhydrous 

B. CaO

C. 

D. Conc. 

CaCl2

P4O10

H2SO4

https://dl.doubtnut.com/l/_yMasje4kKJir
https://dl.doubtnut.com/l/_kJBHf8YfFjFa


Answer: 2

Watch Video Solution

75. When dilute ferrous  salt solution is added

to an aqeous solution containing nitrate  ion

followed by the addition of conc.  forms a

brown colored ring. What is te chemical composition of

the complex that is responsible for this brown colored

ring.

A. 

B. 

C. 

(Fe2 + )

(NO−
3 )

H2SO4

Fe(NO3)2

[Fe(H2O)5(NO)]
2 +

[Fe(H2O)5(NO3)]
+

https://dl.doubtnut.com/l/_kJBHf8YfFjFa
https://dl.doubtnut.com/l/_3560JFjHu0k2


Objective Exercise - 3 (PREVIOUS NEET/AIPMT QUESTIONS)

D. 

Answer: 2

Watch Video Solution

[Fe(H2O)4(NO)(NO3)]
+

1. The electronegativity di�erence between N and F is

greater than that between N and H yet the dipole

moment of  (1.5 D) is larger than that of (0.2D)

This is because

NH3 NF3

https://dl.doubtnut.com/l/_3560JFjHu0k2
https://dl.doubtnut.com/l/_uzYQckoCBJQk


A. In  the atomic dipole and bond dipole are in

the opposite directions whereas in  these are

in the same direction

B. In  as well as in  the atomic dipole and

bond dipole are in the same direction

C. In  the atomic dipole and bond dipole are in

the same direction whereas in  these are in

opposite directions

D. In  are well as in  the atomic dipole and

bond dipole are in opposite directions

Answer: 3

Watch Video Solution

NH3

NF3

NH3 NF3

NH3

NF3

NH3 NF3

https://dl.doubtnut.com/l/_uzYQckoCBJQk


Watch Video Solution

2. In which of the following molecules are all the bonds

are not equal?

A. 

B. 

C. 

D. 

Answer: 2

Watch Video Solution

NF3

ClF3

BF3

AlF3

https://dl.doubtnut.com/l/_uzYQckoCBJQk
https://dl.doubtnut.com/l/_e6mnCWhFheyK


3. How many bridging oxygen atoms are present in

?

A. 6

B. 4

C. 2

D. 5

Answer: 1

Watch Video Solution

P4O10

4. Oxidation state of P in 

are respectively

H4P2O5, H4P2O6, H4P2O7

https://dl.doubtnut.com/l/_vHvM5QgEEP23
https://dl.doubtnut.com/l/_LGWa8V9A7rsD


A. 

B. 

C. 

D. 

Answer: 4

Watch Video Solution

+3, + 5, + 4

+5, + 3, + 4

+5, + 4, + 3

+3, + 4, + 5

5. Which of the following statements is not valid for

oxoacids of phosphorus?

A. Orthophosphoric acid is used in the manufacture

of triple superphosphate.

https://dl.doubtnut.com/l/_LGWa8V9A7rsD
https://dl.doubtnut.com/l/_3JGdVBGW9mG5


B. Hypophosphorous acid is a diprotic acid

C. All oxoacids contain tetrahedral four coordinated

phosphorus

D. All oxoacids contains atleast one P = O unit and

one P - OH group

Answer: 2

Watch Video Solution

6. Strong reducing behaviour of  is due to

A. high electron gain enthalpy of phosphorus

B. high oxidation state of phosphorus

H3PO2

https://dl.doubtnut.com/l/_3JGdVBGW9mG5
https://dl.doubtnut.com/l/_gS21iSzAmLZf


C. presence of two - OH groups and one P-H bond

D. presence of one - OH group and two P-H bonds

Answer: 4

Watch Video Solution

7. The product obtained as a result of a reaction of

nitrogen with  is

A. 

B. 

C. 

D. CaCN

CaC2

CaCN3

Ca2CN

CaCN2

https://dl.doubtnut.com/l/_gS21iSzAmLZf
https://dl.doubtnut.com/l/_2lBB6QdoZSUl


Answer: 3

Watch Video Solution

8. Which is the correct statement for the given acids?

A. Phosphinic acid is a monoprotic acid while

Posphonic acid is a diprotic acid.

B. Phosphinic acid is a diprotic acid while Posphonic

acid is a monoprotic acid.

C. Both are diprotic acids

D. Both are triprotic acids

Answer: 1

https://dl.doubtnut.com/l/_2lBB6QdoZSUl
https://dl.doubtnut.com/l/_Sj8KqRxCbfnM


Objective Exercise - 4 (Assertion (A) & Reason (R ) Type

Questions)

Watch Video Solution

1. (A) :  is more reactive than .  

(R ) :  bonds are relatively weaker than 

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

P4 N2

P − P N ≡ N

https://dl.doubtnut.com/l/_Sj8KqRxCbfnM
https://dl.doubtnut.com/l/_RnPA7vsxvPNK


D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

2. (A)  is called laughing gas  

(R )  causes hysterical laugh.

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

N2O

N2O

https://dl.doubtnut.com/l/_RnPA7vsxvPNK
https://dl.doubtnut.com/l/_VCcfYzimMLSv


D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

3. (A): Nitrogen can form pentahalides 

(R): Nitrogen does not possess vacant d-orbitals in the

valance shell

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

https://dl.doubtnut.com/l/_VCcfYzimMLSv
https://dl.doubtnut.com/l/_rAj4IwMOUcST


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

4. (A)  is dibasic acid and  is tribasic  

(R )  has two replaceable H - atoms and 

has three replaceable H - atoms

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

H3PO3 H3PO4

H3PO3 H3PO4

https://dl.doubtnut.com/l/_rAj4IwMOUcST
https://dl.doubtnut.com/l/_ulHRlhHxYjhj


B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

5. (A) White phosphorous is more reactive than Red P 

(R ) White phosphorous possesses high bond angle

strain of 60∘

https://dl.doubtnut.com/l/_ulHRlhHxYjhj
https://dl.doubtnut.com/l/_exbDhnaslay6


A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

6. (A) The heat of formation of  is -46.1 KJ/mole  

(R )  possess intermolecular hydrogen bonds in

NH3

NH3

https://dl.doubtnut.com/l/_exbDhnaslay6
https://dl.doubtnut.com/l/_dyTjEZdIHqFB


liquid state

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

https://dl.doubtnut.com/l/_dyTjEZdIHqFB


7. (A): Thermal stability of VA group hydrides decreases

from  to   

(R): The dissociation energy of M - H bond! increases

down the group regularly 

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 3

h id l i

NH3 BiH3

https://dl.doubtnut.com/l/_yJsEwWHVq3uW


Watch Video Solution

8. (A) White precipitate of silver chloride gets dissolved

in  solution.  

(R )  reacts with AgCl to form a soluble complex

with formula .

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

NH4OH

NH3

[Ag(NH3)2]Cl

https://dl.doubtnut.com/l/_yJsEwWHVq3uW
https://dl.doubtnut.com/l/_fDCSO69Hc27y


Answer: 1

Watch Video Solution

9. (A) Anhydrous nitric acid can be obtained by

distillation of conc.  with .  

(R )  is a strong acid.

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

HNO3 P4O10

HNO3

https://dl.doubtnut.com/l/_fDCSO69Hc27y
https://dl.doubtnut.com/l/_2dfJ4CGHPIF2


D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

10. (A):  is a stronger acid than .  

(R): There are two nitrogen-oxygen bonds in 

whereas in  there is only one such bond. 

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

HNO3 HNO2

HNO3,

HNO2

https://dl.doubtnut.com/l/_2dfJ4CGHPIF2
https://dl.doubtnut.com/l/_8t56P2npd1v2


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

11. (A):  and  ions are isoelectronic.  

(R): Nitrate ion is planar 

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

NO−
3 CO− 2

3

https://dl.doubtnut.com/l/_8t56P2npd1v2
https://dl.doubtnut.com/l/_F2EOY0BImYJP


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

12. (A) In brown ring test  ion reduce nitrates to

nitric oxide 

(R )  is stabilized by resonance

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

Fe+ 2

NO−
3

https://dl.doubtnut.com/l/_F2EOY0BImYJP
https://dl.doubtnut.com/l/_keEvurTz32rm


B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

13. (A) In , 'P' has two types of P - F bond lengths  

(R ) In , 'P' undergoes  hybridisation with

trigonal bipyramidal structure and possess unequal

bond angles and bond lengths

PF5

PF5 sp3d

https://dl.doubtnut.com/l/_keEvurTz32rm
https://dl.doubtnut.com/l/_fVbvLEaPXxdF


A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

14. (A): Nitrous oxide is called laughing gas. 

(R): Nitrous oxide is a linear molecule.

https://dl.doubtnut.com/l/_fVbvLEaPXxdF
https://dl.doubtnut.com/l/_e8KUUMfuFd5T


A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

15. (A): Nitrogen is unable to show a valency more than

three. 

https://dl.doubtnut.com/l/_e8KUUMfuFd5T
https://dl.doubtnut.com/l/_mTPHs5WghNGh


(R): Nitrogen does not have vacant d-orbitals in its

valence shell. 

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

https://dl.doubtnut.com/l/_mTPHs5WghNGh


16. (A): Central atom usually forms three single and one

double bonds in an oxyacid of phosphorus 

(R): Phosphorus atom usually undergoes 

hybridisation in its oxyacids 

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

h id l i

sp3

https://dl.doubtnut.com/l/_Kt92TnMz2BXe


Watch Video Solution

17. (A): Phosphorus is more reactive element of Group

VA 

(R):  bond is relatively stronger. 

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

N ≡ N

https://dl.doubtnut.com/l/_Kt92TnMz2BXe
https://dl.doubtnut.com/l/_41kdzr4QO8OF


Watch Video Solution

18. (A): Orthophosphoric acid can form two acidic salts

and one normal salt 

(R): Orthophosphoric acid is a tribasic acid

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

https://dl.doubtnut.com/l/_41kdzr4QO8OF
https://dl.doubtnut.com/l/_HkDU80RdiAjI


Answer: 1

Watch Video Solution

19. (A) :  are known, the

pentahalides of nitrogen have not been observed 

(R ) Phosphorous has lower electronegativity than

nitrogen.

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

PF5, PCl5 and PBr3

https://dl.doubtnut.com/l/_HkDU80RdiAjI
https://dl.doubtnut.com/l/_Eg2trV5Kw2oA


D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

20. (A) : Nitrogen has higher ionization energy than

that of oxygen. 

(R ) : Nitrogen atom has smaller atomic size than that

of oxygen.

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

https://dl.doubtnut.com/l/_Eg2trV5Kw2oA
https://dl.doubtnut.com/l/_T7Lg8hBw0ruu


B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 3

Watch Video Solution

21. (A) Dinitrogen is chemically inert 

(R ) Nitrogen has stable half �lled p-subshell

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

https://dl.doubtnut.com/l/_T7Lg8hBw0ruu
https://dl.doubtnut.com/l/_nC2AOqjcv5iQ


B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

22. (A) In  axial  bonds are weaker than

equitorial P-Cl bonds. 

(R ) In  axial P-Cl bonds experience greater

repulsion from equitorial P-Cl bonds than the repulsion

among equitorial P-Cl bonds.

PCl5 P − Cl

PCl5

https://dl.doubtnut.com/l/_nC2AOqjcv5iQ
https://dl.doubtnut.com/l/_xQ8Bvz5Wc955


A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

23. (A) Nitrogen can not form more than three bonds 

(R ) Nitrogen has three valence electrons.

https://dl.doubtnut.com/l/_xQ8Bvz5Wc955
https://dl.doubtnut.com/l/_kYnEWjExBX5F


A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 4

Watch Video Solution

24. (A)  has the lowest boiling point among the VA

group hydrides 

PH3

https://dl.doubtnut.com/l/_kYnEWjExBX5F
https://dl.doubtnut.com/l/_TscjjsJrweBp


(R )  explodes in presence of oxidising agent like 

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

PH3

HNO3

https://dl.doubtnut.com/l/_TscjjsJrweBp


25. (A)  is non-polar, but  is polar  

(R )  has unsymmetrical structure, but  is

symmetrical

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 4

Watch Video Solution

PCl3 PCl5

PCl3 PCl5

https://dl.doubtnut.com/l/_GAPWNsNydfqE


26. (A) Ammonia is least volatile among  type

hydrides of group VA elements. 

(R ) Molecules of ammonia are held together by strong

electrostatic forces

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 4

MH3

https://dl.doubtnut.com/l/_GAPWNsNydfqE
https://dl.doubtnut.com/l/_Bp8myjTMcFWw


Watch Video Solution

27. (A) Among oxyacids of phosphorus,

hypophosphorous acid is the best reductant 

(R ) More the number of P-H bonds in the oxyacid, more

is the reduction ability

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

https://dl.doubtnut.com/l/_Bp8myjTMcFWw
https://dl.doubtnut.com/l/_bL9GZh63zu6A


Answer: 1

Watch Video Solution

28. (A) Ammonia can be dried over conc.   

(R ) Conc.  has more a�nity to water than to

ammonia

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

H2SO4

H2SO4

https://dl.doubtnut.com/l/_bL9GZh63zu6A
https://dl.doubtnut.com/l/_wVN7iWOWwIOr


D. Both (A) and (R ) are false

Answer: 4

Watch Video Solution

29. (A)  is tribasic acid  

(R ) Three H atoms are directly attached to P atom in a

 molecule.

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

H3PO3

H3PO3

https://dl.doubtnut.com/l/_wVN7iWOWwIOr
https://dl.doubtnut.com/l/_qBUYoWawBMbn


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 4

Watch Video Solution

30. (A)  behaves as a Lewis acid  

(R )  has a pyramidal shape

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

PF3

PF3

https://dl.doubtnut.com/l/_qBUYoWawBMbn
https://dl.doubtnut.com/l/_GXSxyTZGOnKK


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

31. (A) Liquid ammonia is used for refrigeration 

(R ) The moisture in ammonia is removed by using CaO

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

https://dl.doubtnut.com/l/_GXSxyTZGOnKK
https://dl.doubtnut.com/l/_SP9w2zKjxaZI


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

32. (A) :  is planar whereas  has pyramidal

shape (R) :In  hybridisation whereas in NH, sp

hybridisaton takes palce with a lone pair

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

NO−
3 NH3

NO−
3 sp2

https://dl.doubtnut.com/l/_SP9w2zKjxaZI
https://dl.doubtnut.com/l/_fg8vPh01ze1I


B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

33. (A) : Nitrogen is a non metal where as Bismuth is a

typical metal 

(R ) Oxides of Nitrogen are acidic where as  is a

basic oxide

Bi2O3

https://dl.doubtnut.com/l/_fg8vPh01ze1I
https://dl.doubtnut.com/l/_oCV3QAsfQv6f


A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

34. (A) Atomosphere contain 78% by volume of nitrogen

(R ) Oxygen is the most abundant element in the earth

https://dl.doubtnut.com/l/_oCV3QAsfQv6f
https://dl.doubtnut.com/l/_UGPUXV6rZHzj


crust

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

https://dl.doubtnut.com/l/_UGPUXV6rZHzj


35. (A) Electronegitivity of nitrogen is less than that of

oxygen 

(R ) Nitrogen has stable  con�guration where as

oxygen doesnot have such a con�guration

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

h id l i

P 3

https://dl.doubtnut.com/l/_rRTMd1H54SRG


Watch Video Solution

36. (A) Electronegitivity of Sb and Bi are the same 

(R ) Ionisation enthalpy of Bi is greater than that of Sb

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 3

Watch Video Solution

https://dl.doubtnut.com/l/_rRTMd1H54SRG
https://dl.doubtnut.com/l/_nTvKUYoY4UJx


37. (A) Among  group elements nitrogen has the

least B.P where as Bi has the high B.P than N. 

(R ) Nitrogen is a non metal where as Bi is a metal

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

15th

https://dl.doubtnut.com/l/_nTvKUYoY4UJx
https://dl.doubtnut.com/l/_vfFUtZWbVj1i


Watch Video Solution

38. (A) From Nitrogen to phosphorus increase in atomic

radii is more when compared to increase in size from P

to As 

(R ) Nitrogen is a gas at room temperature where as 

is a solid at room temperature

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

P4

https://dl.doubtnut.com/l/_vfFUtZWbVj1i
https://dl.doubtnut.com/l/_gv1ZnZRW8nFr


D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

39. (A)  exsist but not   

(R ) Nitrogen can form e�ective (P-d)  bonds where as

phosphorus cannot form such bonds

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

N3H P3H

π

https://dl.doubtnut.com/l/_gv1ZnZRW8nFr
https://dl.doubtnut.com/l/_CHSeCtLn66Ds


C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 3

Watch Video Solution

40. (A): Nitrogen is unable to show a valency more than

three. 

(R): Nitrogen does not have vacant d-orbitals in its

valence shell. 

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

https://dl.doubtnut.com/l/_CHSeCtLn66Ds
https://dl.doubtnut.com/l/_LQU9tFtoXZuJ


B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

41. (A)  disproportionate to give  and NO  

(R ) In basic media  is less stable

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

HNO2 HNO3

HNO2

https://dl.doubtnut.com/l/_LQU9tFtoXZuJ
https://dl.doubtnut.com/l/_P3mP3H5S9tae


B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

42. (A)  is a better reducing agent than   

(R )  is weaker lewis base when compared to 

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

NH3 PH3

NH3 PH3

https://dl.doubtnut.com/l/_P3mP3H5S9tae
https://dl.doubtnut.com/l/_7nlXq0rQfTzW


B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 4

Watch Video Solution

43. (A) Nitrogen is a gas, where as phosphorus is a solid

(R ) Nitrogen can form (P-P)  bonds in e�ective

manner when compared to phosphorus

π

https://dl.doubtnut.com/l/_7nlXq0rQfTzW
https://dl.doubtnut.com/l/_fDOYsEfA1jvJ


A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

44. (A) In  the bond angle is very close to

tetrahedral angle 

NH3

https://dl.doubtnut.com/l/_fDOYsEfA1jvJ
https://dl.doubtnut.com/l/_SUf4sWiKiWHH


(R ) In  nitrogen atom is  hybridized

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

NH3 SP 3

https://dl.doubtnut.com/l/_SUf4sWiKiWHH


45. (A) Boiling point of  is less than that of  

(R ) In  hydrogen bonding is observed.

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

NH3 SbH3

NH3

https://dl.doubtnut.com/l/_pF5TvP6PfLDe
https://dl.doubtnut.com/l/_oFxVJt6EuhDQ


46. (A)  is more acidic than   

(R )  is a mixed anhydride where as  is not

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

N2O5 N2O4

N2O4 N2O5

https://dl.doubtnut.com/l/_oFxVJt6EuhDQ
https://dl.doubtnut.com/l/_3RS53PYV4skq


47. (A)  is more acidic than   

(R )  is soluble in water where as  is not

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 4

Watch Video Solution

P4O10 N2O5

P4O10 N2O5

https://dl.doubtnut.com/l/_3RS53PYV4skq


48. (A)  is less acidic when compared to  

(R ) Arsenic is a metalloid.

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 2

Watch Video Solution

AS2O3 AS4O10

https://dl.doubtnut.com/l/_yskbQvN46Soa
https://dl.doubtnut.com/l/_45gAasMNHkkK


49. (A)  is more covalent than   

(R ) Polarising power of  is greater than that of 

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

PCl5 PCl3

P 5 +

P 3 +

https://dl.doubtnut.com/l/_45gAasMNHkkK


50. (A) Among trihalides of nitrogen  is most stable

(R )  is a ionic compound.

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 3

Watch Video Solution

NF3

NF3

https://dl.doubtnut.com/l/_J8PZlO4XSahp
https://dl.doubtnut.com/l/_CvCCRbltFDMF


51. (A)  is known, but not  

(R ) Nitrogen can not expand its valency beyond four.

A. Both (A) and (R ) are true and (R ) is the correct

explanation of (A)

B. Both (A) and (R ) are true and (R ) is not the

correct explanation of (A)

C. (A) is true but (R ) is false

D. Both (A) and (R ) are false

Answer: 1

Watch Video Solution

NCl3 NCl5

https://dl.doubtnut.com/l/_CvCCRbltFDMF


LEVEL - I (EXERCISE)

1. The valence shell electronic con�guration of VA group

elements is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ns2np2

ns2np1

ns2np3

ns2np5

https://dl.doubtnut.com/l/_fweCPldQTIPU


2. The most abundant element in the earth's

atmosphere is

A. 

B. 

C. 

D. Ar

Answer: B

Watch Video Solution

O2

N2

F2

3. The most abundant VA group element in the earth's

crust is 

https://dl.doubtnut.com/l/_RbhBBXSvYa4J
https://dl.doubtnut.com/l/_3j65kYgYJc9S


A. Nitrogen

B. Phosphorous

C. Arsenic

D. Bismuth

Answer: B

Watch Video Solution

4.   

The correct match is

LIST - 1 LIST - 2

A) Phosphorite 1) KNO3

B) Indian salt petre 2) Ba(NO3)
2

C) Fluoroapatite 3) NaNO3

D) Chile salt petre 4) 3cA3Ca(PO4)
2
. CaF2

5) Ca3(PO4)
2

https://dl.doubtnut.com/l/_3j65kYgYJc9S
https://dl.doubtnut.com/l/_N4ljdqx9licY


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A B C D

1 2 3 5

A B C D

2 4 3 1

A B C D

4 3 5 2

A B C D

5 1 4 3

5. The following can exist as a diatomic molecule

A. N

B. P

C. As

https://dl.doubtnut.com/l/_N4ljdqx9licY
https://dl.doubtnut.com/l/_P6503VSih07k


D. Bi

Answer: A

Watch Video Solution

6. The following VA group element occurs even in free

state

A. Bi

B. As

C. Sb

D. N

https://dl.doubtnut.com/l/_P6503VSih07k
https://dl.doubtnut.com/l/_TPLXhIhTRrbE


Answer: D

Watch Video Solution

7. The VA group element having more number of

allotropes is

A. N

B. P

C. Bi

D. Sb

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_TPLXhIhTRrbE
https://dl.doubtnut.com/l/_gjTkHRGioRMO


8. Most reactive allotropic form of Phosphorous is

A. Yellow

B. Red

C. Black

D. Scarlet

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gjTkHRGioRMO
https://dl.doubtnut.com/l/_KdI3ziNl43GE


9. (A) :  is more reactive than .  

(R ) :  bonds are relatively weaker than 

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: A

Watch Video Solution

P4 N2

P − P N ≡ N

https://dl.doubtnut.com/l/_m6DWKJSVYO0D
https://dl.doubtnut.com/l/_dstuLnwSi5z8


10. Diphosphine is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PH3

P2H6

PH
+

4

P2H4

11. The chemical inertness of nitrogen is due to

A. half - �lled '2p' orbitals of Nitrogen

https://dl.doubtnut.com/l/_dstuLnwSi5z8
https://dl.doubtnut.com/l/_gYluUlp5J9AG


B. high bond dissociation energy

C. completely �lled d - orbitals

D. its gaseous nature

Answer: B

Watch Video Solution

12. The maximum covalency of nitrogen is

A. 2

B. 3

C. 4

D. 5

https://dl.doubtnut.com/l/_gYluUlp5J9AG
https://dl.doubtnut.com/l/_0j0WkDTWSMDL


Answer: C

Watch Video Solution

13. The VA group element which exhibits wide range of

oxidation states is 

A. P

B. As

C. Bi

D. N

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0j0WkDTWSMDL
https://dl.doubtnut.com/l/_Bs3KelfOO4iA


14. The oxidation state of nitrogen in hydrazine is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−1

−2

+1

+2

15. The stable oxidation state of Bismuth is

https://dl.doubtnut.com/l/_Bs3KelfOO4iA
https://dl.doubtnut.com/l/_hxykpoGw7aO8
https://dl.doubtnut.com/l/_PVY1N9LwOp75


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+1

+5

−3

+3

16.   

The correct match is

Substance Oxidation state of N

A) HNO3 1) −3, + 5

B) NH4NO3 2) −1/3

C) N3H 3) +5

D) H3PO3 d) +3

5) +1/3

https://dl.doubtnut.com/l/_PVY1N9LwOp75
https://dl.doubtnut.com/l/_7D33hvR4slOq


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A B C D

3 1 2 4

A B C D

5 2 3 4

A B C D

1 2 3 4

A B C D

4 3 2 5

17. The atomicity of white Phosphorous is ‘x' and the

 bond angle in the molecule is 'y'. What are

'x' and 'y' ?

A. 

P − P̂ − P

x = 4, y = 90∘

https://dl.doubtnut.com/l/_7D33hvR4slOq
https://dl.doubtnut.com/l/_3aCR0HplcWcm


B. 

C. 

D. 

Answer: B

Watch Video Solution

x = 4, y = 60∘

x = 4, y = 120∘

x = 4, y = 180∘

18. Which of the following reacts rapidly with oxygen in

the air at ordinary temperature? 

A. White P

B. Red P

C. N2

https://dl.doubtnut.com/l/_3aCR0HplcWcm
https://dl.doubtnut.com/l/_Pbvm4ACxnw8L


D. 

Answer: A

Watch Video Solution

N2O

19. The shape and bond angle of white Phosphorous

molecules is

A. Linear and 

B. Trigonal planar and 

C. Tetrahedral and 

D. Tetrahedral and 

180∘

120∘

109∘ 281

60∘

https://dl.doubtnut.com/l/_Pbvm4ACxnw8L
https://dl.doubtnut.com/l/_RjywPbcr5HKt


Answer: D

Watch Video Solution

20. The p-p bond energy is 'x' KJ/mole. Then the energy

needed for the dissociation of 124 g of white

phosphorous is 

A. x KJ

B. 4x KJ

C. 6x KJ

D. 8x KJ

Answer: C

https://dl.doubtnut.com/l/_RjywPbcr5HKt
https://dl.doubtnut.com/l/_iexSkrw49ZVG


Watch Video Solution

21. Nitrogen di�ers from other elements among the VA

group, due to 

A. Small atomic size

B. High electronegativity

C. Absence of 'd' orbitals

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_iexSkrw49ZVG
https://dl.doubtnut.com/l/_gWPXGXdf8cmZ
https://dl.doubtnut.com/l/_nOfVIRMhCcuM


22. (A) White phosphorous is more reactive than Red P 

(R ) White phosphorous possesses high bond angle

strain of 

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: A

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_nOfVIRMhCcuM
https://dl.doubtnut.com/l/_pVFKNfkf8pA5


23. In the statements regarding  molecule  

I) The oxidation state is zero 

II) The covalency is 4 

  III) The  bond angle   

  The correct combination is

A. Only III is correct

B. I & III are correct

C. All are correct

D. I and II are correct

Answer: B

Watch Video Solution

P4

P − P̂ 60∘

https://dl.doubtnut.com/l/_pVFKNfkf8pA5


24. The statements regarding N, molecule are 

I) The Bond energy is 945. 4 KJ/mole 

II) It has triple bond 

III)It contains  bond The correct combination

is

A. Only II is correct

B. I & II are correct

C. II and III are correct

D. All are correct

Answer: B

Watch Video Solution

2σ and 1π

https://dl.doubtnut.com/l/_HcDbQJLPL3hd


25. Acidic hydride of nitrogen is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3

N2H4

N2H2

N3H

26. In Ostwald's process, nitric oxide is prepared by the

oxidation of 

https://dl.doubtnut.com/l/_ocwJotAht0tt
https://dl.doubtnut.com/l/_bBt5BsukJEss


A. 

B. 

C. Air

D. Nitrous oxide

Answer: A

Watch Video Solution

NH3

N2

27. Thermally more stable hydride is

A. 

B. 

C. 

NH3

PH3

AsH3

https://dl.doubtnut.com/l/_bBt5BsukJEss
https://dl.doubtnut.com/l/_ErXgwc60Dnh7


D. 

Answer: A

Watch Video Solution

BiH3

28. Which one of the following statements is correct

with respect to basic character ? 

A. 

B. 

C. 

D. 

PH3 > P (CH3)3

PH3 = NH3

PH3 > NH3

P (CH3)3 > PH3

https://dl.doubtnut.com/l/_ErXgwc60Dnh7
https://dl.doubtnut.com/l/_BUPdYrspB8u9


Answer: D

Watch Video Solution

29. The hydride with more basic nature is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

PH3

NH3

BiH3

AsH3

https://dl.doubtnut.com/l/_BUPdYrspB8u9
https://dl.doubtnut.com/l/_mLpGfBeAXEyu


30. A stronger reducing agent is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3

PH3

SbH3

BiH3

31. The shape and bond angle of ammonia are

A. Tetrhedral and 109∘ 281

https://dl.doubtnut.com/l/_AOzAZ4YnWR6e
https://dl.doubtnut.com/l/_ys9nU09yNEPL


B. Tetrhedral and 

C. Pyramidal and 

D. Pyramidal and 

Answer: C

Watch Video Solution

107∘ 481

107∘ 181

109∘ 281

32. More volatile hydride is

A. 

B. 

C. 

D. 

PH3

NH3

BiH3

AsH3

https://dl.doubtnut.com/l/_ys9nU09yNEPL
https://dl.doubtnut.com/l/_QlTg6rD85GFU


Answer: A

Watch Video Solution

33. VA group hydrides are Lewis bases due to the

presence of

A. unpaired electrons

B. high electron a�nity values

C. low electronegativity

D. lone pair of electrons

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_QlTg6rD85GFU
https://dl.doubtnut.com/l/_UHd2mL16HUyG


34. The correct order of reducing abilities of VA group

hydrides is 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3 < PH3 < AsH3 < SbH3 < BiH3

NH3 > PH3 > AsH3 > SbH3 > BiH3

NH3 < PH3 > AsH3 > SbH3 > BiH3

SbH3 < BiH3 > AsH3 > NH3 > PH3

https://dl.doubtnut.com/l/_UHd2mL16HUyG
https://dl.doubtnut.com/l/_r7A70hrjmw7u


35. Which is in the decreasing order of boiling points of

hydrides? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3 > PH3 > AsH3 > SbH3

SbH3 > AsH3 < PH3 < NH3

PH3 > NH3 > AsH3 > SbH3

SbH3 > NH3 > AsH3 > PH3

36. Most basic among the following

https://dl.doubtnut.com/l/_mNJeNgrhc4KF
https://dl.doubtnut.com/l/_OuroyHJm1Zcy


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

N2H4

PH3

P2H4

37.  has a much higher boiling point than  

because

A.  ha a larger molecular weight

B.  undergoes umbrella inversion

NH3 PH3

NH3

NH3

https://dl.doubtnut.com/l/_OuroyHJm1Zcy
https://dl.doubtnut.com/l/_PhKrUqJs76Lx


C.  form hydrogen bond

D.  contains ionic bonds whereas  contains

covalent bonds

Answer: C

Watch Video Solution

NH3

NH3 PH3

38. With reference to protonic acids, which of the

following statements is correct?

A.  is more basic than 

B.  is less basic than 

C.  is equally as 

PH3 NH3

PH3 NH3

PH3 NH3

https://dl.doubtnut.com/l/_PhKrUqJs76Lx
https://dl.doubtnut.com/l/_RM2bEulWRBiM


D.  is amphoteric while  is basic

Answer: B

Watch Video Solution

PH3 NH3

39. The bond energies  of 

 respectively ? 

A. 247, 318 and 389

B. 247, 389 and 318

C. 318 , 389 and 247

D. 318 , 247 and 389

(in KJ mole− 1)

P − H, As − H and N − H

https://dl.doubtnut.com/l/_RM2bEulWRBiM
https://dl.doubtnut.com/l/_ZoBdevtztYWV


Answer: D

Watch Video Solution

40. Which of the following is least stable?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NH
+

4

SbH
+

4

PH
+

4

AsH
+

4

https://dl.doubtnut.com/l/_ZoBdevtztYWV
https://dl.doubtnut.com/l/_bNk4Z922YcxJ


41. The decreasing values of bond angles from  to 

 down the group 15 of the periodic table is due to

A. increasing bp - bp repulsion

B. increasing p - orbital character in 

C. decreasing lp - bp repulsion

D. decreasing electronegativity of central atom

Answer: D

Watch Video Solution

NH3

SbH3

sp3

42. What is the order of basic nature of hydrides of VA

group elements ?

https://dl.doubtnut.com/l/_6x7SOCZuQeMT
https://dl.doubtnut.com/l/_RurNNsCKTnB0


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AsH3 > SbH3 > PH3 > NH3

NH3 > SbH3 > PH3 > AsH3

NH3 > PH3 > AsH3 > SbH3

PH3 > NH3 > SbH3 > AsH3

43. (A) :  is a liquid while the other hydrides of V-A

Group elements are gases at room temperature 

(R) :  possess inter molecular hydrogen bonds in

liquid state

NH3

NH3

https://dl.doubtnut.com/l/_RurNNsCKTnB0
https://dl.doubtnut.com/l/_vuXAdPj9soVk


A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: D

Watch Video Solution

44. (A) : Thermal stability of VA group hydrides

decreases from   NH3  to BIH3

https://dl.doubtnut.com/l/_vuXAdPj9soVk
https://dl.doubtnut.com/l/_VSmWza3YhXkG


(R) : The bond dissociation energy of M - H bond

increases down the group regularly

A. Both (A) and (R) are true and (R) is the correct

explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct

explanation of (A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_VSmWza3YhXkG


45. The following are some statements related to VA

group hydrides 

I : Reducing property increases from  to   

II : Tendency to donate lone pair decreases from 

to   

III : Ease of replacing H with Cl decreases from  to 

  

IV : Ease of formation of hydrides decreases from 

to   

The correct statements are:

A. I , II , III, IV

B. I , III and IV

C. I, II and IV

NH3 BiH3

NH3

BiH3

NH3

BiH3

NH3

BiH4

https://dl.doubtnut.com/l/_PR3uWI3Z6x7T


D. I and IV

Answer: A

Watch Video Solution

46. Chemical formula of laughing gas is

A. 

B. NO

C. 

D. 

Answer: A

N2O

N2O3

N2O5

https://dl.doubtnut.com/l/_PR3uWI3Z6x7T
https://dl.doubtnut.com/l/_ZZViUR0KCUTt


Watch Video Solution

47. Ammonium nitrate on heating gives

A. NO

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2

N2O

N2O4

https://dl.doubtnut.com/l/_ZZViUR0KCUTt
https://dl.doubtnut.com/l/_Ln1ZOdyiPb6v


48. Trihalide which does not undergo hydrolysis easily

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NCl3

PCl3

PF3

PBr3

49. Which of the following exists as dimer

https://dl.doubtnut.com/l/_rSLsY1zASKK3
https://dl.doubtnut.com/l/_M0jQTS32Nd9k


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2O5

N2O

P2O3

Bi2O3

50. Paramagnetic oxide is

A. 

B. 

C. NO

N2O

N2O3

https://dl.doubtnut.com/l/_M0jQTS32Nd9k
https://dl.doubtnut.com/l/_ovEBumzLZ3mZ


D. 

Answer: C

Watch Video Solution

N2O4

51. The oxide of nitrogen existing in the solid state at

room temperature is

A. No

B. 

C. 

D. 

NO2

N2O3

N2O5

https://dl.doubtnut.com/l/_ovEBumzLZ3mZ
https://dl.doubtnut.com/l/_rPORf8WEiJkg


Answer: D

Watch Video Solution

52. The neutral oxide of nitrogen is 

A. NO

B. 

C. 

D. Both 1 and 2

Answer: D

Watch Video Solution

N2O

NO2

https://dl.doubtnut.com/l/_rPORf8WEiJkg
https://dl.doubtnut.com/l/_wshfZvpUMwsO


53. The sesquioxide of nitrogen is

A. 

B. NO

C. 

D. 

Answer: C

Watch Video Solution

N2O

N2O3

N2O5

54. Which is a mixed anhydride?

A. NO2

https://dl.doubtnut.com/l/_vnfh3gSofQvk
https://dl.doubtnut.com/l/_KRcstVUKEBbu


B. 

C. 

D. 

Answer: A

Watch Video Solution

N2O3

N2O5

N2O

55. Glacial phosphoric acid is

A. 

B. 

C. 

D. 

H3PO4

HPO3

H4P2O6

H3PO2

https://dl.doubtnut.com/l/_KRcstVUKEBbu
https://dl.doubtnut.com/l/_5u1P2jGShFSW


Answer: B

Watch Video Solution

56. Which one of the following elements does not form

the compound .(M = element of group VA)?

A. P

B. Sb

C. As

D. Bi

Answer: D

Watch Video Solution

M4O10

https://dl.doubtnut.com/l/_5u1P2jGShFSW
https://dl.doubtnut.com/l/_PRFE5ANtrC57


57. The number of Oxygen atoms present around

Nitrogen in  is

A. 2

B. 1

C. 3

D. 4

Answer: C

Watch Video Solution

N2O5

https://dl.doubtnut.com/l/_PRFE5ANtrC57
https://dl.doubtnut.com/l/_4nIaDkI6FHzO


58.  is the anhydride of the following

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P4O6

H3PO2

H3PO3

H3PO4

H3PO5

59.  is the anhydride of the following 

A. 

P4O10

H3PO2

https://dl.doubtnut.com/l/_RNTvPj7aHRRB
https://dl.doubtnut.com/l/_QJcUaFPA8uFx


B. 

C. 

D. 

Answer: C

Watch Video Solution

H3PO3

H3PO4

H3PO5

60. When orthophosphoric acid is strongly heated the

product formed is

A. Phosphine 

B. Phosphorous trioxide , 

C. Phosphorous acid, 

PH3

P2O3

H3PO3

https://dl.doubtnut.com/l/_QJcUaFPA8uFx
https://dl.doubtnut.com/l/_UkchU7E0bNvI


D. Metaphosphoric acid , 

Answer: D

Watch Video Solution

HPO3

61. The number of hydroxyl groups in pyrophosphoric

acid is

A. 3

B. 4

C. 5

D. 7

https://dl.doubtnut.com/l/_UkchU7E0bNvI
https://dl.doubtnut.com/l/_1P54PDeLGPGr


Answer: B

Watch Video Solution

62. The acid that forms primary, secondary and tertiary

phosphates is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H3PO2

H3PO3

HPO3

H3PO4

https://dl.doubtnut.com/l/_1P54PDeLGPGr
https://dl.doubtnut.com/l/_tgGocu3bA4on


63. In the oxyacids of phosphorous the hybridisation of

phosphorous is

A. 

B. 

C. sp

D. 

Answer: A

Watch Video Solution

sp3

sp2

dsp2

https://dl.doubtnut.com/l/_tgGocu3bA4on
https://dl.doubtnut.com/l/_9pltnrJqnnj7


64. Which of the following is not an acidic salt?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NaH2PO2

NaH2PO3

NaH2PO4

Na2PO4

65. Regarding  the wrong statement is

A. It's basicity is three

H3PO5

https://dl.doubtnut.com/l/_SLqoV5DgW8mY
https://dl.doubtnut.com/l/_pGOhIhX2Y6PR


B. Oxidation state P in it is + 5

C. It contains O - O linkage

D. It can form a dimer

Answer: D

Watch Video Solution

66. Which of the following is an acidic salt?

A. 

B. 

C. 

D. 

NaH2PO2

NaH2PO3

NaH2PO2

Na2H2P2O7

https://dl.doubtnut.com/l/_pGOhIhX2Y6PR
https://dl.doubtnut.com/l/_JktVHYy6bubj


Answer: C

Watch Video Solution

67. In  molecule

A. P - atom is surrounded by three - OH groups

B. P - atom is tetrahedrally surrounded by two - OH

groups , one oxygen atom and one hydrogen

atom

C. P - atom is surrounded by four - OH groups

D. P - atoms is surrounded by two - H atoms

Answer: B

H3PO3

https://dl.doubtnut.com/l/_JktVHYy6bubj
https://dl.doubtnut.com/l/_h9IEjnfsZLFf


Watch Video Solution

68. The reducing strength of oxyacid of the

Phosphorous depends on

A. The number of - atoms directly attached to P

B. The number of H - atom attached to oxygen atom

C. The number of O - atoms attached to P - atoms

D. The number of P - atoms

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_h9IEjnfsZLFf
https://dl.doubtnut.com/l/_Q8SMHxs984rI
https://dl.doubtnut.com/l/_FkJKXMOHY5Ft


69. The following are some statments about   

i) It undissociated forms are tautomers 

ii) It's undissociated forms are resonance structures 

iii) Its anhydride in pure state exists as plane blue solid

and that melts to deep blue liquid 

The correct combination is

A. All are correct

B. i,iii are correct

C. ii,iii are correct

D. i,ii are correct

Answer: B

Watch Video Solution

HNO2

https://dl.doubtnut.com/l/_FkJKXMOHY5Ft


70. The following are some statements about oxyacids

of VA group elements 

i) The salt of nitric acid contains  ion  

ii) The salt of phosphoric acid contains  ion  

iii) Salts of meta phosphoric acid contains  ion

The correct combination is

A. All are correct

B. i,iii are correct

C. ii,iii are correct

D. i,ii are correct

Answer: D

Watch Video Solution

NO−
3

PO
3 −
4

HPO2 −
3

https://dl.doubtnut.com/l/_Lu0zB1iA1JWR


71. The statements regarding oxyacids of phosphorous

are 

i)  molecule is monobasic acid  

ii)  molecule has  bond  

iii)  molecule has  linkage  

The correct combination is

A. All are correct

B. Only ii is correct

C. ii & iii are correct

D. i & ii are correct

Answer: A

HPO3

H4P2O6 P − P

H4P2O7 P − O − P

https://dl.doubtnut.com/l/_Lu0zB1iA1JWR
https://dl.doubtnut.com/l/_sSQ7ku7kaY7Z


Watch Video Solution

72. Which pair of oxyacids of phosphorus contains 'P-H'

bonds ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H3PO4, H3PO3

P3PO5, H4P2O7

P3PO3, H3PO2

H3PO2, HPO3

https://dl.doubtnut.com/l/_sSQ7ku7kaY7Z
https://dl.doubtnut.com/l/_ZiGTeOJWppOt
https://dl.doubtnut.com/l/_m63NaVvk36RO


73. In the preparation of  by Ostwald process

ammonia is

A. reduced

B. oxidised

C. reduced and oxidised

D. hydrolysed

Answer: B

Watch Video Solution

HNO3

74.  on heating with NaOH liberates

A. NaCl

NH4CI

https://dl.doubtnut.com/l/_m63NaVvk36RO
https://dl.doubtnut.com/l/_wXjL131dx3YG


B. 

C. HCl

D. NaCl

Answer: B

Watch Video Solution

NH3

75. Aqueous NaOH reacts with white Phospho rous to

form Phosphine and 

A. 

B. 

C. 

NaH2PO2

P2O5

Na3PO3

https://dl.doubtnut.com/l/_wXjL131dx3YG
https://dl.doubtnut.com/l/_l2tPAWwIwmTf


D. 

Answer: A

Watch Video Solution

P2O3

76. Ammonia gas is dried over

A. Quick lime

B. Conc 

C. 

D. 

Answer: A

H2SO4

P2O5

CaCl2

https://dl.doubtnut.com/l/_l2tPAWwIwmTf
https://dl.doubtnut.com/l/_EeqqXL7PmCK1


Watch Video Solution

77. The catalyst used in the manufacture of ammonia by

Haber's process is

A. 

B. Fe

C. Ni

D. Co

Answer: B

Watch Video Solution

V2O5

https://dl.doubtnut.com/l/_EeqqXL7PmCK1
https://dl.doubtnut.com/l/_3UoIM9fhpG6o


78. The material used for the manufacturer of ammonia

by cyanamide process is

A. Coal

B. Lime

C. Nitrogen

D. All

Answer: D

Watch Video Solution

79. The mixture of Calcium Cyanamide and graphite is

called

https://dl.doubtnut.com/l/_fpCZnACbBdOb
https://dl.doubtnut.com/l/_OAoGDy7gJJbu


A. Nitration mixture

B. Soda lime

C. Nitrolim

D. Aquaregia

Answer: C

Watch Video Solution

80. Which of the following compound ist not used as

fertilizer

A. Ammonium sulphate

B. Urea

https://dl.doubtnut.com/l/_OAoGDy7gJJbu
https://dl.doubtnut.com/l/_jKlsA0WMhG63


C. Calcium super phosphate

D. 

Answer: D

Watch Video Solution

Ca3(PO4)2

81. Which of the following can serve as a solvent for

both ionic and covalent compounds?

A. Liquid ammonia

B. 

C. Benzene

D. 

H2O

CCl4

https://dl.doubtnut.com/l/_jKlsA0WMhG63
https://dl.doubtnut.com/l/_ajyytENiRGaF


Answer: A

Watch Video Solution

82. Calcium cyanamide on hydrolysis with steam gives

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cl2

NH3

O2

CO2

https://dl.doubtnut.com/l/_ajyytENiRGaF
https://dl.doubtnut.com/l/_kLbaz1zketxx


83. Which of the following is used as refrigerant

A. Liquid 

B. 

C. 

D. All

Answer: D

Watch Video Solution

NH3

C2H5Cl

CCl2F2

84. The catalyst used in cyanamide process is

A. Fe

https://dl.doubtnut.com/l/_pvP3sZKVjxq1
https://dl.doubtnut.com/l/_ug2smxIejYid


B. 

C. 

D. 

Answer: C

Watch Video Solution

K2O + Al2O3

CaCl2

NH3

85. Which of the following reactions yield elementary

gases like   as the byproducts ?  

I)   

II)   

III)   

IV)  

N2, H2, O2

CaO + NH3 →

2NH3 + 2Na
Fe

−−−−−−→
300 − 400 ∘C

8NH3 + 3Cl2 →

2Pb(NO3)2

Δ
−−→

https://dl.doubtnut.com/l/_ug2smxIejYid
https://dl.doubtnut.com/l/_dlu6SSwYc8It


A. I and II only

B. II, III and IV only

C. I, II and III only

D. All of these

Answer: D

Watch Video Solution

86. Calcium cyanamide on treatment with steam under

pressure gives ammonia and

A. Calcium carbonate

B. Calcium hydroxide

https://dl.doubtnut.com/l/_dlu6SSwYc8It
https://dl.doubtnut.com/l/_TBbAiCIA8AjR


C. Calcium oxide

D. Calcium bicarbonate

Answer: A

Watch Video Solution

87. Conditions for the formation of  in Haber's

process are

A. High temperature , low pressure

B. Optimum temperature , high pressure

C. High temperature , high pressure

D. Optimum temperature , low pressure

NH3

https://dl.doubtnut.com/l/_TBbAiCIA8AjR
https://dl.doubtnut.com/l/_H9hviuILQXZf


Answer: B

Watch Video Solution

88. Calcium super phosphate is prepared from

phosphate using the acid

A. 

B. 

C. HCl

D. 

Answer: A

Watch Video Solution

H2SO4

H3PO4

HNO3

https://dl.doubtnut.com/l/_H9hviuILQXZf
https://dl.doubtnut.com/l/_N3Bc97HTWwSR


89. Superphosphate of lime is an example of ...........

phosphate

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1∘

2∘

3∘

4∘

https://dl.doubtnut.com/l/_N3Bc97HTWwSR
https://dl.doubtnut.com/l/_GDv96TZXbdGJ


90. Among of the following the most soluble in water is

A. superphosphate

B. triple phosphate

C. calciumphosphate

D. calcium sulphate

Answer: B

Watch Video Solution

91. Which of the following is calcium super phosphate ?

A. Ca(H2PO4)2H2O + 2CaSO42H2O

https://dl.doubtnut.com/l/_uJOlomIuCEaN
https://dl.doubtnut.com/l/_xddhFjIsTTE7


B. 

C. 

D. 

Answer: A

Watch Video Solution

Ca(PO4)2 + 2CaSO4

CaSO4 + CaO

Ca(H2PO4)2H2O + CaSO4

92. To avoid the water product  super-

phosphate is changed into

A. Monophosphate

B. Diphosphate

C. Triple phosphate

CaSO4

https://dl.doubtnut.com/l/_xddhFjIsTTE7
https://dl.doubtnut.com/l/_NkhuQTn9AnEx


D. Tetra phosphate

Answer: C

Watch Video Solution

93. Which of the following is not correct?

A. Ammonia is used refrigerant

B. A mixture of  and C is known as nitrolim

C. A mixture of 

known as superphosphate of lime

D. Hydrolysis of  gives 

Ca(CN)2

Ca(H2PO4)2 and CaSO4.2H2O

NCl3 NH3 and HOCl

https://dl.doubtnut.com/l/_NkhuQTn9AnEx
https://dl.doubtnut.com/l/_TSuYuKsV75y9


LEVEL - I (LECTURE SHEET) (EXERCISE - I ) (Single & One or

More than One Correct Answers)

Answer: B

Watch Video Solution

1. Aquaregia is a mixture of 

A. 

B. 

C. 

D. 

HCl + CH3COOH

3HNO3 + HCl

H3PO4 + H2SO4

3HCl + HNO3

https://dl.doubtnut.com/l/_TSuYuKsV75y9
https://dl.doubtnut.com/l/_YBEYDBaTB1qi


Answer: D

Watch Video Solution

2. Which of the following is true for allotropes of

phosphorous?

A. Yellow phsphorus is soluble in  while red

phosphorus is not

B. P - P - P bond angle is  in red phohorus

C. On heating in air, white phosphorus change to

red

CS2

60∘

https://dl.doubtnut.com/l/_YBEYDBaTB1qi
https://dl.doubtnut.com/l/_s2QbQBASDdm5


D. white phosphorus will slowly change to red

phosphorus at ordinary temperatures.

Answer: A::D

Watch Video Solution

3. The VA group elements are present in the Earth's

crust as

A. Nitrates

B. Phophates

C. Carbonates

D. Sulphates

https://dl.doubtnut.com/l/_s2QbQBASDdm5
https://dl.doubtnut.com/l/_5up5B0qQjRAI


Answer: A::B

Watch Video Solution

4. Which of the following give ammonia with water

A. 

B. AIN

C. 

D. all

Answer: D

Watch Video Solution

Mg3N2

CaCN2

https://dl.doubtnut.com/l/_5up5B0qQjRAI
https://dl.doubtnut.com/l/_yfWdlu6RNMlZ


5. Substance used in Home's signal is :

A. 

B. 

C. 

D. all

Answer: B

Watch Video Solution

NH3&C2H2

PH3&C2H2

PH3&NH3

6.  can be obtained by :

A. heating hypophosphorus acid

PH3

https://dl.doubtnut.com/l/_mSHVHg0l0usQ
https://dl.doubtnut.com/l/_1cJ4eqIoRs1h


B. heating orthophosphorus acid

C. reacting white phosphorus with hot conc. NaOH

D. all

Answer: C

Watch Video Solution

7. The correct order of reducing power of  is

A. 

B. 

C. 

D. 

MH3

NH3 < PH3 < SbH3 < BiH3

PH3 < AsH3 < BiH3 < SbH3

BiH3 < SbH3 < PH3 < NH3

PH3 < AsH3 < SbH3 < BiH3

https://dl.doubtnut.com/l/_1cJ4eqIoRs1h
https://dl.doubtnut.com/l/_0ZOCA2YgkJrS


Answer: A::D

Watch Video Solution

8. Which of the following do not have any tendency to

act as ligands during complex formation ?

A. 

B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

BiH3

PH3

AsH3

SbH3

https://dl.doubtnut.com/l/_0ZOCA2YgkJrS
https://dl.doubtnut.com/l/_xTziwXpGb92z


9. Which of the following reactions can evolve 

A. white 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

PH3

P + NaOH →

AlP + H2O →

H3PO4

Δ
−−→

PH4I + NaOH →

10. Extra pure  can be obtained by heating :N2

https://dl.doubtnut.com/l/_xTziwXpGb92z
https://dl.doubtnut.com/l/_eIEeFPvzk2A9
https://dl.doubtnut.com/l/_bK6h0jIvr5KB


A.  with 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3 CuO

NH4NO3

(NH4)2Cr2O7

Ba(N3)2

11. Liquid Ammonia is simalar to  as a solvent .

Ammonia can from the following ions is liquid state by

ionisation

A. 

H2O

NH
+

4

https://dl.doubtnut.com/l/_bK6h0jIvr5KB
https://dl.doubtnut.com/l/_WJ0JP5hU3Arr


LEVEL - I (LECTURE SHEET) (EXERCISE - II )

B. 

C. 

D. all

Answer: A::B

Watch Video Solution

NH −
2

NH +
3

1. The acid which forms two series of salts is :

A. 

B. 

H3PO4

H3PO3

https://dl.doubtnut.com/l/_WJ0JP5hU3Arr
https://dl.doubtnut.com/l/_kD2rkI9fX1HM


C. 

D. 

Watch Video Solution

H3BO3

H4PO2

2. Which one of the following is a cyclic oxoacid ?

A. 

B. 

C. 

D. 

W h Vid S l i

H4P2O7

H4P2O6

H3P3O9

H5P5O15

https://dl.doubtnut.com/l/_kD2rkI9fX1HM
https://dl.doubtnut.com/l/_LBwD9Sn9yWCj


LEVEL - I (LECTURE SHEET) (EXERCISE - II ) (Passage - IV)

Watch Video Solution

3. The number of  or P = O and P - O - H bonds in

 are :

A. 3,1

B. 2,2

C. 1,2

D. 1,3

Watch Video Solution

P → O

H3PO4

https://dl.doubtnut.com/l/_LBwD9Sn9yWCj
https://dl.doubtnut.com/l/_ES5TgQwMsCJe


1. Terrorists often use ammonium nitrate fertilizer as an

ingredient in car bombs . When ammonium nitrate

explodes, it decomposes to gaseous nitrogen , oxygen

and water vapour. The force of the explasion results

from the sudden production of a huge volume of hot

gas. It has been claimed that  fertilizer 

 Analysis of such a disensitized sample

of  showed the mass % nitrogen to be 33.81%

An explosive mixture called Amatol contains :

A. 80%  TNT

B. 50%  TNB

C. 

D. 

NH4NO3

(NH4)2HPO4

NH4NO3

NH4NO3 + 20 %

NH4NO3 + 50 %

NH4NO3 + Al

C + NH4NO3

https://dl.doubtnut.com/l/_sTfmwxavLJqb


Watch Video Solution

2. Terrorists often use ammonium nitrate fertilizer as

an ingredient in car bombs . When ammonium nitrate

explodes, it decomposes to gaseous nitrogen , oxygen

and water vapour. The force of the explasion results

from the sudden production of a huge volume of hot

gas. It has been claimed that  fertilizer 

 Analysis of such a disensitized sample

of  showed the mass % nitrogen to be 33.81%

 on explosion gives

A. 20% 

NH4NO3

(NH4)2HPO4

NH4NO3

NH4NO3

(NH4)2HPO4 + 80 % NH4NO3

https://dl.doubtnut.com/l/_sTfmwxavLJqb
https://dl.doubtnut.com/l/_EEMy2OcBRXqL


B. 14.8% 

C. 8.62% 

D. 5.25% 

Watch Video Solution

(NH4)2HPO4 + 85.2 % NH4NO3

(NH4)2HPO4 + 91.38 % NH4NO3

(NH4)2HPO4 + 94.75 % NH4NO3

3. Terrorists often use ammonium nitrate fertilizer as

an ingredient in car bombs . When ammonium nitrate

explodes, it decomposes to gaseous nitrogen , oxygen

and water vapour. The force of the explasion results

from the sudden production of a huge volume of hot

gas. It has been claimed that  fertilizer 

 Analysis of such a disensitized sample

NH4NO3

(NH4)2HPO4

https://dl.doubtnut.com/l/_EEMy2OcBRXqL
https://dl.doubtnut.com/l/_Zl5GvkzbEu4c


of  showed the mass % nitrogen to be 33.81%

 on explosion gives

A. 

B. NO

C. 

D. 

Watch Video Solution

NH4NO3

NH4NO3

NO2

O2

N2O3

4.  A+ B (Insoluble )  

 

Mg + air
Ignition
−−−→

A
dil .Hcl
−−−→ C + D

↑⏐⏐

https://dl.doubtnut.com/l/_Zl5GvkzbEu4c
https://dl.doubtnut.com/l/_w5E0ipPxt4X3


 

Which can Increase the solubility of AgCI in water ?

A. B

B. D

C. E

D. C

Watch Video Solution

CuO + D
Δ

−−→ E
↑⏐⏐

5.  A+ B (Insoluble )  

 

Mg + air
Ignition
−−−→

A
dil .Hcl
−−−→ C + D

↑⏐⏐

https://dl.doubtnut.com/l/_w5E0ipPxt4X3
https://dl.doubtnut.com/l/_3VyEYUCLNayR


 

'E' can be prepared by heating .......

A. 

B. 

C. 

D. 

Watch Video Solution

CuO + D
Δ

−−→ E
↑⏐⏐

NH4NO3

HNO3

(NH4)2Cr2O7

N2O4

6.  A+ B (Insoluble )  

 

Mg + air
Ignition
−−−→

A
dil .Hcl
−−−→ C + D

↑⏐⏐

https://dl.doubtnut.com/l/_3VyEYUCLNayR
https://dl.doubtnut.com/l/_A0WciWNyxqkh


 

Correct statment about 'D' is

A. It is a Lewis acid

B. It can act as a strong ligand

C. It is a good oxidant

D. It is neutral to Litmus

Watch Video Solution

CuO + D
Δ

−−→ E
↑⏐⏐

7.  A+ B (Insoluble )  

 

Mg + air
Ignition
−−−→

A
dil .Hcl
−−−→ C + D

↑⏐⏐

https://dl.doubtnut.com/l/_A0WciWNyxqkh
https://dl.doubtnut.com/l/_f5NsNZyBaG9n


 

Correct statment about 'E' ......

A. It is an acidic gas

B. It I a basic gas

C. It can be prepared by heating 

D. It can be obtaind by heating  with NaOH

Watch Video Solution

CuO + D
Δ

−−→ E
↑⏐⏐

NH4NO2

NH4Cl

8.  A+ B (Insoluble )  

 

Mg + air
Ignition
−−−→

A
dil .Hcl
−−−→ C + D

↑⏐⏐

https://dl.doubtnut.com/l/_f5NsNZyBaG9n
https://dl.doubtnut.com/l/_6IhEHJ2DiRyo


 

What is not correct ?

A.  Neutral gas

B.  Paramagnetic gas

C.  Acidic and diamganetic gases

D.  Coloured paramagnetic gas

Watch Video Solution

CuO + D
Δ

−−→ E
↑⏐⏐

Ba(N3)2
Δ

−−→

NaNO32

Δ
−−→

LiNO3

Δ
−−→

Ba(N3)2
Δ

−−→

9.  

 

Which statment is correct ?

P4

Ba (OH ) 2

−−−−−−−→
Δ

X
salt

+ Y
gas

↑⏐ ⏐ ⏐⏐

X
dil.H2SO4

−−−−−→ Z
⏐⏐ ⏐↓

+ W
acid

https://dl.doubtnut.com/l/_6IhEHJ2DiRyo
https://dl.doubtnut.com/l/_1ZcKWfpNPLpq


A. The anion of salt 'X' cannot have a Lewis base

B. Gas 'Y' is a better than 

C. W' is tribasic acid

D. oxidation state of 'P' in 'X' is + 3

Watch Video Solution

NH3

10.  

 

Which is correct in view of 'W' ?

A. It's shape is planar

P4

Ba (OH ) 2

−−−−−−−→
Δ

X
salt

+ Y
gas

↑⏐ ⏐ ⏐⏐

X
dil.H2SO4

−−−−−→ Z
⏐⏐ ⏐↓

+ W
acid

https://dl.doubtnut.com/l/_1ZcKWfpNPLpq
https://dl.doubtnut.com/l/_OzD36aOAheKf


B. It is a diabasic acid

C. It can be a reducing agent

D. It has three 'P - OH' linkages

Watch Video Solution

11.  

 

Which is incorrect about Y?

A. It usually ignites due to presence of 

B. It is less soluble than  in water

P4

Ba (OH ) 2

−−−−−−−→
Δ

X
salt

+ Y
gas

↑⏐ ⏐ ⏐⏐

X
dil.H2SO4

−−−−−→ Z
⏐⏐ ⏐↓

+ W
acid

P2H4

NH3

https://dl.doubtnut.com/l/_OzD36aOAheKf
https://dl.doubtnut.com/l/_SGsXtK4FdYv1


LEVEL - I (LECTURE SHEET) (EXERCISE - III )

C. It has  bond angles

D. It can be obtained by hydrolysis of 

Watch Video Solution

107∘ 281

Ca3P2

1. Match COLUMN-I (Species) with COLUMN-II (O-N-O

angle) and select the correct answer using the codes

given below the lists : 

COLUMN - I COLUMN - II

A)NO+
2

p)180∘

B)NO2 r)132∘

C)NO−
2

r)120∘

D)NO−
3

s)115∘

https://dl.doubtnut.com/l/_SGsXtK4FdYv1
https://dl.doubtnut.com/l/_SdCARVUkDRfb


Watch Video Solution

2. Match COLUMN-I (Species) with COLUMN-II (O-N-O

angle) and select the correct answer using the codes

given below the lists : 

Watch Video Solution

COLUMN - I COLUMN - II

(Mixtures) (Solution used for separation)

A)N2 and CO p) Water

B)N2 and O2 p)H2SO4

C)N2 and NH3 r) Ammonical CuCl

D)PH3 and NH3 s) Pyrogallol

3. Match COLUMN-I (Species) with COLUMN-II (O-N-O

angle) and select the correct answer using the codes

https://dl.doubtnut.com/l/_SdCARVUkDRfb
https://dl.doubtnut.com/l/_LqAOd68h4Niz
https://dl.doubtnut.com/l/_X4te2cRULyvx


given below the lists : 

Watch Video Solution

4. Match COLUMN-I (Species) with COLUMN-II (O-N-O

angle) and select the correct answer using the codes

given below the lists : 

Watch Video Solution

https://dl.doubtnut.com/l/_X4te2cRULyvx
https://dl.doubtnut.com/l/_K4aWMljUlIM4


5. Match COLUMN-I (Species) with COLUMN-II (O-N-O

angle) and select the correct answer using the codes

given below the lists : 

Watch Video Solution

6. Match COLUMN-I (Species) with COLUMN-II (O-N-O

angle) and select the correct answer using the codes

https://dl.doubtnut.com/l/_K4aWMljUlIM4
https://dl.doubtnut.com/l/_hb6Ft1XN2i3p
https://dl.doubtnut.com/l/_XqF1scGj4Ccs


given below the lists : 

Watch Video Solution

7. Match COLUMN-I (Species) with COLUMN-II (O-N-O

angle) and select the correct answer using the codes

given below the lists : 

Watch Video Solution

https://dl.doubtnut.com/l/_XqF1scGj4Ccs
https://dl.doubtnut.com/l/_sUUEbyTiPaa3


8. Match COLUMN-I (Species) with COLUMN-II (O-N-O

angle) and select the correct answer using the codes

given below the lists : 

Watch Video Solution

9. Match COLUMN-I (Species) with COLUMN-II (O-N-O

angle) and select the correct answer using the codes

given below the lists : 

https://dl.doubtnut.com/l/_1BmP00BnuIPg
https://dl.doubtnut.com/l/_VuKbZSGmNXjO


LEVEL - I (LECTURE SHEET) (EXERCISE - IV ) (Integer answer

type Questions)

Watch Video Solution

10. Match COLUMN-I (Species) with COLUMN-II (O-N-O

angle) and select the correct answer using the codes

given below the lists : 

Watch Video Solution

https://dl.doubtnut.com/l/_VuKbZSGmNXjO
https://dl.doubtnut.com/l/_3qkf9q4lX7KN


1. The brown ring complex is formulated as

 The Oxidation state of Fe is X

what is the value of X?

Watch Video Solution

[Fe(H2O)5NO+ ]SO4

2. How many number of bond pairs are present in

 ?

Watch Video Solution

NO−
3

3. The element which form oxides, with all oxidation

states from + 1 to + 5 belongs with group in the

https://dl.doubtnut.com/l/_h3qtTXFlLIuk
https://dl.doubtnut.com/l/_mtVn2DJuJLLQ
https://dl.doubtnut.com/l/_WLOFm64QmtBL


periodic table ?

Watch Video Solution

4. The number of  bonds bonds in 

What is the value of X ?

Watch Video Solution

pπ − dπ H3PO4

5. The volume of 0.1 M NaOH solution required to

neutralise the solution produced by dissolving 1.1 g of

 in water is . What is the value of Y ?

Watch Video Solution

P4O6 Y × 100

https://dl.doubtnut.com/l/_WLOFm64QmtBL
https://dl.doubtnut.com/l/_9q6GBDXQ0NxR
https://dl.doubtnut.com/l/_j3YHmoZFZpr5
https://dl.doubtnut.com/l/_5ScXlgxyVR2c


6. How many number of P - O - P bonds in  ?

Watch Video Solution

P4O10

7. The catenation power of a 'N' in its compound where

'N' shows fractional oxidation state is 'X' .

Watch Video Solution

8. In triple phosphate the available  when

compared to normal super phosphate is increased by

how many times ?

Watch Video Solution

P2O5

https://dl.doubtnut.com/l/_5ScXlgxyVR2c
https://dl.doubtnut.com/l/_R1zzpWqNqDiu
https://dl.doubtnut.com/l/_4W5ZHRkwbL0O


EXERCISE

9.  has the ability to form metaphosphates , wich

can be polymerised. Calogon is a salt of  . How

many time it is polymerised ?

Watch Video Solution

HPO3

HPO3

10. The number of peroxy bonds in  is 'X' . What

is the value of 'X' ?

Watch Video Solution

H3PO5

https://dl.doubtnut.com/l/_4W5ZHRkwbL0O
https://dl.doubtnut.com/l/_hIP9l5MYEnHQ
https://dl.doubtnut.com/l/_WOlbcrkz4N2S
https://dl.doubtnut.com/l/_wlYTOk1O4bSe


1. White phosphorous  has :

A. Six P - P single bond

B. Four P - P single bond

C. Four lone pairs of electrons

D. PPP angle of 

Answer: A::C::D

Watch Video Solution

(P4)

60∘

2. Cane sugar reacts with conc.  to give :

A. 

HNO3

NO2 and H2O

https://dl.doubtnut.com/l/_wlYTOk1O4bSe
https://dl.doubtnut.com/l/_XSXjbTtxKswn


B. Oxalic acid

C. 

D. 

Answer: A::B

Watch Video Solution

CO2 and H2O

H2CO3

3.  on heating gives:

A. 

B. 

C. 

D. 

(NH4)2Cr2O7

Cr2O3

N2

H2CrO4

NH3

https://dl.doubtnut.com/l/_XSXjbTtxKswn
https://dl.doubtnut.com/l/_aI04eLYD6AZk


Answer: A::B

Watch Video Solution

4. Nitrogen is comparatively inactive because :

A. Of its stable electronic con�guration

B. The bond dissociation energy of the nitrogen

molecule is high

C. Its molecular size is small

D. Its electronegativity is fairly high

Answer: B::C

Watch Video Solution

https://dl.doubtnut.com/l/_aI04eLYD6AZk
https://dl.doubtnut.com/l/_e8VH5saJKYx2


EXERCISE (Linked Comprehension type questions

1. In order to maintain soil fertility , it is necessary to

add containing nitrogen , phosphorous and potassium

in the form of manures. Manures are two type they are

a ) Natural and b) Arti�cial , 

Arti�cal manures are chemical compounds obtained by

arti�cial mean containing N,P or K. These chemical

compounds are generally called fertilizers. The chemical

substance which are added to the soil as to make up

the de�ciency of essential elements are called

fertilizers. 

Every chemical compounds of N,P , & K can be used as

https://dl.doubtnut.com/l/_e8VH5saJKYx2
https://dl.doubtnut.com/l/_LEVHe4Itjkhg


fertilizer and it must have chracteristic properties.

Fertilizers are classi�ed according to the element (N,P

or K) which they are supplied to the soild. 

complete manure is that which supplies

A. S,K and N

B. S and N

C. N,K and P

D. S,N and P

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_LEVHe4Itjkhg


2. In order to maintain soil fertility , it is necessary to

add containing nitrogen , phosphorous and potassium

in the form of manures. Manures are two type they are

a ) Natural and b) Arti�cial , 

Arti�cal manures are chemical compounds obtained by

arti�cial mean containing N,P or K. These chemical

compounds are generally called fertilizers. The chemical

substance which are added to the soil as to make up

the de�ciency of essential elements are called

fertilizers. 

Every chemical compounds of N,P , & K can be used as

fertilizer and it must have chracteristic properties.

Fertilizers are classi�ed according to the element (N,P

https://dl.doubtnut.com/l/_idQk3WT1HlWl


or K) which they are supplied to the soild. 

Super phosphate of lime is obtained by treating

A. Calcium phosphate with HCl

B. Calcium phosphide with HCl

C. Calcium phosphate with 

D. Calcium phosphate with NaOH

Answer: C

Watch Video Solution

H2SO4

3. In order to maintain soil fertility , it is necessary to

add containing nitrogen , phosphorous and potassium

https://dl.doubtnut.com/l/_idQk3WT1HlWl
https://dl.doubtnut.com/l/_XjTX7tYJPjuL


in the form of manures. Manures are two type they are

a ) Natural and b) Arti�cial , 

Arti�cal manures are chemical compounds obtained by

arti�cial mean containing N,P or K. These chemical

compounds are generally called fertilizers. The chemical

substance which are added to the soil as to make up

the de�ciency of essential elements are called

fertilizers. 

Every chemical compounds of N,P , & K can be used as

fertilizer and it must have chracteristic properties.

Fertilizers are classi�ed according to the element (N,P

or K) which they are supplied to the soild. 

A compound of N,H,C and 'O' which is used as a

fertilizer

https://dl.doubtnut.com/l/_XjTX7tYJPjuL


A. CAN

B. urea

C. NPK

D. Thomas slag

Answer: B

Watch Video Solution

4.  

What is X.

https://dl.doubtnut.com/l/_XjTX7tYJPjuL
https://dl.doubtnut.com/l/_nBAz2siiy8aK


A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

H4P2O7

H4P2O6

HPO3

5.  

What is X.

https://dl.doubtnut.com/l/_nBAz2siiy8aK
https://dl.doubtnut.com/l/_4iYUz39C7QWS


A. 

B. 

C. 

D. None

Answer: B

Watch Video Solution

H3PO2

HPO3

H3PO3

6.  

Z is

https://dl.doubtnut.com/l/_4iYUz39C7QWS
https://dl.doubtnut.com/l/_AT4bk5fJxCGK


A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

P4O8

P4O6

P4O10

7. 

Watch Video Solution

COLUMN - I COLUMN - II

(oxo - acod) (ox.state of P)

A)H3PO3 p)+4

B)H3PO2 q)+1

C)H4P2O6 r)+3

D)H4P2O7 s)+5

https://dl.doubtnut.com/l/_AT4bk5fJxCGK
https://dl.doubtnut.com/l/_JKVaIZksDxuh


EXERCISE (Integer answer type Questions)

8. 

Watch Video Solution

https://dl.doubtnut.com/l/_JKVaIZksDxuh
https://dl.doubtnut.com/l/_URYAMi3MDy4h


1. When ammonia is heated with cupricoxide . How

many electrons will each ammonia molecule loose.

Watch Video Solution

2. The sum of formal change of oxygen in  which

is attached to P' atom through double bond ___

Watch Video Solution

PO
3 −
4

3. In trimetaphosphate ion, the ratio of no. of oxygen

atoms and P-O-P bond is/are ___

Watch Video Solution

https://dl.doubtnut.com/l/_oDWBhmTNDpKN
https://dl.doubtnut.com/l/_z3QKyXhRa1WR
https://dl.doubtnut.com/l/_umY0OksvCY8t


4. The atomicity of yellow phosphorous is ____

Watch Video Solution

5. The ratio of number of single and double P—Q bonds

in  is/are ____

Watch Video Solution

P4O10

6. Graham's salt is one of the salt of Phosphorous acid

having formula  What is the value of n.

Watch Video Solution

(NaPO3)n

https://dl.doubtnut.com/l/_umY0OksvCY8t
https://dl.doubtnut.com/l/_tRUeLNjlBf4c
https://dl.doubtnut.com/l/_oTdOLGgbI9YW
https://dl.doubtnut.com/l/_A1x0zogu2ieT


PRACTICE SHEET - 3 (Single or more than one option

questions)

1. Very pure nitrogen can be obtained by the thermal

decomposition of ........

A. Barium azide

B. Sodium azide

C. Either a or b

D. None

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_A1x0zogu2ieT
https://dl.doubtnut.com/l/_fQNNZA8KFU5K


2. Following are neutral oxides except .......

A. 

B. NO

C. 

D. CO

Answer: C

Watch Video Solution

N2O

NO2

3.  oxidises  to ........Fe+ 3 NH2

https://dl.doubtnut.com/l/_fQNNZA8KFU5K
https://dl.doubtnut.com/l/_DP6j2vtSUXRv
https://dl.doubtnut.com/l/_i1XeZFnahR2n


A. 

B. 

C. 

D. NO

Answer: B

Watch Video Solution

NO2

N2O

N2

4. All of the following are bases except ......

A. 

B. 

C. 

N2H4

NH3OH

NH3

https://dl.doubtnut.com/l/_i1XeZFnahR2n
https://dl.doubtnut.com/l/_i71kN7Fo1w3X


D. 

Answer: D

Watch Video Solution

N3H

5.  reduces  to ......

A. 

B. 

C. 

D. 

Answer: A

Fe+ 2 NH2OH

NH3

N3H

N2 _ (4)

N2

https://dl.doubtnut.com/l/_i71kN7Fo1w3X
https://dl.doubtnut.com/l/_oW1uC6i4V6lt


Watch Video Solution

6.  is formed when ........

A. Moist Fe reacts with NO

B.  reacts with conc.  in presece of HCl

C. Cold dil  reacts with Zn

D. All the above

Answer: D

Watch Video Solution

N2O

Sn2 + HNO3

HNO3

7. Select incorrect statments about N2O4

https://dl.doubtnut.com/l/_oW1uC6i4V6lt
https://dl.doubtnut.com/l/_J4qbwH73MXfj
https://dl.doubtnut.com/l/_BldmPlzm8cUu


A. It self ionises as 

B. Subtance containing  is said to be acid and

that containing is said to be base

C. It is para magnetic

D. It is dimer of 

Answer: C

Watch Video Solution

NO+ , NO−
3

NO+

NO−
3

NO2

8. NaOCl reacts with  to produce.......

A. 

B. 

NH3

NH2OH

NH2. NH2

https://dl.doubtnut.com/l/_BldmPlzm8cUu
https://dl.doubtnut.com/l/_VIvoAIHk7dnq


C. 

D. 

Answer: B

Watch Video Solution

N2

NO

9. Calcium cyanamide on treatment with steam produes

A. 

B. 

C. 

D. 

NH3 + CaO

NH3 + CaHCO3

NH3 + CaCO3

NH3 + Ca(OH)2

https://dl.doubtnut.com/l/_VIvoAIHk7dnq
https://dl.doubtnut.com/l/_qD3Ia7bFNfzI


Answer: C

Watch Video Solution

10. Which blue liquid is obtained on reacting equi molar

amounts of two gases at  ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−30∘C

N2O

N2O3

N2O4

N2O5

https://dl.doubtnut.com/l/_qD3Ia7bFNfzI
https://dl.doubtnut.com/l/_wyxL18zl7Ufn


11.  show similarity in ..........

A. Hybridisation of central atoms

B. Oxidising nature

C. Reducing nature

D. Molar mass

Answer: B::C::D

Watch Video Solution

N2H4 and H2O2

12.  reduces  ......N2H2 IO−
3 /H +

https://dl.doubtnut.com/l/_wyxL18zl7Ufn
https://dl.doubtnut.com/l/_c8TEcDb6cl5G
https://dl.doubtnut.com/l/_4yz0H3I7m3mS


A. to 

B. with  as an intermediate by violet colour in 

 layer

C. to 

D. indicated by blue colour with starch

Answer: A::B::D

Watch Video Solution

I +

I2

CCl4

I −

13. Which of the following metals continue to burn in

nitrogen gas

A. Li

https://dl.doubtnut.com/l/_4yz0H3I7m3mS
https://dl.doubtnut.com/l/_2Ea4DgsUXoir


B. Mg

C. Zn

D. Pb

Answer: A::B

Watch Video Solution

14. Which of the following acids is/are produced by

dissolving  in water ?

A. 

B. 

C. 

NO2

HNO2

HNO4

HNO3

https://dl.doubtnut.com/l/_2Ea4DgsUXoir
https://dl.doubtnut.com/l/_FWxeOZnzdq5X


D. 

Answer: A::C::D

Watch Video Solution

H2N2O2

15. Which of the following statements (s) is/ are true

........

A.  can be prepared by heating 

B.  is red brown gas

C.  is paramagnetic

D.  is a basic gas

NO2 Pb(NO3)2

NO2

NO2

NO2

https://dl.doubtnut.com/l/_FWxeOZnzdq5X
https://dl.doubtnut.com/l/_Uq1zSqf32j9D


PRACTICE SHEET - 3 (Linked Comprehension type

questions)

Answer: A::B::C

Watch Video Solution

1. Which of the following gases gives a brown

precipitate with  solution

A. 

B. 

C. 

D. 

FeSO4

N2

NO

NO2

N2O4

https://dl.doubtnut.com/l/_Uq1zSqf32j9D
https://dl.doubtnut.com/l/_quSWHV7Q6VnA


Answer: B

Watch Video Solution

2. An oragne colour solid (A) on heating gives a

colourless gas (B) and colourless vapours (C) which on

condensatio gives a colourless neutral liquid and a

green residuce (D) which is a metal oxide. Gas - B gives

a pungent odoured gas when reacts with hydrogen

catalytically. Neutral liquid above formed converts

anhydrous copper sulphate to blue 

Compound 'A' in the above paragraph is .......

A. K2Cr2O7

https://dl.doubtnut.com/l/_quSWHV7Q6VnA
https://dl.doubtnut.com/l/_TKFqjgq5zx8s


B. 

C. 

D. 

Answer: C

Watch Video Solution

NH4Cl

(NH4)2Cr2O7

K2CrO4

3. An oragne colour solid (A) on heating gives a

colourless gas (B) and colourless vapours (C) which on

condensatio gives a colourless neutral liquid and a

green residuce (D) which is a metal oxide. Gas - B gives

a pungent odoured gas when reacts with hydrogen

catalytically. Neutral liquid above formed converts

https://dl.doubtnut.com/l/_TKFqjgq5zx8s
https://dl.doubtnut.com/l/_d9PkT6gSHiOv


anhydrous copper sulphate to blue 

Gas 'B' in the above paragraph is ........

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2

O2

N2

Cl2

4. An oragne colour solid (A) on heating gives a

colourless gas (B) and colourless vapours (C) which on

https://dl.doubtnut.com/l/_d9PkT6gSHiOv
https://dl.doubtnut.com/l/_nipCvDTZ6Y7k


condensatio gives a colourless neutral liquid and a

green residuce (D) which is a metal oxide. Gas - B gives

a pungent odoured gas when reacts with hydrogen

catalytically. Neutral liquid above formed converts

anhydrous copper sulphate to blue 

Neutral liquid formed in the reaction is ........

A. 

B. 

C. 

D. None

Answer: B

Watch Video Solution

NH4OH

H2O

H2O2

https://dl.doubtnut.com/l/_nipCvDTZ6Y7k


5. Trimethyl amine oxide and trimethyl phosphine oxide

can be represented as 

 

Answer the following questions based on these 

Select the correct structure

A. 

B. 

C. Both a & b

D. None

Answer: B

Watch Video Solution

(CH3)3N
+ − O− , (CH3)3P

+ − O−

(CH3)3N = O

(CH3)3P = O

https://dl.doubtnut.com/l/_YSuoWAvE1EAK


6. Trimethyl amine oxide and trimethyl phosphine oxide

can be represented as 

 

Answer the following questions based on these 

Triphenyl Phosphine oxide can be respectively by two

canonical forms but trimethyl amine oxide can't be 

  

It is due to

A. Phosphorus accepts charge density from oxygen

and accomodates it in its vacant d - orbitals

B. Nitrogen does not posses d - orbitals and thus

can't form the  - bonded structure

(CH3)3N
+ − O− , (CH3)3P

+ − O−

(CH3)3P
+ − O− ↔ (CH3)3P = O

π

https://dl.doubtnut.com/l/_JZRao7R2TB04


C. Both (a) and (b)

D. None forms canonical forms

Answer: C

Watch Video Solution

7. Trimethyl amine oxide and trimethyl phosphine oxide

can be represented as 

 

Answer the following questions based on these 

Trimethyl Phosphine oxide is stable because

A. It has two resonating structures

(CH3)3N
+ − O− , (CH3)3P

+ − O−

https://dl.doubtnut.com/l/_JZRao7R2TB04
https://dl.doubtnut.com/l/_I29UIBh4QBR9


PRACTICE SHEET - 3 (Match the following questions)

B. P = O has high dissociation energy

C. Both (a) and (b)

D. None

Answer: C

Watch Video Solution

1. 

Watch Video Solution

https://dl.doubtnut.com/l/_I29UIBh4QBR9
https://dl.doubtnut.com/l/_u6fBiycVKoU4


PRACTICE SHEET - 3 (Integer answer type Questions)

Watch Video Solution

2. 

Watch Video Solution

1.  is reduced to  What is the change in

oxidation number of nitrogen .......

Watch Video Solution

NO−
3

NH +
4

https://dl.doubtnut.com/l/_u6fBiycVKoU4
https://dl.doubtnut.com/l/_b4lFaMfagW4Q
https://dl.doubtnut.com/l/_8pMtCkAsfr0k


2. Total number of. bonds in  is ......

Watch Video Solution

NH3

3. In the oxidation of  equivalent weight

of  would be........

Watch Video Solution

N2H4   to  N2

N2H4

4. How many of the following are coloured

Watch Video Solution

N2O, NO, NO2, O2, N2O3

https://dl.doubtnut.com/l/_8pMtCkAsfr0k
https://dl.doubtnut.com/l/_eOTLy30EN2Ln
https://dl.doubtnut.com/l/_jabYDK21elf2
https://dl.doubtnut.com/l/_6fBU712NSOxS


PRACTICE SHEET - 4 (Single or more than one option

questions)

5. How many of the following species have reducing

properties ? 

Watch Video Solution

NH3, PH3, H3PO2, H3PO3, H3PO4, LiA/H4, BH3

6. How many of the following compounds gives

nitrogen on heating 

Watch Video Solution

NH4Cl, (NH)2Cr2O7, Ba3N2, NH4OH, NH4NO3

https://dl.doubtnut.com/l/_lTwSrpHNHjR5
https://dl.doubtnut.com/l/_WMNHq496fLLa


1. In  (tetrahedral)

A. Each P is joined to four P

B. Each p is jonied to three P

C. Each P is joined to two P

D. None

Answer: B

Watch Video Solution

P4

2. Which forms  multiple bonds with itself and

with C and O ?

pπ − pπ

https://dl.doubtnut.com/l/_SZX5YLN9n5aR
https://dl.doubtnut.com/l/_dWQ9XCJjnSeS


A. P, As

B. N, As

C. N,P

D. N

Answer: D

Watch Video Solution

3. Glacial phosphoric acid is

A. 

B. 

C. 

HPO3

H3PO3

H3PO4

https://dl.doubtnut.com/l/_dWQ9XCJjnSeS
https://dl.doubtnut.com/l/_MuuDodLikl6p


D. 

Answer: C

Watch Video Solution

H4P2O7

4. The number of P-O-P bonds in cyclic meta phospharic

acid is

A. 0

B. 2

C. 3

D. 4

https://dl.doubtnut.com/l/_MuuDodLikl6p
https://dl.doubtnut.com/l/_UAruyBMQSAJN


Answer: C

Watch Video Solution

5. The solid  exists as ........

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PCl5

PCl3

PCl
+
4

PCl−
6

PCl
+
4 and PCl−

6

https://dl.doubtnut.com/l/_UAruyBMQSAJN
https://dl.doubtnut.com/l/_UihymW4sJY68


6. which of the following acid will be formed only when

 ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P2O3

HPO3

H4P2O7

H3PO4

H3PO3

7. Red and white Phosphorous will di�er but not in

https://dl.doubtnut.com/l/_ivpmiUII2I2b
https://dl.doubtnut.com/l/_kd0nxNbg2CEE


A. smell

B. Solubility in 

C. Exhibiting phosphorescence

D. Reactions with 

Answer: D

Watch Video Solution

CHCl3

HNO3

8. Compound used in safety matches is

A. 

B. 

C. 

P4S3

P4

P2O5

https://dl.doubtnut.com/l/_kd0nxNbg2CEE
https://dl.doubtnut.com/l/_cGpKwVq38qge


D. 

Answer: A

Watch Video Solution

PCl3

9. In the preparation of red Phosphorous from within

Phosphorous

A.  is used as catalyst

B. White phosphorus is treated in electric furnace

C. A little iodine is used as catalyst

D. The gas  is released

MnO2

P4

https://dl.doubtnut.com/l/_cGpKwVq38qge
https://dl.doubtnut.com/l/_4Yfr1Ml8wf3K


Answer: C

Watch Video Solution

10. Compounds A undergoes hydrolysis to produce a

colourless gas with rotten �sh smell. The gas gives a

vortex ring. The gas is

A. 

B. 

C. 

D. 

Answer: A

PH3

P2O3

P2O5

P2S3

https://dl.doubtnut.com/l/_4Yfr1Ml8wf3K
https://dl.doubtnut.com/l/_zdiYySpALULC


Watch Video Solution

11. When a mixture of

 was added to a

solution containing  a while precipitate (A) was

formed When A was heated strongly reduce B was

obtained A & B are .....

A. 

B. 

C. 

D. MgO

Answer: A::B

NH4CI, NH4OH and Na2HPO4

Mg− 2

Mg(NH4)PO4

Mg2P2O7

Mg3(PO4)2

https://dl.doubtnut.com/l/_zdiYySpALULC
https://dl.doubtnut.com/l/_AG4l9pVIOuxX


Watch Video Solution

12. Pyrophosorus acid 

A. Cantain P + 5 oxidation state

B. Is a dibasic acid

C. Is oxidizing in nature

D. Contains one P - O - P bond

Answer: B::D

Watch Video Solution

H2P2O5

https://dl.doubtnut.com/l/_AG4l9pVIOuxX
https://dl.doubtnut.com/l/_dmkt5M6oYcKq


13. Identify the correct statments (s)

A. Red  is less valatile than white 

B. Red  is more volatile than white 

C. Reducing properties of hypo phosphorous acid is

due to O H bonds

D. Hypo phospharic acid has one P - O - P bond

Answer: A

Watch Video Solution

P4 P4

P4 P4

https://dl.doubtnut.com/l/_4hcnrCNoCJJy


14. When  reacts with conc. , the gas

evolved is

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

PbO2 HNO3

NO2

O2

N2

N2O

15. Which of the followng equations is not correctly

written

https://dl.doubtnut.com/l/_QVYXFyw2YVMG
https://dl.doubtnut.com/l/_1EeL3HJXwVvW


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P4 + 2OHNO3 → 4H3PO4 + 20NO2 + 4H2O

C + 4NHO3 → H2CO3 + 4NO2 + H2O

I2 + 10HNO3 → 2HIO3 + 10NO2 + 4H2O

S8 + 6HNO3 → H2SO4 + 6NO2 + H2O
1

8

16.  can be obtained by heating

A. White phosphorus with not concentrated alkali

B. Heating phosphinic acid 

C. Heating phosphinic acid 

PH3

(H3PO2)

(H3PO3)

https://dl.doubtnut.com/l/_1EeL3HJXwVvW
https://dl.doubtnut.com/l/_sbhS8xo5TAhB


PRACTICE SHEET - 4 (Linked Comprehension type

questions)

D. Heating phosphinic acid 

Answer: A::B::C

Watch Video Solution

(H3PO4)

1.   

  

 

Compound 'A' is

A. 

PCl5 + SO2 → A + B

A
3H2O
−−→ HCl

C
Red hot
−−−−→ D + H2O

POCl3

https://dl.doubtnut.com/l/_sbhS8xo5TAhB
https://dl.doubtnut.com/l/_0p5R8A22Cwyp


B. 

C. 

D. 

Answer: A

Watch Video Solution

PCl3

SOCl2

SO2Cl2

2.   

  

 

Compound 'D' is

A. 

PCl5 + SO2 → A + B

A
3H2O
−−→ HCl

C
Red hot
−−−−→ D + H2O

P4O6

https://dl.doubtnut.com/l/_0p5R8A22Cwyp
https://dl.doubtnut.com/l/_T5MuZU1UU3jv


B. 

C. 

D. 

Answer: A

Watch Video Solution

P4O10

SO3

SO2

3.   

  

 

Compound 'B' is

A. 

PCl5 + SO2 → A + B

A
3H2O
−−→ HCl

C
Red hot
−−−−→ D + H2O

SOCl2

https://dl.doubtnut.com/l/_T5MuZU1UU3jv
https://dl.doubtnut.com/l/_CTlwI16Hd1TH


B. 

C. 

D. 

Answer: A

Watch Video Solution

SO2Cl2

POCl3

PCl3

4.  in solid state exists as  and

also in some solvents it undergoes dissociation as

  

The geometry and hydridisation of  is

A. Tetrahderal , 

PCl5 PCl
+
4 and PCl−

6

2PCl5 ⇔ PCl
+
4 + PCl−

6

PCl
+
4

sp3

https://dl.doubtnut.com/l/_CTlwI16Hd1TH
https://dl.doubtnut.com/l/_3JBnDukSsu06


B. Octahedral , 

C. Linear , sp

D. Angular , 

Answer: A

Watch Video Solution

sp3d2

sp2

5.  in solid state exists as  and

also in some solvents it undergoes dissociation as

  

The geometry and hybridisation of  is

A. Octahedral , 

PCl5 PCl
+
4 and PCl−

6

2PCl5 ⇔ PCl
+
4 + PCl−

6

PCl−
6

sp3

https://dl.doubtnut.com/l/_3JBnDukSsu06
https://dl.doubtnut.com/l/_SPDle2yHN5xD


B. Octahedral , 

C. Trigonal bipyramid 

D. See - saw , 

Answer: A

Watch Video Solution

sp3d2

sp3d

sp3d

6.  in solid state exists as  and

also in some solvents it undergoes dissociation as

  

Which statement is wrong ?

A. In  all the P - Cl bonds are of same enery

PCl5 PCl
+
4 and PCl−

6

2PCl5 ⇔ PCl
+
4 + PCl−

6

PCl5

https://dl.doubtnut.com/l/_SPDle2yHN5xD
https://dl.doubtnut.com/l/_g5LSgv6BaLOA


PRACTICE SHEET - 4 (Match the following questions)

B.  has no lone pair of electrons

C.  is a white solid wich melts at 

D.  gives white fumes with moist air

Answer: A

Watch Video Solution

PCl5

PCl5 1670C

PCl5

1. 

Watch Video Solution

https://dl.doubtnut.com/l/_g5LSgv6BaLOA
https://dl.doubtnut.com/l/_FQ8Tlij5GW1Y


PRACTICE SHEET - 4 (Integer answer type Questions)

2. 

Watch Video Solution

1. The number of  atoms in cyclotrimeta phosphoric

acid is

Watch Video Solution

sp3

https://dl.doubtnut.com/l/_FQ8Tlij5GW1Y
https://dl.doubtnut.com/l/_CFfZLNElpRAE
https://dl.doubtnut.com/l/_YSzNK3nFiinI
https://dl.doubtnut.com/l/_O7ZnyawT83yW


2. Number of dative bonds (including ) in 

molecule is

Watch Video Solution

σ&π P4O10

3. The number of oxygen atoms bonded to one

phosphorous atom in  is

Watch Video Solution

P4O10

4. The number of bridge hydrogen atoms in diborane is

Watch Video Solution

https://dl.doubtnut.com/l/_O7ZnyawT83yW
https://dl.doubtnut.com/l/_GA8VLlg8WPfO
https://dl.doubtnut.com/l/_hGub2ZKUsecF
https://dl.doubtnut.com/l/_braC3VYsKAQT


PRACTICE SHEET - 5 (Single or more than one option

questions)

5. The total number of lone pairs in  molecule is

Watch Video Solution

PH3

6. The di�erence between bond order in  is

Watch Video Solution

N2&P4

1. The pair that act as both oxidising and as well as

reducing agent is

https://dl.doubtnut.com/l/_braC3VYsKAQT
https://dl.doubtnut.com/l/_gglzdZGCGhB5
https://dl.doubtnut.com/l/_QkfdIPcVNVHM


A. 

B. 

C. 

D. 

Watch Video Solution

NO, SO3

NO2, H2O2

CO2, SO2

N2O5, O3

2. The ease of hydrolysis of trichlorides of group - 15

elements decrease in the order

A. 

B. 

NCl3 > PCl3 > AsCl3 > SbCl3 > BiCl3

PCl3 > NCl3 > AsCl3 > SbCl3 > BiCl3

https://dl.doubtnut.com/l/_QkfdIPcVNVHM
https://dl.doubtnut.com/l/_BueqwQ4xSl4J


C. 

D. 

Watch Video Solution

AsCl3 > NH3 > PCl3 > SbCl3 > BiCl3

SbCl3 > BiCl3 > PCl3 > NCl3 > AsCl3

3. The bond angle in  is less than bond angle in 

 This is due to

A. Enhanced replulsions due to the presence of

double bond in 

B. Increases bond pair - bond pair repulsions due to

multiple bond

PH3

PF3

PF3

https://dl.doubtnut.com/l/_BueqwQ4xSl4J
https://dl.doubtnut.com/l/_HfOhsX00OhHJ


C. Both (a) and (b)

D. Displacement of electron could in P - F bond

towards F in 

Watch Video Solution

PF3

4. In  the N - N distance corresponds to

A. N = N

B. 

C. N - N

D. Intermediate of N = N and 

N2O,

N ≡ N

N ≡ N

https://dl.doubtnut.com/l/_HfOhsX00OhHJ
https://dl.doubtnut.com/l/_s8fLXiwvuX22


Watch Video Solution

5. Arragne the following in decreasing order of bond

angle

A. 

B. 

C. 

D. 

Watch Video Solution

NH3 > NF3 > PF3 > PH3

NF3 > PF3 > NH3 > PH3

NF3 > NH3 > PH3 > PF3

PH3 > PF3 > NH3 > NF3

https://dl.doubtnut.com/l/_s8fLXiwvuX22
https://dl.doubtnut.com/l/_tYCX4ykZXLXg
https://dl.doubtnut.com/l/_vFRs3OMuQIvY


6. The kinetically more stable alltrope of phosphorus is

A. Red phosphorus

B. Black phosphorus

C. Yellow phosphorus

D. White phosphorus

Watch Video Solution

7. A colourless salt gives a white ppt (soluble in

ammonium acetate) and a brown coloured pungent gas

on reaction with conc. . The salt isH2SO4

https://dl.doubtnut.com/l/_vFRs3OMuQIvY
https://dl.doubtnut.com/l/_OuPXkyBiNHwd


A. 

B. 

C. 

D. 

Watch Video Solution

Ba(NO3)2

Pb(NO3)2

NaNO3

NH4NO3

8.  on hydrolysis form a white ppt of

A. Bismuth acid

B. Bismuth oxychloride

C. Bismuth pentachloride

BiCl3

https://dl.doubtnut.com/l/_OuPXkyBiNHwd
https://dl.doubtnut.com/l/_0G1A7PZvxjfO


D. Bismuth hydride

Watch Video Solution

9. Choose the correct increasing order of acidic

strength

A. 

B. 

C. 

D. 

Watch Video Solution

NO < CO2 < NO2 < N2O5

N2O5 > NO2 > CO2 > NO

CO2 < NO < NO2 < N2O5

N2O5 > NO2 > NO > CO2

https://dl.doubtnut.com/l/_0G1A7PZvxjfO
https://dl.doubtnut.com/l/_VA6Mov25mqJ3


Watch Video Solution

10. Consider the ionic reaction :

 Identify the

incorrect statement (s)

A. The above equilibrium mixture can act as bu�er

(both acids have nearly the same dissociation

constant )

B.  are conjugate acid - base

pairs

C. The P - O bond order in  is 1.75

D. The C - O bond order in  is 1.50

HC2O
−
4 + PO

− 3
4 ⇔ HPO

2 −
4 + C2O

2 −
4

HC2O
−
4 and C2O

− 2
4

PO
− 3
4

C2O
2 −
4

https://dl.doubtnut.com/l/_VA6Mov25mqJ3
https://dl.doubtnut.com/l/_1INC7GayG4ef


PRACTICE SHEET - 5 (Single or more than one option

questions) s

Watch Video Solution

1. Which of the following statements are correct

A. If an electron is removed by oxidising NO, the

nitrosonium ion  is formed

B. In  , the bond order is 3.0

C. The N - O bond length contracts form 1.15A in NO

to 1.06A in 

NO+

NO+

NO+

https://dl.doubtnut.com/l/_1INC7GayG4ef
https://dl.doubtnut.com/l/_oRPS0UyrhKKl


D. NO is coloured gas the presence of an unpaired

electron

Watch Video Solution

2. In the dark brown ring test for nitrate ions

A. The colour is due to charge transfer spectra

B. Iron has a formal +2 oxidation state and NO has

no charge

C. The complex species can be represencted as

[Fe1(H2O)5NO+ ]SO4

https://dl.doubtnut.com/l/_oRPS0UyrhKKl
https://dl.doubtnut.com/l/_7j49JYJZLm9U


D. The dark brown colour is due to  evolved in

the reaction

Watch Video Solution

NO2

3. Select the correct statement(s) about the compound

A. It has  bonds

B. Nitrogen - oxygen bond length is higher than in

nitric oxide (NO)

C. It is a diamagnetic specis

NO[BF4]

5σ and 2π

https://dl.doubtnut.com/l/_7j49JYJZLm9U
https://dl.doubtnut.com/l/_ngfiS4x981Co


D. B - F bond length in this compound in lower than

in 

Watch Video Solution

BF3

4. Select the correct statement(s)

A.  is a weaker base than 

B.  is more stable than 

C.  has a higher melting print than 

D.  is more covalent than 

W h Vid S l i

NF3 NH3

NO+ O+
2

AlCl3 AlF3

SbCl3 SbCl5

https://dl.doubtnut.com/l/_ngfiS4x981Co
https://dl.doubtnut.com/l/_rG5z8yRldZWA


Watch Video Solution

5. Which of the following order (s) is/are correct ?

A.  (reducing

character)

B.  (oxidation state

on nitrogen)

C.  (basicity)

D.  (reducing

character)

Watch Video Solution

H3PO4 > H3PO3 > H3PO2

N2O < NO < N2O3 < N2O5

NH3 > PH3 > AsH3 > SbH3

SbH3 > NH3 > AsH3 > PH3

https://dl.doubtnut.com/l/_rG5z8yRldZWA
https://dl.doubtnut.com/l/_BQplAx90e6V6


6. Which of the following metal nitrates give oxides on

heating ?

A. Li

B. Mg

C. Na

D. Ca

Watch Video Solution

https://dl.doubtnut.com/l/_BQplAx90e6V6
https://dl.doubtnut.com/l/_sexA7PtXN9zp


7. When white phosphorus was boiled with caustic soda

a gas 'A' and the compound 'B' were obtained . When

the gas 'A' was passed through  solution , a

block precipitate 'C' was obtained 

The product 'C'

A. 

B. 

C. 

D. 

Watch Video Solution

AgNO3

+3, − 3

−3, − 3

−3, + 1

+3, + 5

https://dl.doubtnut.com/l/_CN93dO3Gwg7M
https://dl.doubtnut.com/l/_YMyPiPSyyEr0


8. When white phosphorus was boiled with caustic soda

a gas 'A' and the compound 'B' were obtained . When

the gas 'A' was passed through  solution , a

block precipitate 'C' was obtained 

The correct statement regarding the reaction between

white phosphorus and caustic soda is .....

A. The reaction can occur when red phosphorus is

used instead of white phosphorus

B. It is a disroportionation reaction

C. The reaction can not occur when KOH is used

instead of NaOH

AgNO3

https://dl.doubtnut.com/l/_YMyPiPSyyEr0


D. The phosphorus get reduced from 0 to -1 in the

reaction

Watch Video Solution

9. When white phosphorus was boiled with caustic soda

a gas 'A' and the compound 'B' were obtained . When

the gas 'A' was passed through  solution , a

block precipitate 'C' was obtained 

The product 'C'

A. 

B. 

AgNO3

Ag3P

Ag3PO4

https://dl.doubtnut.com/l/_YMyPiPSyyEr0
https://dl.doubtnut.com/l/_0g4Iean7fzid


C. 

D. Ag

Watch Video Solution

Ag4P2O7

10. An inorganic compound (A) that is transparant like

glass is strong reducing agent . It hydrolyzes in water

to give white turbidity (B). Aqueous solution of A gives

white ppt (C) with NaOH which is soluble in excess

NaOH. (A)reduces  and give chromyl chloride test  

'A' will be

A. 

I2

Sn(OH)2

https://dl.doubtnut.com/l/_0g4Iean7fzid
https://dl.doubtnut.com/l/_niIbanZktVQN


B. 

C. 

D. 

Watch Video Solution

SnCl2

SnCl4

Na2CO3

11. An inorganic compound (A) that is transparant like

glass is strong reducing agent . It hydrolyzes in water

to give white turbidity (B). Aqueous solution of A gives

white ppt (C) with NaOH which is soluble in excess

NaOH. (A)reduces  and give chromyl chloride test  

'A' will be

I2

https://dl.doubtnut.com/l/_niIbanZktVQN
https://dl.doubtnut.com/l/_wSvofOuwLPgB


A. 

B. 

C. 

D. 

Watch Video Solution

Sn(OH)Cl, 2

SnCl4.1

Na2SnO2, 2

SnCl2, 2

12. An inorganic compound (A) that is transparant like

glass is strong reducing agent . It hydrolyzes in water

to give white turbidity (B). Aqueous solution of A gives

white ppt (C) with NaOH which is soluble in excess

NaOH. (A)reduces  and give chromyl chloride test  I2

https://dl.doubtnut.com/l/_wSvofOuwLPgB
https://dl.doubtnut.com/l/_Z4qJYbRCIqDk


A reduces  and gives chromyl chloride test. What will

be the product ?

A. 

B. 

C. 

D. None

Watch Video Solution

I2

SnCl2 + HI

SnCl4 + HI

Sn(OH)Cl + HCl

https://dl.doubtnut.com/l/_Z4qJYbRCIqDk

